UNITED STATES BANKRUPTCY COURT WESTERN DISTRICT OF NORTH CAROLINA CHARLOTTE DIVISION

In re:	Chapter 11
ALDRICH PUMP LLC, et al.,1	Case No. 20-30608 (JCW)
Debtors.	(Jointly Administered)

SUMMARY OF THE TENTH INTERIM FEE APPLICATION OF ROBINSON & COLE LLP, AS COUNSEL TO THE OFFICIAL COMMITTEE OF ASBESTOS PERSONAL INJURY CLAIMANTS, FOR PAYMENT OF INTERIM COMPENSATION AND REIMBURSEMENT OF EXPENSES INCURRED FOR THE PERIOD JUNE 1, 2023 THROUGH SEPTEMBER 30, 2023

Name of applicant:	Robinson & Cole LLP
Authorized to provide professional services to:	The Official Committee of Asbestos Personal Injury Claimants
Date retention approved:	August 7, 2020, effective as of July 6, 2020
Period for which compensation and reimbursement is sought:	June 1, 2023 – September 30, 2023
Amount of compensation sought as actual, reasonable, and necessary:	\$1,537,286.25
Amount of expense reimbursement sought as actual, reasonable, and necessary:	\$45,764.28
Amount of compensation paid as actual, reasonable and necessary for applicable period:	\$965,278.38
Amount of expenses reimbursed as actual, reasonable and necessary for applicable period:	\$32,028.74
Total amount of unpaid fees and expenses sought for applicable period:	\$585,743.41

This is a(n): ___ Monthly _X Interim ___ Final Application.

¹ The Debtors are the following entities (the last four digits of the Debtors' taxpayer identification numbers follow in parentheses): Aldrich Pump LLC (2290) and Murray Boiler LLC (0679). The Debtors' address is 800-E Beaty Street, Davidson, North Carolina 28036.

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 2 of 136

This is the Tenth Interim Fee Application for Compensation and Reimbursement of Expenses.

Prior Monthly Fee Statements submitted for this Interim Period:

Date Submitted	Month Covered	Fees	Expenses
10/5/2023	June 2023	\$522,137.75	\$9,734.23
11/3/2023	July 2023	\$602,607.50	\$22,294.51
1/8/2024	Aug. 2023	\$290,154.50	\$9,145.98
1/8/2024	Sept. 2023	\$122,386.50	\$4,589.56
	TOTAL:	\$1,537,286.25	\$45,764.28

No objections were received to any monthly fee statements.

SUMMARY OF ROBINSON & COLE LLP FEES BY PROFESSIONAL JUNE 1, 2023 THROUGH SEPTEMBER 30, 2023

The Robinson & Cole attorneys and paralegals that rendered professional services in the case during the fee period are:

Name of Professional	Position of the Professional and Year of Obtaining License to Practice	Hourly Billing Rate	Hours Billed in Fee Period	Total Billed
Michael C. Barber	Associate Joined Firm in 2022 Member of PA Bar Since 2022	\$450.00	108.9	\$49,005.00
P. M. Batsie	Paralegal Joined Firm in 2021	\$280.00	0.5	\$140.00
Andrea L. Ciabattoni	Paralegal Joined Firm in 2019	\$300.00	20.8	\$6,240.00
Joseph L. Clasen	Partner Joined Firm in 1989 Member of NY Bar Since 1981	\$1,310.00	1.5	\$1,965.00
Jonathan L. Cordani	Partner Joined Firm in 2019 Member of the CT Bar Since 2011	\$640.00	11.1	\$7,104.00
J. J. DeForrest	Paralegal Joined Firm in 2022	\$280.00	6.3	\$1,764.00
Andrew A. DePeau	Associate Joined Firm in 2015 Member of CT Bar Since 2014	\$710.00	51.6	\$36,636.00
	Travel Rate	\$355.00	11.9	\$4,224.50
Thomas J. Donlon	Counsel Joined firm in 2000 Member of the MI Bar Since 1978	\$740.00	75.8	\$56,092.00
	Travel Rate	\$370.00	9.0	\$3,330.00
Katherine S. Dute	Associate Joined Firm in 2021 Member of DE Bar Since 2021	\$550.00	49.8	\$27,390.00

Michael R. Enright	Partner Joined Firm in 1992 Member of IL Bar Since 1981	\$1,250.00	133.4	\$166,750.00
,	Travel Rate	\$625.00	8.7	\$5,437.50
Katherine M. Fix	Counsel Joined Firm in 2019 Member of PA Bar Since 2012	\$875.00	52.5	\$45,937.50
,	Travel Rate	\$437.50	9.1	\$3,981.25
Earl M. Forte	Partner Joined Firm in 2021 Member of CA Bar Since 1986	\$1,250.00	68.2	\$85,250.00
Julia F. Fountain	Associate Joined Firm in 2021 Member of CT Bar Since 2021	\$270.00	45.1	\$12,177.00
Stephen E. Goldman	Partner Joined Firm in 1980 Member of CT Bar Since 1980	\$1,300.00	12.8	\$16,640.00
	Travel Rate	\$650.00	4.0	\$2,600.00
Jeffery T. Hardisty	Paralegal Joined Firm in 2015	\$280.00	2.0	\$560.00
Laurie A. Krepto	Counsel Joined Firm in 2019 Member of PA Bar Since 1995	\$950.00	2.6	\$2,470.00
Rachel Jaffe Mauceri	Counsel Joined Firm in 2021 Member of NJ Bar Since 2002	\$1,075.00	112.5	\$120,937.50
	Travel Rate	\$537.50	11.0	\$5,912.50
Alyssa J. Merkey	Paralegal Joined the Firm in 2022	\$425.00	1.4	\$595.00
Ryan M. Messina	Associate Joined Firm in 2019 Member of PA Bar Since 2021	\$550.00	1.3	\$715.00
Amanda R. Phillips	Partner Joined Firm in 2021 Member of MA Bar Since 2009	\$840.00	20.0	\$16,800.00
Natalie D. Ramsey	Partner Joined Firm in 2019 Member of DE Bar Since 2009	\$1,650.00	144.0	\$237,600.00
	Travel Rate	\$825.00	12.4	\$10,230.00

Liana Shaw	Paralegal Joined the firm in 2019	\$500.00	46.8	\$23,400.00
Annecca H. Smith	Associate Joined Firm in 2020 Member of CT Bar Since 2020	\$550.00	347.8	\$191,290.00
	Travel Rate	\$275.00	32.2	\$8,855.00
Susan R. Wilkins	Paralegal Joined Firm in 2019	\$350.00	257.7	\$90,195.00
Davis L. Wright	Partner Joined Firm in 2019 Member of DE Bar Since 2002	\$1,250.00	227.1	\$283,875.00
	Travel Rate	\$625.00	17.9	\$11,187.50
	Totals		1,917.7	\$1,537,286.25

SUMMARY OF ROBINSON & COLE LLP COMPENSATION BY PROJECT CATEGORY JUNE 1, 2023 THROUGH SEPTEMBER 30, 2023

Project Category	Project Category	Hours in Fee Period	Amount
001	Case Administration and Business Operations	127.1	\$122,005.00
002	Executory Contracts and Unexpired Leases	0.0	\$0.00
003	Automatic Stay	0.0	\$0.00
004	Plan of Reorganization and Disclosure Statement	0.9	\$1,125.00
005	Use, Sale, Lease of Assets	0.0	\$0.00
006	Claims Administration	29.5	\$11,162.50
007	Court Hearings	51.7	\$53,058.00
008	Asbestos Matters	0.0	\$0.00
009	Financing Matters	0.0	\$0.00
010	General Corporate/Real Estate	0.0	\$0.00
011	Reporting	0.0	\$0.00
012	Litigation and Adversary Proceedings	1,468.0	\$1,231,055.00
013	Tax Advice	0.0	\$0.00
014	Employee Matters	0.0	\$0.00
015	Professional Retention and Fee Issues	54.0	\$25,587.50
016	Fee Application Preparation	65.8	\$30,110.00
017	Nonworking Travel	116.2	\$55,758.25
018	Communications to Claimants/Counsel	4.5	\$7,425.00
	Total	1,917.7	\$1,537,286.25

ROBINSON & COLE LLP CUMULATIVE EXPENSE SUMMARY JUNE 1, 2023 THROUGH SEPTEMBER 30, 2023

Expense Category	Total Expenses for Fee Period
Internal Printing (Black & White)	\$126.10
Internal Printing (Color)	\$1.10
Outside Printing	\$7,393.02
Telephone/Conference Services	\$0.00
Transcripts	\$1,181.10
Deposition Transcripts	\$46.20
Experts	\$0.00
Court Fees	\$0.00
Delivery Fees	\$54.23
Local Mileage	\$15.59
Out-of-Town Mileage	\$172.37
Meals	\$1,956.32
Other Professionals	\$0.00
Travel: Air/Rail	\$9,224.52
Travel: Non-Mileage	\$1,170.52
Local Travel: Non-Mileage	\$353.35
Travel: Hotel/Lodging	\$5,464.61
Online Research (Westlaw)	\$442.51
Relativity License Fee	\$17,115.79
Other	\$0.00
Total	\$45,764.28

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 8 of 136

UNITED STATES BANKRUPTCY COURT WESTERN DISTRICT OF NORTH CAROLINA CHARLOTTE DIVISION

In re:	Chapter 11
ALDRICH PUMP LLC, et al.,1	Case No. 20-30608 (JCW)
Debtors.	(Jointly Administered)

TENTH INTERIM FEE APPLICATION OF ROBINSON & COLE LLP, AS COUNSEL TO THE OFFICIAL COMMITTEE OF ASBESTOS PERSONAL INJURY CLAIMANTS, FOR PAYMENT OF INTERIM COMPENSATION AND REIMBURSEMENT OF EXPENSES INCURRED FOR THE PERIOD JUNE 1, 2023 THROUGH SEPTEMBER 30, 2023

Robinson & Cole LLP ("Robinson & Cole"), counsel to the Official Committee of Asbestos Personal Injury Claimants (the "Committee") of Aldrich Pump LLC, *et al.*, (the "Debtors"), hereby submits its tenth interim fee application (the "Tenth Interim Fee Application") for allowance of compensation for professional services rendered and reimbursement of actual and necessary expenses incurred for the period June 1, 2023, through September 30, 2023.

INTRODUCTION

- 1. On June 18, 2020 (the "Petition Date"), the Debtors commenced these proceedings (the "Chapter 11 Case") by filing a voluntary petition for relief under chapter 11 of title 11 of the United States Code, 11 U.S.C. §§ 101 et seq. (the "Bankruptcy Code").
- 2. Pursuant to sections 1107(a) and 1108 of the Bankruptcy Code, the Debtors have continued as debtors-in-possession since the Petition Date. No trustee or examiner has been appointed in the Chapter 11 Case.

¹ The Debtors are the following entities (the last four digits of the Debtors' taxpayer identification numbers follow in parentheses): Aldrich Pump LLC (2290) and Murray Boiler LLC (0679). The Debtors' address is 800-E Beaty Street, Davidson, North Carolina 28036.

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 9 of 136

- 3. On June 30, 2020, the Bankruptcy Administrator moved for the appointment of the Official Committee of Asbestos Personal Injury Claimants in the Debtors' case pursuant section 1102 of the Bankruptcy Code [Dkt. No. 126]. The Bankruptcy Court orally granted the motion at a hearing on July 6, 2020, and entered an order memorializing its ruling on July 7, 2020. *See* [Dkt. No. 147].
- 4. On July 15, 2020, the Court entered the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* [Dkt. No. 171] (the "Interim Fee Order"). Pursuant to the Interim Fee Order, the Court established a procedure for interim compensation and reimbursement of disbursements for professionals appointed in this case. In particular, the Court authorized the service to certain notice parties of monthly fee statements by professionals appointed in this case (including professionals employed by the Committee) and payment by the Debtors of 90% of fees and 100% of expenses, in the absence of an objection made within fourteen (14) days of service of the pertinent fee statement.

RETENTION OF COUNSEL

- 5. The Committee retained Robinson & Cole, along with Caplin & Drysdale, Chartered ("Caplin") and Winston & Strawn LLP ("Winston"), to represent its interests in the Chapter 11 Case. By order dated August 7, 2020 (and amended on August 24, 2020), Robinson & Cole was appointed as co-counsel for the Committee, to perform certain tasks set forth in greater detail in the underlying retention application, effective as of July 6, 2020. *See* [Dkt. Nos. 224, 280].
- 6. As set forth in the Declaration of Natalie D. Ramsey in Support of the Ex Parte Application of the Official Committee of Asbestos Personal Injury Claimants for an Order Authorizing it to Retain and Employ Caplin & Drysdale, Chartered and Robinson & Cole, LLP as

Committee Co-Counsel, Effective as of July 6, 2020 [Dkt. No. 210], Robinson & Cole was engaged to perform the following services:

- a. assisting and advising the Committee in evaluating the Debtors' chapter 11 filing;
- b. assisting and advising the Committee in its discussions with the Debtors, the future claimants' representative, and other parties-in-interest regarding the overall administration of this Chapter 11 Case;
- c. assisting and advising the Committee in its examination and analysis of the conduct of the Debtors' affairs;
- d. analyzing, advising and representing the Committee with regard to any causes of action belonging to the Debtors' estate, including, without limitation, reviewing and investigating pre-petition transactions in which the Debtors and/or its insiders were involved, including coordination with any Special Litigation Counsel hired to represent the Committee;
- e. assisting, advising, and representing the Committee in analyzing and investigating the acts, conduct, assets, liabilities, corporate structure, and financial condition of the Debtors, including, without limitation, the Debtors' financial disclosures and related matters, the Debtors' operations, and any other matters relevant to this case;
- f. reviewing and analyzing pleadings, orders, schedules, and other documents filed and to be filed with this Court by interested parties in this case; advising the Committee as to the necessity, propriety, and impact of the foregoing upon this case; and responding, including consenting or objecting, to pleadings or orders on behalf of the Committee, as appropriate;
- g. assisting the Committee in preparing such applications, motions, memoranda, proposed orders, and other pleadings as may be required in support of positions taken by the Committee, including all trial preparation as may be necessary;
- h. representing the Committee at hearings to be held before this Court and communicating with the Committee regarding the matters heard and the issues raised as well as the decisions and considerations of this Court, including without limitation, any estimation hearing and related hearings;
- i. conferring with the professionals retained by the Debtors, the future claimants' representative, and other parties-in-interest, as well as

- with such other professionals as may be selected and employed by the Committee;
- j. coordinating the receipt and dissemination of information prepared by and received from the Debtors' professionals, as well as such information as may be received from professionals engaged by the future claimants' representative, the Committee, or other parties-ininterest in these cases;
- k. participating in such examinations of the Debtors and other witnesses as may be necessary in connection with this Chapter 11 Case;
- 1. negotiating and formulating any plan of reorganization and section 524(g) personal injury trust for the Debtors that may be proposed in these cases; and
- m. assisting the Committee generally in performing such other services as may be desirable or required for the discharge of the Committee's duties pursuant to section 1103 of the Bankruptcy Code;
- n. performing any other necessary legal services and providing any other necessary legal advice to the Committee in connection with the Chapter 11 Case.

ROBINSON & COLE'S FEE STATEMENTS DURING THE FEE PERIOD

- 7. During the period covered by the Tenth Interim Fee Application (the "Fee Period"), Robinson & Cole provided the Notice Parties with the following monthly fee statements in accordance with the Interim Fee Order and the Guidelines for Compensation (the "Compensation Guidelines") referred to therein:
 - For June 1, 2023 through June 30, 2023 fees of \$522,137.75 and expenses of \$9,734.23 (the "June Monthly Fee Statement"). A copy of the June Monthly Fee Statement is attached hereto as Schedule A-1;
 - For July 1, 2023 through July 31, 2023 fees of \$602,607.50 and expenses of \$22,294.51 (the "July Monthly Fee Statement"). A copy of the July Monthly Fee Statement is attached hereto as Schedule A-2;

- For August 1, 2023 through August 31, 2023 fees of \$290,154.50 and expenses of \$9,145.98 (the "August Monthly Fee Statement"). A copy of the August Monthly Fee Statement is attached hereto as Schedule A-3;
- For September 1, 2023 through September 30, 2023 fees of \$122,386.50 and expenses of \$4,589.56 (the "September Monthly Fee Statement"). A copy of the September Monthly Fee Statement is attached hereto as Schedule A-4.
- 8. In total, Robinson & Cole submitted monthly fee statements during the Fee Period for fees of \$1,537,286.25 and expenses of \$45,764.28. A chart summarizing the monthly statements submitted during this Fee Period is below:

							Total Sought to be Paid
		D ()	D (1	Approved		100/ E	(including
Service	Application	Requested	Requested	Fees	Approved	10% Fee	10%
Date	Period	Fees	Expenses	(90% of Fees)	Expenses	Holdback	Holdback)
10/5/2023	6/1/2023- 6/30/2023	\$522,137.75	\$9,734.23	\$469,923.98	\$9,734.23	\$52,213.77	\$531,871.98
11/3/2023	7/1/2023- 7/31/2023	\$602,607.50	\$22,294.51	\$542,346.75	\$22,294.51	\$60,260.75	\$624,902.01
1/8/2024	8/1/2023- 8/31/2023	\$290,154.50	\$9,145.98	\$261,139.05	\$9,145.98	\$29,015.45	\$299,300.48
1/8/2024	9/1/2023- 9/30/2023	\$122,386.50	\$4,589.56	\$110,147.85	\$4,589.56	\$12,238.65	\$126,976.06
	Total	\$1,537,286.25	\$45,764.28	\$1,383,557.63	\$45,764.28	\$153,728.62	\$1,583,050.53

SUMMARY OF SERVICES

9. The professional services performed by Robinson & Cole were necessary and appropriate to the administration of the Debtors' chapter 11 cases. These services were in the best interests of the Debtors, their estates, and creditors. The compensation requested is commensurate with the complexity and nature of the issues and tasks involved.

PROGRESS OF THE CHAPTER 11 CASE TO DATE

- devoted substantial time to (i) reviewing the Debtors' pleadings and other filings; (ii) preparing for contested hearings on estimation sampling, withdrawal of derivative standing, and motions to dismiss; (iii) attending mediation sessions, both in-person and remotely; (iv) coordinating with cocounsel regarding Committee-initiated litigation; and (v) addressing professional fee issues, including Bates White, FTI, Robinson & Cole, Caplin, Committee professionals Verus and LAS, and the FCR.
- 11. Robinson & Cole has not previously applied for the payment of any fees or reimbursement of any disbursements requested in the Tenth Interim Fee Application, except for monthly fee statements to the Debtors and other required parties consistent with the Interim Fee Order. Robinson & Cole does not hold a retainer in respect of its services as counsel to the Committee.

COMPENSATION BY PROJECT CATEGORY

12. The following is a summary of the activities performed by Robinson & Cole professionals and paraprofessionals during the Fee Period, organized by project billing category.

13. Case Administration (001) - 127.1 hours - \$122,005.00 fees

This category includes time spent by Robinson & Cole for administrative tasks related to the Debtors' cases. Due to the size and complexity of this case, time billed in this category includes coordinating with other professionals retained by the Committee to ensure that all matters to be addressed are done so efficiently and that all filings made to protect the interests of the Committee are timely filed and served. Additional time in this category is attributable to preparation for and participation in calls and in person meetings with the Committee and/or its individual member

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 14 of 136

representatives, participating in periodic calls with the Debtors and the FCR, analyzing papers filed in the case, and preparing and maintaining a case calendar. Due to the ongoing increase in the volume of filings during the Fee Period, time in this category also reflects creation, improvement, and maintenance of administrative and tracking documents.

14. Plan of Reorganization and Disclosure Statement (004) – 0.9 hours – \$1,125.00 fees

Related to work on a plan of reorganization and related disclosure statement. This includes primarily analysis of confirmation orders and plans in tracked cases for purposes of evaluating the proposed plan before the Court. It also includes consideration of plan-related motion practice and affiliated research, as well as ongoing preliminary work related to the potential formulation of a Committee-proposed plan.

15. Claims Administration (006) – 29.5 hours – \$11,162.50 fees

Related to work on various claim related matters, including withdrawal of claims and attention to correspondence from the Debtors to claimants and their counsel regarding proofs of claim.

16. Court Hearings (007) – 51.7 hours – \$53,058.00 fees

This category includes time spent by Robinson & Cole preparing for and attending hearings during the Fee Period. Specifically, the Fee Period included hearings on June 6 and 15, July 17, and August 9 concerning, in part, trust discovery sought by the Debtors, motions to dismiss the cases brought by the Committee and by individual claimants, and the Debtors' motion to withdraw derivative standing.

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 15 of 136

17. Litigation and Adversary Proceedings (012) - 1,468.0 hours - \$1,231,055.00 fees

This category includes time spent by Robinson & Cole professionals including, but not limited to: (i) reviewing and analyzing the recent hearing transcripts; (ii) researching and drafting memoranda on issues relating to anticipated upcoming litigation; (iii) developing, issuing, conferring about, and reviewing discovery; (iv) preparing various litigation pleadings and motions, as described in more detail below; and (v) strategizing and preparing for hearings. Robinson & Cole professionals regularly communicated their findings with the Committee through electronic mail, memoranda, telephonic conferences, and in-person meetings. The motions and pleadings addressed during the Fee Period include but are not limited to the Committee's Motion to Dismiss; a motion to dismiss brought by certain individual claimants; the Debtors' Motion to Withdraw Derivative Standing; and ongoing filings surrounding subpoenas issued by the Debtors to asbestos trusts. During the Fee Period Robinson & Cole also negotiated with the Debtors concerning estimation discovery search terms and privilege assertions; participated in adversary proceeding discovery conferences; continued initial review of estimation discovery produced by the Debtors and personal injury questionnaires submitted by claimants; and attended depositions concerning the trust discovery litigation.

18. Professional Retention and Fee Issues (015) – 54.0 hours – \$25,587.50 fees

This category includes time spent by Robinson & Cole considering fee and retention issues for other retained professionals, including counterparty professionals. The Fee Period included the retention by the Committee of Verus LLC as PIQ Data Administrator.

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 16 of 136

19. Fee Application Preparation (016) – 65.8 hours – \$30,110.00 fees

This category includes time spent by Robinson & Cole dedicated to the preparation of materials related to the filing of monthly fee statements and the eighth and ninth interim fee applications for itself.

20. Non-Working Travel (017) – 116.2 hours – \$55,758.25 fees

This category includes time spent traveling to and from Charlotte for the hearings held before the Court on June 6, June 15, July 14, and August 9. During the Fee Period, this category also includes time spent traveling to and from the mediation held in Washington, DC on July 25.

21. Communications to Claimants/Counsel (018) – 4.5 hour – \$7,425.00 fees

This category includes time spent communicating with Committee members regarding litigation histories and claimant communications with the Debtors.

EXPENSES INCURRED BY ROBINSON & COLE

22. Section 330 of the Bankruptcy Code authorizes "reimbursement for actual, necessary expenses" incurred by the professionals employed in a chapter 11 case. Accordingly, Robinson & Cole seeks reimbursement of actual expenses in the amount of \$45,764.28 it incurred in performing its services during the Fee Period. These reimbursable expenses include, but are not limited to: court fees, external and internal duplicating charges, travel and hotel charges, obtaining transcripts of hearings and the use of on-line and other legal research tools. All expenses reflected herein comply with the Compensation Guidelines. Robinson & Cole submits that the actual expenses incurred in providing professional services during the Fee Period were necessary, reasonable and justified under the circumstances to serve the needs of the Committee in this Chapter 11 Case. In-house copies at Robinson & Cole are charged at \$0.13 per page. To the extent practicable, Robinson & Cole utilized less expensive outside copying services and the

actually billed amount will be listed. Air travel and rail travel is billed at the cost of the ticket at a coach fare.

LEGAL BASIS FOR REQUESTED RELIEF

- 23. Section 331 of the Bankruptcy Code provides for interim compensation of professionals and incorporates the substantive standards of section 330 of the Bankruptcy Code to govern the Court's award of such compensation. Section 330 of the Bankruptcy Code provides that a court may award a professional employed under section 1103 of the Bankruptcy Code "reasonable compensation for actual, necessary services rendered . . . and . . . reimbursement for actual, necessary expenses." 11 U.S.C. § 330(a)(1)(A) and (B).
- 24. Section 330 of the Bankruptcy Code also sets forth the criteria for the award of such compensation and reimbursement:

In determining the amount of reasonable compensation to be awarded to . . . [a] professional person, the court shall consider the nature, the extent, and the value of such services, taking into account all relevant factors, including --

- (A) the time spent on such services;
- (B) the rates charged for such services;
- (C) whether the services were necessary to the administration of, or beneficial at the time at which the service was rendered toward the completion of, a case under this title;
- (D) whether the services were performed within a reasonable amount of time commensurate with the complexity, importance, and nature of the problem, issue, or task addressed;
- (E) with respect to a professional person, whether the person is board certified or otherwise has demonstrated skill and experience in the bankruptcy field; and

(F) whether the compensation is reasonable based on the customary compensation charged by comparably skilled practitioners in cases other than cases under this title.

11 U.S.C. § 330(a)(3)(A)-(F).

- 25. The foregoing professional services performed by Robinson & Cole were appropriate and necessary to the effective administration of the Chapter 11 Case. The services were in the best interests of the Committee. Compensation for the foregoing services as requested is commensurate with the complexity, importance, and nature of the problems, as well as issues or tasks involved. The professional services were performed in an appropriately expeditious and efficient manner. In addition, Robinson & Cole has made every effort to minimize its disbursements in this case. The actual expenses incurred in providing professional services were absolutely necessary, reasonable, and justified under the circumstances to serve the needs of the Committee.
- 26. In accordance with section 504 of the Bankruptcy Code and Fed. R. Bankr. P. 2016(a), no agreement or understanding exists between Robinson & Cole and any other person for the sharing of compensation received or to be received for services rendered in or in connection with this case.
- 27. No agreement or understanding prohibited by 18 U.S.C. § 155 has been or will be made by Robinson & Cole.

THE REQUESTED COMPENSATION SHOULD BE ALLOWED

28. The services for which Robinson & Cole seeks compensation in this Tenth Interim Fee Application were, at the time rendered, necessary for, beneficial to, and in the best interests of, the Committee and the Debtors' estates. The services rendered by Robinson & Cole were consistently performed in a timely manner commensurate with the complexity, importance, and nature of the issues involved. In accordance with the factors enumerated in section 330 of the

Bankruptcy Code, it is respectfully submitted that the amount requested by Robinson & Cole is fair and reasonable given (a) the complexity of this case, (b) the time expended, (c) the nature and extent of the services rendered, (d) the value of such services, and (e) the costs of comparable services other than in a case under this title.

NO PRIOR REQUEST

29. No prior request for the relief sought in this Tenth Interim Fee Application has been made to this or any other court in connection with the Chapter 11 Case apart from the delivery of the monthly fee statements.

RESERVATION OF RIGHTS

30. The Committee expressly reserves all rights with respect to challenging the validity, propriety, jurisdiction, and venue of this Chapter 11 Case, including without limitation seeking to dismiss the Chapter 11 Case pursuant 11 U.S.C. § 1112 and seeking to transfer the Chapter 11 Case pursuant to 28 U.S.C. §§ 1406 and 1408 and 11 U.S.C. § 105.

NOTICE

31. Notice of this Tenth Interim Fee Application has been provided in accordance with the Interim Fee Order. Robinson & Cole submits that no other or further notice need be provided.

CONCLUSION

WHEREFORE, Robinson & Cole respectfully requests that the Court: (i) enter the order attached as <u>Exhibit A</u> granting the Tenth Interim Fee Application and authorizing interim allowance of compensation in the amount of \$1,537,286.25 for professional services rendered on behalf of the Official Committee of Asbestos Personal Injury Claimants of and reimbursement for actual and necessary expenses in the amount of \$45,764.28; (ii) direct payment by the Debtors of

the foregoing amounts less any amount already paid pursuant to the Interim Fee Order; and (iii) grant such other and further relief as the Court deems just and proper.

Dated: February 5, 2024

Charlotte, North Carolina

HAMILTON STEPHENS STEELE + MARTIN, PLLC

/s/ Glenn C. Thompson

Glenn C. Thompson (Bar No. 37221) 525 North Tryon Street, Suite 1400 Charlotte, North Carolina 28202 Telephone: (704) 344-1117

Facsimile: (704) 344-1483 gthompson@lawhssm.com

Local Counsel for the Official Committee of Asbestos Personal Injury Claimants

Natalie D. Ramsey (admitted pro hac vice) Davis Lee Wright (admitted pro hac vice) Robinson & Cole, LLP 1201 N. Market Street, Suite 1406 Wilmington, DE 19801 Tel: (302) 516-1700 Fax: (302) 516-1699

nramsey@rc.com dwright@rc.com

Co-Counsel to the Official Committee of Asbestos Personal Injury Claimants Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 21 of 136

EXHIBIT A

UNITED STATES BANKRUPTCY COURT WESTERN DISTRICT OF NORTH CAROLINA CHARLOTTE DIVISION

In re:	Chapter 11
ALDRICH PUMP LLC, et al.,1	Case No. 20-30608 (JCW)
Debtors.	(Jointly Administered)

ORDER GRANTING THE TENTH INTERIM FEE APPLICATION OF ROBINSON & COLE LLP, AS COUNSEL TO THE OFFICIAL COMMITTEE OF ASBESTOS PERSONAL INJURY CLAIMANTS FOR PAYMENT OF INTERIM COMPENSATION AND REIMBURSEMENT OF EXPENSES INCURRED FOR THE PERIOD JUNE 1, 2023 THROUGH SEPTEMBER 30, 2023

This matter coming before the Court on the *Tenth Interim Fee Application of Robinson* & Cole LLP, as Counsel to the Official Committee of Asbestos Personal Injury Claimants for Payment of Interim Compensation and Reimbursement of Expenses Incurred for the Period June 1, 2023 through September 30, 2023 (the "Tenth Interim Fee Application")² filed by Robinson & Cole LLP ("Robinson & Cole"), counsel to the Official Committee of Asbestos Personal Injury Claimants (the "Committee"); the Court having reviewed the Tenth Interim Fee

¹ The Debtors are the following entities (the last four digits of the Debtors' taxpayer identification numbers follow in parentheses): Aldrich Pump LLC (2290) and Murray Boiler LLC (0679). The Debtors' address is 800-E Beaty Street, Davidson, North Carolina 28036.

² Capitalized terms used herein and not otherwise defined shall have the meanings ascribed to them in the Tenth Interim Fee Application.

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 23 of 136

Application; the Court having found that: (a) the Court has jurisdiction over this matter pursuant to 28 U.S.C. § 157 and 1334; (b) this is a core proceeding pursuant to 28 U.S.C. § 157(b); (c) notice of the Tenth Interim Fee Application was sufficient pursuant to Local Rule 2002-1(g) and the *Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses of Retained Professionals* [Dkt. No. 171] (the "Interim Fee Order") and no other or further notice is required; (d) the compensation requested in the Tenth Interim Fee Application is reasonable and for actual and necessary services rendered by Robinson & Cole on behalf of the Committee during the period of June 1, 2023 through September 30, 2023 (the "Fee Period"); (e) the expenses for which reimbursement is sought in the Tenth Interim Fee Application are actual and necessary expenses incurred by Robinson & Cole during the Fee Period on behalf of the Committee; and (f) the Tenth Interim Fee Application fully complies with the Interim Fee Order, the Bankruptcy Code, the Bankruptcy Rules, the Local Rules, and the Guidelines; and the Court having determined that the legal and factual bases set forth in the Tenth Interim Fee Application establish just cause for the relief granted herein:

- 1. The Tenth Interim Fee Application is GRANTED.
- 2. Robinson & Cole is awarded, on an interim basis, compensation for professional services rendered during the Fee Period in the amount of \$1,537,286.25 and reimbursement for actual and necessary expenses incurred by Robinson & Cole during the Fee Period in the amount of \$45,764.28.
- 3. The Debtors are authorized and directed to pay Robinson & Cole promptly the fees and expenses approved in this Order to the extent such amounts have not been paid previously by the Debtors.

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 24 of 136

- 4. The Debtors and Robinson & Cole are authorized and empowered to take all actions necessary to implement the relief granted in this Order.
- 5. This Court shall retain exclusive jurisdiction over any and all matters arising from or related to the implementation, enforcement, or interpretation of this Order.

This Order has been signed electronically. The Judge's signature and court's seal appear at the top of the Order.

United States Bankruptcy Court

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 25 of 136

SCHEDULE A-1

OFFICIAL COMMITTEE OF ASBESTOS CLAIMANTS ATTN: ALLAN TANANBAUM, ESQ. ALDRICH PUMP LLC AND MURRAY BOILER LLC 800-E BEATY STREET DAVIDSON, NC 28036 October 5, 2023 Invoice 50430814

File # 39062.0001 Aldrich Bankruptcy

Invoice Summary and Remittance Advice

Invoice attached and payable upon receipt

Please return this page or include invoice number with your remittance to:

Mailing Instructions
ROBINSON & COLE LLP
280 Trumbull Street
Hartford, CT 06103-3597

TEL # (860) 275-8200 FAX # (860) 275-8299 FEDERAL ID # 06-0512640 Wire Transfer Instructions
Bank of America

185 Asylum Street Hartford, CT 06103

SWIFT Code – BOFAUS3N ABA Wire Routing # - 026009593 ACH/EFT Routing # - 011900571 Checking Account # - 000000154546

SUMMARY FOR INVOICE 50430814

Fees for Legal Services \$ 522,137.75

Disbursements 9,734.23

Total Current Billing For this Matter \$ 531,871.98

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 27 of 136

Robinson+Cole

Page: 2
Date: October 5, 2023
Invoice #: 50430814

For Services through June 30, 2023

File # 39062.0001 Aldrich Bankruptcy

Summary	/ of	Services	b)	/ Task Code

Task Code	Description	<u>Hours</u>	<u>Amount</u>
OCAC001	CASE ADMIN & BUSNSS OPER-OFFCL CMTEE ASBESTOS CRDTRS	17.7	11,365.00
OCAC006	CLAIMS ADMINISTRATION	7.0	2,450.00
OCAC007	COURT HEARINGS	22.1	22,943.50
OCAC012	LITIGATION & ADVERSARY PROCEEDINGS	581.6	468,368.00
OCAC015	PROFESSIONAL RETENTION & FEE ISSUES	4.2	1,827.50
OCAC016	FEE APPLICATION PREPARATION	8.0	5,145.00
OCAC017	NONWORKING TRAVEL	18.0	9,543.75
OCAC018	COMMUNICATIONS TO CLAIMANTS/COUNSEL	0.3	495.00

658.9 \$522,137.75

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 28 of 136

Robinson+Cole

Page: 3
Date: October 5, 2023
Invoice #: 50430814

625.00

1250.00

8.9

81.2

658.9

5,562.50

101,500.00

\$522,137.75

Summary of Services by Profe	essional			
Name	Title	Hours	Rate	Amount
M. C. Barber	Associate	61.0	450.00	27,450.00
P. M. Batsie	Paralegal	0.4	280.00	112.00
A. L. Ciabattoni	Paralegal	3.5	300.00	1,050.00
J. L. Clasen	Partner	0.4	1310.00	524.00
J. L. Cordani	Partner	9.6	640.00	6,144.00
J. J. DeForrest	Paralegal	2.9	280.00	812.00
A. A. DePeau	Partner	43.9	710.00	31,169.00
T. J. Donlon	Counsel	22.9	740.00	16,946.00
K. S. Dute	Associate	30.2	550.00	16,610.00
M. R. Enright	Partner	68.4	1250.00	85,500.00
K. M. Fix	Counsel	9.1	437.50	3,981.25
K. M. Fix	Counsel	40.0	875.00	35,000.00
J. F. Fountain	Associate	14.2	270.00	3,834.00
S. E. Goldman	Partner	0.4	1300.00	520.00
J. T. Hardisty	Paralegal	1.1	280.00	308.00
L. A. Krepto	Counsel	0.3	950.00	285.00
R. J. Mauceri	Partner	33.0	1075.00	35,475.00
R. M. Messina	Associate	0.7	550.00	385.00
A. R. Phillips	Partner	19.0	840.00	15,960.00
N. D. Ramsey	Partner	28.7	1650.00	47,355.00
L. Shaw	Paralegal	2.2	500.00	1,100.00
A. H. Smith	Associate	113.2	550.00	62,260.00
S. R. Wilkins	Paralegal	63.7	350.00	22,295.00

Summary of Services by Task Code and Professional

CASE ADMIN & BUSNSS OPER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC001

Partner

Partner

Name_	<u>Title</u>	Hours	Rate	Amount
M. R. Enright	Partner	0.1	1250.00	125.00
R. J. Mauceri	Partner	0.6	1075.00	645.00
N. D. Ramsey	Partner	1.4	1650.00	2,310.00
L. Shaw	Paralegal	0.3	500.00	150.00
A. H. Smith	Associate	0.4	550.00	220.00
S. R. Wilkins	Paralegal	11.9	350.00	4,165.00
D. Wright	Partner	3.0	1250.00	3,750.00
		17.7		\$11,365.00

CLAIMS ADMINISTRATION-OCAC006

Name	<u>Title</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
S. R. Wilkins	Paralegal	7.0	350.00	2,450.00
		7.0		\$2 450 00

D. Wright

D. Wright

Totals

Document Page 29 of 136

Robinson+Cole

Page: 4
Date: October 5, 2023
Invoice #: 50430814

COURT HEARINGS-OCAC007

COURT HEARINGS-OCACOUT					
Name	Title	<u>Hours</u>	Rate	<u>Amount</u>	
A. A. DePeau	Partner	0.6	710.00	426.00	
K. M. Fix	Counsel	5.3	875.00	4,637.50	
N. D. Ramsey	Partner	4.4	1650.00	7,260.00	
A. H. Smith	Associate	5.9	550.00	3,245.00	
D. Wright	Partner	5.9	1250.00	7,375.00	
g				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
		22.1	 -	\$22,943.50	
LITIGATION & ADVERSARY PROCEE	DINGS-OCAC012			, , , , , , , , , , , , , , , , , , , ,	
<u>Name</u>	<u>Title</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>	
M. C. Barber	Associate	61.0	450.00	27,450.00	
P. M. Batsie	Paralegal	0.4	280.00	112.00	
J. L. Clasen	Partner	0.4	1310.00	524.00	
J. L. Cordani	Partner	9.6	640.00	6,144.00	
J. J. DeForrest	Paralegal	2.9	280.00	812.00	
A. A. DePeau	Partner	43.3	710.00	30,743.00	
T. J. Donlon	Counsel	22.9	740.00	16,946.00	
K. S. Dute	Associate	30.2	550.00	16,610.00	
M. R. Enright	Partner	68.3	1250.00	85,375.00	
K. M. Fix	Counsel	34.7	875.00	30,362.50	
J. F. Fountain	Associate	14.2	270.00	3,834.00	
S. E. Goldman	Partner	0.4	1300.00	520.00	
J. T. Hardisty	Paralegal	1.1	280.00	308.00	
L. A. Krepto	Counsel	0.3	950.00	285.00	
R. J. Mauceri	Partner	32.3	1075.00	34,722.50	
R. M. Messina	Associate	0.7	550.00	385.00	
A. R. Phillips	Partner	19.0	840.00	15,960.00	
N. D. Ramsey	Partner	22.6	1650.00	37,290.00	
A. H. Smith	Associate	106.9	550.00	58,795.00	
S. R. Wilkins	Paralegal	40.9	350.00	14,315.00	
D. Wright	Partner	69.5	1250.00	86,875.00	
		E01 G		\$460.260.00	
PROFESSIONAL RETENTION & FEE ISSUES-OCAC015 581.6 \$468,368.00					
PROFESSIONAL RETENTION & FEET	930E9-0CAC013				
Name	Title	<u>Hours</u>	Rate	<u>Amount</u>	
R. J. Mauceri	Partner	0.1	1075.00	107.50	
L. Shaw	Paralegal	1.9	500.00	950.00	
S. R. Wilkins	Paralegal	2.2	350.00	770.00	
-	- 3				

4.2

\$1,827.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 30 of 136

Robinson+Cole

Page: 5
Date: October 5, 2023
Invoice #: 50430814

FEE APPLICATION PREPARATION-OCAC016

Name A. L. Ciabat S. R. Wilkins D. Wright		<u>Title</u> Paralegal Paralegal Partner	Hours 3.5 1.7 2.8	Rate 300.00 350.00 1250.00	Amount 1,050.00 595.00 3,500.00
NONWORK	ING TRAVEL-OCA	AC017	8.0		\$5,145.00
Name K. M. Fix D. Wright		<u>Title</u> Counsel Partner	<u>Hours</u> 9.1 8.9	Rate 437.50 625.00	Amount 3,981.25 5,562.50
COMMUNIC	CATIONS TO CLAI	MANTS/COUNSEL-OCAC018	18.0		\$9,543.75
Name N. D. Rams	еу	<u>Title</u> Partner	Hours 0.3	<u>Rate</u> 1650.00	<u>Amount</u> 495.00
			0.3		\$495.00
			658.9	- -	\$522,137.75
<u>Date</u>	Timekeeper	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
CASE ADM	IN & BUSNSS OPI	ER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC	0001		
06/02/23	N. D. Ramsey	Committee communications re case strategy matters	0.4	1,650.00	660.00
06/02/23 06/05/23	S. R. Wilkins S. R. Wilkins	Update case files (.5); update calendars (.1) Update calendars (multiple additions) (.9); update case files (.3); email A. Smith (multiple) re same (.2); email A. Ciabattoni re hearing information (.1)	0.6 1.5	350.00 350.00	210.00 525.00
06/06/23	S. R. Wilkins	Update calendars	0.1	350.00	35.00
06/08/23	M. R. Enright	Confer with D. Wright re Committee membership	0.1	1,250.00	125.00
06/09/23 06/09/23	A. H. Smith D. Wright	Email D. Wright re Committee constituency Respond to BA request re Committee membership (.2); draft email to Committee re decision in tracked bankruptcy case (.1)	0.2 0.3	550.00 1,250.00	110.00 375.00
06/12/23 06/12/23	R. J. Mauceri A. H. Smith	Confer with D. Wright re case status Email M. Eveland re Verus retention and	0.4 0.2	1,075.00 550.00	430.00 110.00
00/12/23	A. H. SIIIIII	case protective orders	∪.∠	550.00	110.00
06/12/23	S. R. Wilkins	Update case files (.2); review amended CMO re estimation (.3); email A. Smith re same (.1); coordinate assembly of litigation	2.9	350.00	1,015.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 31 of 136

Robinson+Cole

Page: 6
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	Timekeeper	<u>Description</u> files (2.2); email A. Phillips and L. Krepto re	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
		same (.1)			
06/12/23	D. Wright	Confer with R. Mauceri re case status	0.4	1,250.00	500.00
06/13/23	S. R. Wilkins	Update case files (.3); email A. Smith re protective orders (.1); email A. Merkey re same (.1); coordinate assembly of litigation files (.3); update calendars (.1); email A. Smith re same (.1)	1.0	350.00	350.00
06/13/23	D. Wright	Participate in counsel team call	0.1	1,250.00	125.00
06/14/23	S. R. Wilkins	Review protective orders (.1); send follow- up emails re same (.2)	0.3	350.00	105.00
06/15/23	S. R. Wilkins	Update calendars	0.1	350.00	35.00
06/16/23	S. R. Wilkins	Update calendars (.1); assemble litigation files (.5)	0.6	350.00	210.00
06/20/23	D. Wright	Participate in counsel team strategy call	0.2	1,250.00	250.00
06/21/23	S. R. Wilkins	Assemble litigation files (.4); coordinate printing and delivery re same (.2); update case files (.1)	0.7	350.00	245.00
06/21/23	D. Wright	Participate in counsel team strategy call	0.1	1,250.00	125.00
06/22/23	S. R. Wilkins	Update case files (.3); email E. Gillen (multiple) re same (.2)	0.5	350.00	175.00
06/23/23	S. R. Wilkins	Email A. Smith re protective orders (2x) (.2); email J. Fountain re same (.1); update case files (.1)	0.4	350.00	140.00
06/26/23	S. R. Wilkins	Update calendars (.2); assemble litigation files (1.3); coordinate printing and delivery of same (.4)	1.9	350.00	665.00
06/27/23	L. Shaw	Update case files	0.3	500.00	150.00
06/27/23	S. R. Wilkins	Update calendars (.1); email A. Ciabattoni re vendor communication (.1)	0.2	350.00	70.00
06/27/23	D. Wright	Participate in counsel strategy call	0.2	1,250.00	250.00
06/28/23	S. R. Wilkins	Update calendars (.2); update case files (.3)	0.5	350.00	175.00
06/28/23	D. Wright	Confer with K. Maclay and T. Phillips re mediation	0.5	1,250.00	625.00
06/29/23	R. J. Mauceri	Confer with D. Wright re case status	0.2	1,075.00	215.00
06/29/23	N. D. Ramsey	Confer with K. Maclay, T. Phillips, M. Shepard, B. Cooney and D. Wright re mediation	1.0	1,650.00	1,650.00
06/29/23	S. R. Wilkins	Update calendars (.3); update case files (.2); email J. Fountain re same (.1)	0.6	350.00	210.00
06/29/23	D. Wright	Confer with K. Maclay, T. Phillips, M. Shepard, B. Cooney and N. Ramsey re mediation (1.0); confer with R. Mauceri re case status (.2)	1.2	1,250.00	1,500.00
			17.7		\$11,365.00

Boston | Hartford | New York | Washington, DC | Providence | Miami | Stamford | Wilmington | Philadelphia | Los Angeles | Albany | rc.com

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Document Page 32 of 136



Page: 7
Date: October 5, 2023
Invoice #: 50430814

Date CLAIMS AD	<u>Timekeeper</u> OMINISTRATION-OC	Description CAC006	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/22/23	S. R. Wilkins	Emails with E. Gillen re POC	0.2	350.00	70.00
06/23/23	S. R. Wilkins	communications from Debtors Exchange emails with E. Gillen re POC communications (.2); email A. Smith (2x) re same (.2); review and summarize same (1.7)	2.1	350.00	735.00
06/24/23	S. R. Wilkins	Review and summarize proofs of claim (3.3); draft summary re same (.3); email A. Smith re same (.1)	3.7	350.00	1,295.00
06/26/23	S. R. Wilkins	Coordinate assembly of POC emails and documents (.4); email D. Wright and A.	0.7	350.00	245.00
06/28/23	S. R. Wilkins	Smith (multiple) re same (.3) Circulate PIQ/POC documents (.1); email E. Gillen re same (.1); email A. Smith re same (.1)	0.3	350.00	105.00
			7.0		\$2,450.00
COURT HE	ARINGS-OCAC007				
06/06/23 06/06/23 06/06/23 06/06/23 06/15/23 06/15/23	K. M. Fix N. D. Ramsey A. H. Smith D. Wright A. A. DePeau A. H. Smith D. Wright	Attend hearing Attend hearing telephonically (partial) Attend hearing telephonically Participate in omnibus hearing Attend hearing telephonically Attend hearing telephonically Attend hearing telephonically	5.3 4.4 5.3 5.3 0.6 0.6	875.00 1,650.00 550.00 1,250.00 710.00 550.00 1,250.00	4,637.50 7,260.00 2,915.00 6,625.00 426.00 330.00 750.00
			22.1		\$22,943.50
LITIGATION	N & ADVERSARY PI	ROCEEDINGS-OCAC012			
06/01/23	M. C. Barber	Review relevant materials re motion to dismiss binder (3.8); draft update to memoranda re same (1.7); confer with S. Wilkins re same (.4)	5.9	450.00	2,655.00
06/01/23 06/01/23	A. A. DePeau M. R. Enright	Review opposition brief to motion to dismiss Confer with N. Ramsey, D. Wright and R. Mauceri re Debtors' response to Maune Raichle motion to dismiss (.2); review with N. Ramsey, R. Mauceri re Committee member inquiry (.3)	0.6 0.5	710.00 1,250.00	426.00 625.00
06/01/23	R. J. Mauceri	Confer with N. Ramsey, M. Enright, D. Wright re Debtors' response to Maune Raichle motion to dismiss (.2); review with N. Ramsey, M. Enright re Committee	0.5	1,075.00	537.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Document Page 33 of 136

Robinson+Cole

Page: 8
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	Timekeeper	Description	<u>Hours</u>	<u>Rate</u>	Amount
<u>Date</u>	<u>типексерег</u>	member inquiry (.3)	110013	itato	<u>/ unount</u>
06/01/23	N. D. Ramsey	Confer with M. Enright, D. Wright and R. Mauceri re Debtors' response to Maune Raichle motion to dismiss (.2); review with M. Enright, R. Mauceri re Committee member inquiry (.3)	0.5	1,650.00	825.00
06/01/23	A. H. Smith	Review and analyze filings related to motion to dismiss	0.3	550.00	165.00
06/01/23	S. R. Wilkins	Update index re motion to dismiss hearing materials binder (.4); email M. Barber re same (.1); confer with M. Barber re same (.4); email A. Smith re same (.1); assemble hearing materials re Claimants' motion to dismiss (2.4); coordinate printing and delivery of same (.7); email N. Ramsey re same (.1); email R. Mauceri re same (.1); email A. Ciabattoni re same (.1); email L. Krepto re documents related to the motions to dismiss (.1)	4.5	350.00	1,575.00
06/01/23	D. Wright	Confer with M. Enright, N. Ramsey and R. Mauceri re Debtors' response to Maune Raichle motion to dismiss (.2); review response (.9); review Erens declaration in support (.8); begin review of Tananbaum declaration in support (.4)	2.3	1,250.00	2,875.00
06/02/23	M. C. Barber	Compile additional supporting materials re motion to dismiss binder (.3);analyze same (1.0); draft memorandum summarizing same (.9)	2.2	450.00	990.00
06/02/23	A. A. DePeau	Confer with N. Ramsey, D. Wright, M. Enright, R. Mauceri, A. Phillips, A. Smith, and S. Wilkins re case strategy (.4); review motion to dismiss briefing (2.9)	3.3	710.00	2,343.00
06/02/23	T. J. Donlon	Review email from D. Wright re Debtors' objection (.1); review/analyze Debtors objection (1.3); review N. Ramsey comment (.1) and respond (.7); review N. Ramsey email (.1); review Committee comments (.1)	2.1	740.00	1,554.00
06/02/23	K. S. Dute	Draft specific section re objection to motion to dismiss	1.2	550.00	660.00
06/02/23	M. R. Enright	Review Debtors' response to Maune motion to dismiss (1.2); confer with N. Ramsey, D. Wright, R. Mauceri, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4); review T. Donlon's notes re response (.1); review FCR's response (.8); review A. Tananbaum declaration (.3); review emails from TCC member firms re same (.2)	3.0	1,250.00	3,750.00
06/02/23	K. M. Fix	Review hearing agenda (.2); review materials for upcoming hearing (.4)	0.6	875.00	525.00

Document Page 34 of 136



Page: 9
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u> 06/02/23 06/02/23	Timekeeper L. A. Krepto R. J. Mauceri	Description Review CMO and send to A. Sackett Confer with N. Ramsey, D. Wright, M. Enright, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4); confer with D. Wright (2x) re potential pleading (.6); draft same (1.2); review Debtors' and FCR's responses to Maune motion to dismiss (2.7); review D. Wright, N. Ramsey, T. Donlon, M. Enright correspondence re same (.4)	Hours 0.2 5.3	<u>Rate</u> 950.00 1,075.00	Amount 190.00 5,697.50
06/02/23	A. R. Phillips	Analyze Claimants' motion to dismiss and objection (3.6); confer with N. Ramsey, D. Wright, M. Enright, R. Mauceri, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4)	4.0	840.00	3,360.00
06/02/23	N. D. Ramsey	Confer with D. Wright, M. Enright, R. Mauceri, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4); confer with K. Maclay re same (1.3); review and analyze Debtors' and FCR's response to Claimant motion to dismiss (3.2)	4.9	1,650.00	8,085.00
06/02/23	A. H. Smith	Email N. Ramsey and D. Wright re trust discovery rehearing filings and argument (.2); review case record re same (.9); confer with N. Ramsey, D. Wright, M. Enright, R. Mauceri, A. Phillips, A. DePeau, and S. Wilkins re case strategy (.4)	1.5	550.00	825.00
06/02/23	S. R. Wilkins	Coordinate hearing materials deliveries (.4); email N. Ramsey and R. Mauceri re same (.1); email D. Wright re strategy meeting (.1); confer with N. Ramsey, D. Wright, M. Enright, R. Mauceri, A. Phillips, A. DePeau, and A. Smith re case strategy (.4); email team re same (.1); draft notes re same (.3); email A. Smith re same (.1); prepare materials for June 6 hearing (1.9); email team re same (.1); email D. Wright re same (.1)	3.6	350.00	1,260.00
06/02/23	D. Wright	Confer with N. Ramsey, M. Enright, R. Mauceri, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4); review and analyze Debtors' and FCR's responses to Claimant motion to dismiss (3.2); confer with R. Mauceri re potential filings (.6); draft proposed litigation statement re Claimant motions to dismiss (1.3); confer with T. Phillips re same (.6); continue review of Tananbaum declaration (1.6); prepare for upcoming hearing (.8); research issues raised in Debtors' objection (.9)	9.2	1,250.00	11,500.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 35 of 136

Robinson+Cole

Page: 10
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	Timekeeper	Description	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/03/23	M. C. Barber	Research certain cases cited in claimant	7.6	450.00	3,420.00
		motion to dismiss briefing (4.3); draft			
00/00/00		multiple memoranda sumarizing cases (3.3)			40= 00
06/03/23	N. D. Ramsey	Email correspondence with A. Smith, D.	0.3	1,650.00	495.00
		Wright and S. Wilkins re factual record for motion to dismiss			
06/03/23	A. H. Smith	Correspondence (multiple) with S. Wilkins	0.2	550.00	110.00
00/00/20	7 t. 11. Olillar	re motion to dismiss factual record	0.2	000.00	110.00
06/03/23	S. R. Wilkins	Hearing preparation (3.8); multiple	4.9	350.00	1,715.00
		correspondence with N. Ramsey, D. Wright,			
		and A. Smith re factual record for motion to			
		dismiss (.3); multiple communications with			
		A. Smith re same (.4); email RC team			
		(multiple) re hearing preparation (.2); email			
		M. Barber and A. Smith re same (.1); email			
06/03/23	D. Wright	D. Wright re same (.1) Email correspondence with A. Smith, N.	8.5	1,250.00	10,625.00
00/03/23	D. Wright	Ramsey and S. Wilkins re factual record for	0.5	1,230.00	10,023.00
		motion to dismiss (.3); review prior			
		testimony in preparation for hearing (3.4);			
		communicate with K. Guerke re Debtors			
		plan and FCR's support agreement (.3);			
		review prior slide deck and determine			
		applicability to upcoming hearing (.4);			
		review motion for rehearing briefing in			
		preparation for hearing (2.9); draft			
06/04/23	M. C. Barber	Committee statement re same (1.2) Compile additional related materials re	3.6	450.00	1,620.00
00/04/23	IVI. C. Daibei	motion to dismiss binder (.6); analyze same	3.0	450.00	1,020.00
		(3.0)			
06/04/23	S. R. Wilkins	Prepare hearing materials	0.5	350.00	175.00
06/05/23	M. C. Barber	Research cases cited in motion to dismiss	4.9	450.00	2,205.00
		briefing (1.2); draft multiple additional			
		memoranda re same (3.7)			
06/05/23	J. L. Cordani	Confer with D. Wright, M. Enright, R.	0.4	640.00	256.00
		Mauceri, S. Goldman, A. DePeau, A.			
		Phillips, A. Smith, and S. Wilkins re case			
06/05/23	A. A. DePeau	strategy Confor with D. Wright, M. Enright, P.	2.1	710.00	1,491.00
06/05/25	A. A. Dereau	Confer with D. Wright, M. Enright, R. Mauceri, J. Cordani, S. Goldman, A.	۷.۱	7 10.00	1,491.00
		Phillips, A. Smith, and S. Wilkins re case			
		strategy (.4); continue reviewing Debtors'			
		motion to dismiss and supporting materials			
		(1.7)			
06/05/23	T. J. Donlon	Email to R. Mauceri re reply brief (.1);	0.4	740.00	296.00
		review response (.1); review A. Smith			
00/05/00	K 0 D :	comment and reply (.2)	^ -	550.00	4 405 66
06/05/23	K. S. Dute	Confer with A. Smith re motion insert (.2);	2.7	550.00	1,485.00
		draft same (2.5)			

Document Page 36 of 136

Robinson+Cole

Page: 11
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u> 06/05/23	Timekeeper M. R. Enright	Description Review case materials re factual record for motion to dismiss (1.5); email to RC team re same (.3); confer with D. Wright re research issue re estimation and issue raised in FCR's response to MTD (.4); emails with R. Mauceri, N. Ramsey and D. Wright re same (.4); confer with D. Wright, R. Mauceri, J. Cordani, S. Goldman, A. DePeau, A. Phillips, A. Smith, and S. Wilkins re case strategy (.4); review of prior draft of potential litigation-related motion (.3); review emails from ACC member representatives and N. Ramsey re same (.3); review of prior research results re estimation proceedings	Hours 4.8	<u>Rate</u> 1,250.00	<u>Amount</u> 6,000.00
06/05/23	K. M. Fix	(1.0); email R. Messina re same (.2); Confer with J. Wehner and D. Wright re hearing strategy (.4); review materials for hearing (2.4); confer with D. Wright re same (.4); review materials re recent depositions (1.3)	4.5	875.00	3,937.50
06/05/23	S. E. Goldman	Confer with D. Wright, M. Enright, R. Mauceri, J. Cordani, A. DePeau, A. Phillips, A. Smith, and S. Wilkins re case strategy	0.4	1,300.00	520.00
06/05/23	R. J. Mauceri	Emails with T. Donlon, A. Smith re reply brief (.2); confer (multiple) with A. Smith re litigation motion (.3); review M. Enright email re arguments in Debtors' objection to Maune motion (.2); analyze FCR Maune arguments re Committee's motion to dismiss (1.4); emails with M. Enright, N. Ramsey, D. Wright re same (.4); confer with D. Wright, M. Enright, S. Goldman, J. Cordani, A. DePeau, A. Phillips, A. Smith, and S. Wilkins re case strategy (.4);	2.9	1,075.00	3,117.50
06/05/23	A. R. Phillips	Continue analysis of Claimants' motion to dismiss and objection (1.2); emails from T. Donlon and N. Ramsay re same (.2); confer with D. Wright, M. Enright, R. Mauceri, J. Cordani, S. Goldman, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4); review case management order (.1)	1.9	840.00	1,596.00
06/05/23	N. D. Ramsey	Email correspondence with M. Enright re motion to dismiss briefing (.2); review caselaw re same (1.7); confer with K. Maclay re proposed Committee litigation	2.2	1,650.00	3,630.00
06/05/23	A. H. Smith	strategy (.3) Revise litigation motion (2.1); confer (multiple) with R. Mauceri re same (.3); review and analyze case record re MTD filings (3.4); confer with K. Dute re motion	6.4	550.00	3,520.00

Document Page 37 of 136

Robinson+Cole

Page: 12
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u> insert (.2); confer with D. Wright, M. Enright, A. Phillips, R. Mauceri, J. Cordani, S.	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/05/23	S. R. Wilkins	Goldman, A. DePeau, and S. Wilkins re case strategy (.4) Confer with D. Wright, M. Enright, R. Mauceri, J. Cordani, S. Goldman, A. DePeau, A. Phillips, and A. Smith re case strategy (.4); draft notes re same (.2); email A. Smith re same (.1); research re historical	0.9	350.00	315.00
06/05/23	D. Wright	cases (.1); email K. Dute re same (.1) Confer with M. Enright, R. Mauceri, J. Cordani, S. Goldman, A. DePeau, A. Phillips, A. Smith, and S. Wilkins re case strategy (.4); confer with K. Fix re same (.4); confer with M. Enright re research issue re estimation and issue raised in FCR's response to MTD (.4); review research re potential litigation-related motion practice (1.4); emails with R. Mauceri, N. Ramsey and M. Enright re same (.4); confer with J. Wehner and K. Fix re hearing strategy (.4)	3.4	1,250.00	4,250.00
06/06/23	M. C. Barber	Analyze additional supporting materials re motion to dismiss binder (3.5); draft multiple memoranda re same (3.1)	6.6	450.00	2,970.00
06/06/23	K. S. Dute	Attend hearing telephonically in tracked case (2.1); draft summary re same for upcoming motion (2.4)	4.5	550.00	2,475.00
06/06/23	M. R. Enright	Further research re impact of estimation on later proceedings (.5); follow up with R. Messina re same (.1); review presentation from sampling hearing (.2)	8.0	1,250.00	1,000.00
06/06/23	K. M. Fix	Confer with D. Wright re hearing preparation (.8); confer with D. Wright, J. Wehner, R. Cox, J. Rickards Koski, and G. Thompson re hearing (.5); confer with G. Thompson re document review (.2); confer with D. Wright, J. Wehner, and J. Rickards Koski post hearing (.3)	1.8	875.00	1,575.00
06/06/23	N. D. Ramsey	Confer with D. Wright post-hearing re	0.2	1,650.00	330.00
06/06/23 06/06/23 06/06/23	A. H. Smith S. R. Wilkins D. Wright	hearing outcome Revise hearing analysis notes Update hearing chart Prepare for hearing with K. Fix (.8); confer with K. Fix, G. Thompson, R. Cox, J. Wehner, and J. Rickards Koski re hearing (.5); confer with K. Fix, J. Wehner, and J. Rickards Koski post hearing (.3); confer with N. Ramsey post-hearing re hearing outcome (.2)	1.5 0.2 1.8	550.00 350.00 1,250.00	825.00 70.00 2,250.00

Document

Page 38 of 136

Robinson+Cole

Page: 13
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u> 06/07/23	<u>Timekeeper</u> M. C. Barber	<u>Description</u> Compile additional documents re motion to dismiss binder (.3); analyze same (3.1); draft memorandum re same (1.4)	Hours 4.8	<u>Rate</u> 450.00	<u>Amount</u> 2,160.00
06/07/23 06/07/23	K. S. Dute M. R. Enright	Draft certain section of motion to dismiss Review estimated-related memorandum from E. Forte (.2); emails to D. Wright and to R. Messina re same (.2); review additional memorandum re same (.1); email M. Kenny and R. Messina re same (.1); review supplemental disclosures re potential motion (.2)	5.8 0.8	550.00 1,250.00	3,190.00 1,000.00
06/07/23	D. Wright	Review memorandum re specific topic to reply in support of motion to dismiss (.8); review cases cited in memorandum (.9)	1.7	1,250.00	2,125.00
06/08/23	M. C. Barber	Research and analyze certain cases cited in motion to dismiss briefing (4.0); draft multiple memoranda re same (3.6)	7.6	450.00	3,420.00
06/08/23	P. M. Batsie	Assist case team with document review and production	0.4	280.00	112.00
06/08/23	K. S. Dute	Order transcript of tracked case re upcoming motion	0.1	550.00	55.00
06/08/23	K. M. Fix	Confer with D. Wright re research assignment for motion to dismiss (.6); review email from M. Barber re support materials for motion to dismiss (.1); review draft materials re same (3.7); review insert re motion to dismiss (.5)	4.9	875.00	4,287.50
06/08/23	R. J. Mauceri	Review supplemental disclosure (.2); correspondence with A. Smith, D. Wright, M. Enright re same (.3)	0.5	1,075.00	537.50
06/08/23	R. M. Messina	Confer with A. Smith re memorandum re estimation	0.3	550.00	165.00
06/08/23	N. D. Ramsey	Email communications with Debtor re amended estimation CMO (.2) and estimation production (.2)	0.4	1,650.00	660.00
06/08/23	A. H. Smith	Analyze case materials re motion to dismiss (5.4); confer with R. Messina re estimation memorandum (.3); emails with S. Wilkins re production (.3); email D. Wright, M. Enright, and R. Mauceri re supplemental disclosures (.3)	6.3	550.00	3,465.00
06/08/23	S. R. Wilkins	Coordinate download and filing of production (.4); email A. Smith (multiple) re same (.3); review same (.1); update production chart (.5); order transcript in tracked case (.1); circulate same (.1); email K. Dute re same (.1); email M. Barber re hearing binder (.1)	1.7	350.00	595.00
06/08/23	D. Wright	Review final draft of amended estimation CMO order (.2); review certain documents	4.3	1,250.00	5,375.00

Document

Page 39 of 136

Page: 14 Date: October 5, 2023 Invoice #: 50430814

Robinson+Cole

<u>Date</u>	<u>Timekeeper</u>	Description produced by Debtors (1.9); research specific argument raised by Debtors in objection to Claimant motion to dismiss (.9); analyze same argument as it may apply to Committee motion to dismiss (.4); confer with K. Fix re research assignment for motion to dismiss (.6); review additional	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/09/23	M. C. Barber	disclosures filed by FCR and counsel (.3) Analyze remaining additional documents re motion to dismiss binder (.8); update memoranda re same (.3); draft additional memorandum re same (1.0)	2.1	450.00	945.00
06/09/23 06/09/23	T. J. Donlon R. J. Mauceri	Develop reply arguments Confer with D. Wright re case strategy (.3); review bankruptcy court decision dismissing Aearo (.5); review T. Donlon email re same (.1); review K. Dute summary re same (.3);	1.2 1.2	740.00 1,075.00	888.00 1,290.00
06/09/23	A. R. Phillips	Review summary of case materials re motion to dismiss	0.5	840.00	420.00
06/09/23	N. D. Ramsey	Review Aaero (3M) dismissal decision (.7); confer with D. Wright re same (.2); email correspondence with M. Enright (.1), K. Dute (.3) and T. Donlon (.2) re same; review transcript of prior witness deposition (.3)	1.8	1,650.00	2,970.00
06/09/23	A. H. Smith	Analyze case materials re motion to dismiss (3.6); email N. Ramsey and D. Wright re same (.1); email S. Wilkins re same (.1); analyze caselaw developments (1.1); revise memorandum re same (.8)	5.7	550.00	3,135.00
06/09/23	S. R. Wilkins	Review deposition summary (.2); update chart re same (.1)	0.3	350.00	105.00
06/09/23	D. Wright	Review decision in Aaero dismissal decision (.7); confer with N. Ramsey re same (.2); review research re dismissal of mass tort bankruptcy case (1.0); confer with R. Mauceri re case strategy (.3)	2.2	1,250.00	2,750.00
06/12/23	J. J. DeForrest	Assist legal team with document review and production	0.3	280.00	84.00
06/12/23	K. S. Dute	Confer with A. Smith re motion to dismiss response	0.4	550.00	220.00
06/12/23	M. R. Enright	Confer with R. Mauceri re reply re motion to dismiss (.2); review June 6 hearing transcript (.5)	0.7	1,250.00	875.00
06/12/23	K. M. Fix	Review summary of case materials re motion to dismiss (.9); confer with A. Smith re motion to dismiss issues and hearing material coordination (.7); emails with A. Smith (multiple) re same (.3)	1.9	875.00	1,662.50
06/12/23	J. T. Hardisty	Assist case team with hearing transcript review	0.3	280.00	84.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 40 of 136

Robinson+Cole

Page: 15
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/12/23	R. J. Mauceri	Confer with M. Enright re reply re motion to	0.6	1,075.00	645.00
		dismiss (.2); confer (multiple) with A. Smith			
06/12/23	A. R. Phillips	re same (.4) Review amended case management order	1.1	840.00	924.00
00/12/23	A. N. Fillips	(0.1); review and analyze hearing transcript	1.1	640.00	924.00
		(1.0)			
06/12/23	N. D. Ramsey	Review summary of document production	0.3	1,650.00	495.00
06/12/23	A. H. Smith	Analyze case materials re motion to dismiss	6.7	550.00	3,685.00
		(3.1); review preparation of materials for			
		response re same (1.0); confer with K. Fix			
		re same (.7); confer (multiple) with R. Mauceri re motion to dismiss reply (.4);			
		confer with K. Dute re same (.4); review			
		Debtors' estimation production (.9); draft			
		email memorandum re same (.2)			
06/12/23	S. R. Wilkins	Review PIQ submissions (.2); email A.	1.6	350.00	560.00
		Smith re download and filing of PIQs from			
		Donlin Recano (.1); emails to A. Smith and			
		M. Barber (multiple) re hearing binders (.4);			
		update index re same (.5); review June 6, 2023 hearing transcript (.2); circulate same			
		(.1); update tracking chart re same (.1)			
06/12/23	D. Wright	Review documents identified from Debtors'	3.1	1,250.00	3,875.00
	_	production			
06/13/23	J. J. DeForrest	Assist legal team with document review and	0.6	280.00	168.00
06/13/23	K. S. Dute	production Confer with A. Smith re motion to dismiss	1.0	550.00	EE0 00
00/13/23	K. S. Dule	preparation (.5); confer with K. Fix re same	1.0	550.00	550.00
		(.5)			
06/13/23	M. R. Enright	Monitor hearing in tracked case	4.5	1,250.00	5,625.00
06/13/23	K. M. Fix	Confer with K. Dute re motion to dismiss	0.5	875.00	437.50
00/10/00		preparation			
06/13/23	R. J. Mauceri	Review draft solvent Debtors insert	0.3	1,075.00	322.50
06/13/23	A. H. Smith	Analyze case materials re motion to dismiss (1.8); confer with K. Dute re reply in support	2.3	550.00	1,265.00
		of motion to dismiss (.5)			
06/13/23	S. R. Wilkins	Research re case materials re motion to	0.4	350.00	140.00
		dismiss (.3); email A. Smith re same (.1)			
06/13/23	D. Wright	Review certain identified documents from	1.1	1,250.00	1,375.00
00/44/00	IZ M. Etc.	original production	0.0	075.00	4 005 00
06/14/23	K. M. Fix	Confer with S. Wilkins re hearing materials (.4); confer with A. Smith re motion to	2.2	875.00	1,925.00
		dismiss support materials (.2); review index			
		and certain supporting materials re same			
		(1.6)			
06/14/23	R. J. Mauceri	Correspondence with A. Smith, D. Wright re	0.3	1,075.00	322.50
00/44/00	N. D. D	PIQ review coordination		4.050.00	0.040.00
06/14/23	N. D. Ramsey	Review case materials re motion to dismiss	1.4	1,650.00	2,310.00
06/14/23	A. H. Smith	Analyze motion to dismiss filings and arguments (.4); confer with K. Fix re motion	7.2	550.00	3,960.00
		argumente (7), comer with it. I ix ie motion			

Document Page 41 of 136

Robinson+Cole

Page: 16
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u> to dismiss support materials (.2); analyze	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/14/23	S. R. Wilkins	case materials re same (6.6) Coordinate download and filing of emailed PIQs (.4); email A. Smith re same (.1);	0.9	350.00	315.00
06/14/23	D. Wright	confer with K. Fix re hearing materials (.4) Review certain identified documents from initial production	1.2	1,250.00	1,500.00
06/15/23	A. A. DePeau	Review Debtor's opposition to motion to dismiss	1.6	710.00	1,136.00
06/15/23	T. J. Donlon	Emails with D. Wright and M. Enright re FCR's response to Committee's motion to dismiss	0.3	740.00	222.00
06/15/23	K. S. Dute	Research re insert to filing (1.5); review	2.1	550.00	1,155.00
06/15/23	M. R. Enright	recent filing for opposition (.6) Review update from A. Smith re ruling on sampling (.1); review filing re 524(g) issue in tracked case (.3); review FCR's response to ACC's motion to dismiss (.4); emails with D. Wright and T. Donlon re same (.2); review Supreme Court decision re construction arguments (.5); email to counsel team re same (.2); review additional filings re motions to dismiss (.5)	2.2	1,250.00	2,750.00
06/15/23	K. M. Fix	Review summary of case materials re motion to dismiss (.9); draft email re trust discovery for D. Wright (1.3); emails with RC team (D. Wright, M. Enright, R. Mauceri, and T. Donlon) re FCR objection to motion to dismiss (.6); emails with D. Wright, M. Enright, A. Smith re Debtors' objection to motion to dismiss and motion to withdraw standing (.4)	3.2	875.00	2,800.00
06/15/23	L. A. Krepto	Exchange communications with A. Smith re status of court hearing	0.1	950.00	95.00
06/15/23	R. J. Mauceri	Confer with D. Wright re hearing, reply brief (.4); review FCR's objection to Committee motion to dismiss (.4); emails with M. Enright, D. Wright, A. DePeau, A. Smith re same (.2); review Debtors' objection to motion to dismiss (.8); review Semian reply in support (.5); review Semian reply to FCR (.3); review Non-Debtor Affiliates' joinder (.1); review correspondence re motion to withdraw standing (.1); review A. Smith summary re Semian motion (.3); email A. Smith re same (.1).	3.2	1,075.00	3,440.00

Document Page 42 of 136

Robinson+Cole

Page: 17
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u> 06/15/23	<u>Timekeeper</u> A. R. Phillips	Description Review and analyze FCR objection to ACC motion to dismiss (2.1); review emails from T. Donlon and M. Enright re same (.2); review reply to Claimants' motion to dismiss (1.2)	Hours 3.5	<u>Rate</u> 840.00	<u>Amount</u> 2,940.00
06/15/23	N. D. Ramsey	Review responses of Debtor and FCR to Committee motion to dismiss (3.4); email correspondence with RC team (D. Wright, M. Enright, T. Donlon, R. Mauceri, A. DePeau and A. Smith) re same (.6); review motion to withdraw the derivative standing of the Committee (1.1); email correspondence with D. Wright re same (.2); email correspondence with D. Wright re court decision on rehearing re trust discovery (.4)	5.7	1,650.00	9,405.00
06/15/23	A. H. Smith	Analyze case materials re motion to dismiss (3.7); prepare outline for argument inserts re reply in support of same (3.9); correspondence with D. Wright re initial review of FCR and Debtors objections to motion to dismiss (.3); emails with L. Krepto re status of hearing (.1)	8.0	550.00	4,400.00
06/15/23	S. R. Wilkins	Review summary of case materials re motion to dismiss (.1); update tracking chart re same (.2); email A. Smith re same (.1); email A. Smith re PIQ production (.1)	0.5	350.00	175.00
06/15/23	D. Wright	Confer with R. Mauceri re hearing, reply brief (.4); review responses of Debtor and FCR to Committee's motion to dismiss (3.9); email correspondence with RC team (N. Ramsey, M. Enright, T. Donlon, R. Mauceri, A. DePeau and A. Smith) re same (.6); review motion to withdraw the derivative standing of the Committee (1.5); email correspondence with N. Ramsey re same (.2); correspondence with A. Smith re initial review of FCR and Debtors objections to motion to dismiss (.3); email correspondence with N. Ramsey re court decision on rehearing re trust discovery (.4); review Supreme Court decision addressing interpretation of Constitution at time of ratification (.8); review joinders in support of motion to dismiss (.8)	8.9	1,250.00	11,125.00
06/16/23	J. L. Cordani	Review and analyze FCR's and Debtors' oppositions to motion to dismiss (1.2); correspondence with M. Enright, D. Wright, A. Smith, T. Donlon, R. Mauceri, and N. Ramsey re same (.8)	2.0	640.00	1,280.00

Document Page 43 of 136

Robinson+Cole

Page: 18
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u> 06/16/23	<u>Timekeeper</u> J. J. DeForrest	<u>Description</u> Assist legal team with document review and	Hours 0.4	<u>Rate</u> 280.00	<u>Amount</u> 112.00
06/16/23	T. J. Donlon	production Emails with M. Enright re responses to motions to dismiss (.3); emails with M. Enright, R. Mauceri, A. Smith, D. Wright re Debtors' objection to motion to dismiss (.4); correspondence with M. Enright, D. Wright, A. Smith, J. Cordani, R. Mauceri, and N. Ramsey re Debtors' and FCR's oppositions to motion to dismiss (.8); email K. Fix re draft outline of reply in support of motion to dismiss (.1); emails with A. Smith, D. Wright, K. Fix, and R. Mauceri re issues for reply to filings (.8)	2.4	740.00	1,776.00
06/16/23	K. S. Dute	Review recent filings re subsection to response (1.2); review recent filings re additional subsection to response (2.6)	3.8	550.00	2,090.00
06/16/23	M. R. Enright	Review and analyze responses to motions to dismiss (2.5); emails with T. Donlon re same (.3); review Supreme Court jurisprudence relevant to arguments asserted in responses (2.3); additional research re same (1.5)	6.6	1,250.00	8,250.00
06/16/23	K. M. Fix	Confer with D. Wright re impact to sample ruling to case discovery, estimation discovery preparation (1.0); review and analyze FCR's objection to motion to dismiss (1.3); review and analyze Debtors' objection to motion to dismiss (1.8); review Non-Debtor Affiliates' joinder to same (.1); review Debtors' motion to withdraw derivative standing (.8); review Non-Debtor Affiliates' joinder to same (.1); review Semian reply (1.2); coordinate review of support materials re same (.3); emails with A. Smith, D. Wright, T. Donlon, and R. Mauceri re issues for reply to filings (.8); review index re hearing materials (.2); review draft outline of reply in support of motion to dismiss (.6); email from T. Donlon re same (.1)	8.3	875.00	7,262.50
06/16/23	R. J. Mauceri	Confer with A. Smith re reply to Committee motion to dismiss (.1); confer with D. Wright re same (.4); emails A. Smith, D. Wright, K. Dute re same (.3); emails M. Enright, T. Donlon, A. Smith, D. Wright re Debtors' objection to motion to dismiss (.4); review A. Smith outline for motion to dismiss (.4); confer with A. Smith re same (.5)	2.1	1,075.00	2,257.50

Document Page 44 of 136

Robinson+Cole

Page: 19
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	Hours	Rate	Amount
06/16/23	A. R. Phillips	Review and analyze Debtors' objection to ACC's motion to dismiss (2.2); emails with T. Donlon, M. Enright, and N. Ramsey re same (.4); review and analyze Debtors'	4.7	840.00	3,948.00
06/16/23	N. D. Ramsey	motion to withdraw derivative standing (2.1) Multiple substantive communications re analysis of response to FCR and Debtors' responses, non-Debtor joinder, to Committee motion to dismiss (1.4); review	2.4	1,650.00	3,960.00
		Semian responses to FCR and Debtors' responses (1.0)			
06/16/23	A. H. Smith	Analyze objections to motion to dismiss to prepare response (1.9); confer with R. Mauceri re drafting reply in support of motion to dismiss (.1); email D. Wright and R. Mauceri re same (.1); outline reply brief (3.7); confer with R. Mauceri re same (.5); revise same (.8); email S. Wilkins re PIQ correspondence from Debtor (.1)	7.2	550.00	3,960.00
06/16/23	S. R. Wilkins	Review motions to dismiss (.6); coordinate download and filing of PIQ correspondence (.5); review same (.1) assemble hearing materials (.8); email M. Barber and A. Smith re same (.1); update index re same (.8); email A. Smith re same (.1)	3.0	350.00	1,050.00
06/16/23	D. Wright	Review Semian reply to FCR's and Debtors' responses (1.1); confer with K. Fix re impact to sample ruling to case discovery, estimation discovery preparation (1.0); confer with R. Mauceri re reply in support of Committee motion to dismiss (.4); review outline for reply in support or motion to dismiss (.7); comment on solvent Debtors'	3.8	1,250.00	4,750.00
06/17/23	T. J. Donlon	rider to motion to dismiss reply (.6) Correspondence (multiple) with R. Mauceri and A. Smith re reply in support of motion to dismiss	0.3	740.00	222.00
06/17/23	A. H. Smith	Correspondence (multiple) with R. Mauceri and T. Donlon re reply in support of motion to dismiss	0.2	550.00	110.00
06/18/23	R. J. Mauceri	Email T. Donlon, A. Smith re proposed outline	0.2	1,075.00	215.00
06/19/23	J. L. Cordani	Correspondence with M. Enright, D. Wright, A. Smith, T. Donlon, R. Mauceri, and N. Ramsey re reply to Debtors' and FCR's	0.5	640.00	320.00
06/19/23	T. J. Donlon	oppositions to motion to dismiss Correspondence with M. Enright, D. Wright, A. Smith, J. Cordani, R. Mauceri, and N. Ramsey re reply to Debtors' and FCR's oppositions to motion to dismiss	0.5	740.00	370.00

Document Page 45 of 136

Robinson+Cole

Page: 20
Date: October 5, 2023
Invoice #: 50430814

Date	Timokoopor	Description	Houre	Poto	Amount
06/19/23	<u>Timekeeper</u> K. S. Dute	<u>Description</u> Draft insert re potential filing	Hours 5.8	<u>Rate</u> 550.00	<u>Amount</u> 3,190.00
06/19/23	M. R. Enright	Review outline of reply to response re	0.6	1,250.00	750.00
00/10/20	Wi. P.C. Elinight	motion to dismiss (.2); call with D. Wright, A.	0.0	1,200.00	700.00
		Smith and R. Mauceri re same (.4)			
06/19/23	R. J. Mauceri	Confer with D. Wright, M. Enright, A. Smith	1.1	1,075.00	1,182.50
		re reply to motion to dismiss (.4); confer with		,	,
		A. Smith re same (.1); confer with D. Wright			
		re same (.2); correspondence with D.			
		Wright, A. Smith re same (.2);			
		correspondence with D. Wright, K. Dute, A.			
		DePeau re reply brief, objection to motion to			
		withdraw (.2)			
06/19/23	A. H. Smith	Confer with D. Wright, M. Enright, and R.	1.1	550.00	605.00
		Mauceri re reply in support of motion to			
		dismiss (.4); confer with R. Mauceri re same			
		(.1); review caselaw re same (.4);			
		correspondence with D. Wright and R.			
00/40/00	O D W"	Mauceri re same (.2)	0.0	050.00	70.00
06/19/23	S. R. Wilkins	Review emails re motion to dismiss hearing	0.2	350.00	70.00
06/19/23	D. Wright	preparation Call with M. Enright, A. Smith and R.	2.0	1,250.00	2,500.00
00/19/23	D. Wright	Mauceri re outline of reply to response re	2.0	1,250.00	2,300.00
		MTD (.4); confer with R. Mauceri re same			
		(.2); confer with T. Phillips re reply (.1);			
		review certain documents from Debtors'			
		productions identified for additional review			
		(.9); draft email to R. Mauceri, K. Dute, A.			
		DePeau re reply brief, objection to motion to			
		withdraw (.2); correspondence with A. Smith			
		and R. Mauceri re reply brief (.2)			
06/20/23	M. C. Barber	Confer with K. Fix re support material	1.4	450.00	630.00
		review (.3); review Debtors' objection to			
		Committee's motion to dismiss (1.1)			
06/20/23	J. L. Cordani	Analyze reply to Debtors' and FCR's	0.5	640.00	320.00
		oppositions to motion to dismiss			
06/20/23	A. A. DePeau	Attend strategy call with WS, CD, and	7.4	710.00	5,254.00
		HSSM (.2); confer with D. Wright re			
		objection to motion to withdraw derivative			
		standing motion (.4); confer with A. Smith re			
		same (.5); research caselaw re objection			
06/20/23	K. S. Dute	(1.9); begin drafting opposition brief (4.4) Confer with A. Smith re motion to dismiss	1.2	550.00	660.00
00/20/23	K. S. Dule	argument insert (.4); draft re same (.8)	1.2	550.00	000.00
06/20/23	M. R. Enright	Review and analyze Fourth Circuit's opinion	1.2	1,250.00	1,500.00
00/20/20	Wi. IX. Lilligit	in Bestwall for purposes of briefing MTD	1.2	1,200.00	1,500.00
		(1.0); confer with R. Messina re status of			
		research project (.2)			
06/20/23	K. M. Fix	Confer with M. Barber re support material	5.7	875.00	4,987.50
		review (.3); review email from S. Wilkins re			·
		motion to dismiss underlying material			

Document Page 46 of 136

Robinson+Cole

Page: 21
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	Description compilation (.1); confer with S. Wilkins re same (.5); review index re underlying materials (.2); confer with A. Smith re reply to motion to dismiss and hearing materials (.8); confer with J. Fountain re same (.3); multiple emails to J. Fountain re same (.6); review select support materials for pleadings (2.2); draft email to M. Barber and S. Wilkins re same (.7)	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/20/23	J. F. Fountain	Call with K. Fix re motion to dismiss support material review (.3); multiple emails with K. Fix re same (.2); review materials and update index re same (.6)	1.1	270.00	297.00
06/20/23	J. T. Hardisty	Assist case team with review of hearing transcripts	0.3	280.00	84.00
06/20/23	R. J. Mauceri	Review caselaw re reply brief (1.5); emails (multiple) with A. Smith re outline, brief (.5)	2.0	1,075.00	2,150.00
06/20/23	R. J. Mauceri	Emails with A. Smith re PIQs	0.2	1,075.00	215.00
06/20/23	R. M. Messina	Confer with M. Enright re status of research project	0.2	550.00	110.00
06/20/23	A. R. Phillips	Review hearing transcript re rehearing on trust sampling	0.8	840.00	672.00
06/20/23	A. H. Smith	Draft argument insert in support of motion to dismiss (8.8); email R. Mauceri re same (.2); confer with K. Dute re same (.4); review tracked case update re same (.5); analyze citations to authority incorporated by reference to Debtors' prior filings (.8); confer with K. Fix re same (.8); confer with S. Wilkins re same (.5); confer with A. DePeau re objection to Debtors' motion to withdraw derivative standing (.5); email M. Eveland re PIQ review (.1); email D. Wright and R. Mauceri re same (.1)	12.7	550.00	6,985.00
06/20/23	S. R. Wilkins	Circulate hearing transcript (.1); coordinate access re same (.1); proof insert to reply re motion to dismiss (2.1); email K. Dute re same (.1); update hearing materials (3.6); email with K. Fix re same (.1); confer with K. Fix re motion to dismiss underlying material compilation (.5); confer with A. Smith re same (.5); coordinate research (3 sets) re same (1.2); email A. Smith (multiple) re same (.4)	8.7	350.00	3,045.00
06/20/23	D. Wright	Confer with A. DePeau re derivative standing motion (.4); review opinion re motion to dismiss in tracked bankruptcy case (.4); analyze impact of same on present pleadings (.2); comment on additional potential inserts to Committee's	1.6	1,250.00	2,000.00

Document Page 47 of 136

Robinson+Cole

Page: 22
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	Amount
		reply reflecting potential Debtors arguments (.6)			
06/21/23	A. A. DePeau	Confer with CD, WS, and HSSM re motion to dismiss and motion to withdraw derivative standing (.1); continue drafting objection to motion to withdraw derivative standing (4.7); research caselaw re same (2.8)	7.6	710.00	5,396.00
06/21/23	T. J. Donlon	Review FCR objection to motion to dismiss (.3); review M. Enright, Davis and Mauceri comments (.2); and respond (.2); review email from M. Enright re new Supreme Court case (.2); review victim's reply (.3); review D. Wright comment (.1); review Debtors' objections to motion to dismiss (.4); review D. Wright, A. Smith and N. Ramsey emails (.2); review joinders to motions (.2); email D. Wright, R. Mauceri re reply to objection (.3); review M. Enright comments and respond (.4); review M. Enright email re Article III argument reply (.2); review A. Smith email and outline (.3); email comments re same (.1)	3.4	740.00	2,516.00
06/21/23	K. S. Dute	Draft insert for filing	1.6	550.00	880.00
06/21/23	M. R. Enright	Review draft of argument re laches and comment re same (.4); review further revision and comments re same (.2); develop reply arguments (2.8)	3.4	1,250.00	4,250.00
06/21/23	R. J. Mauceri	Emails with T. Donlon, A. Smith re reply brief (.2); review and comment on insert for reply brief (1.3); email K. Dute re same (.1); review M. Enright email re same (.1); emails with A. Smith re reply brief (.2); confer with A. Smith re same (.2); confer with D. Wright re same (.2); review draft and revise same (3.4)	5.7	1,075.00	6,127.50
06/21/23	A. H. Smith	Draft argument insert for reply in support of motion to dismiss (4.0); confer with R. Mauceri re same (.2); emails with T. Donlon, R. Mauceri re same (.2); revise same (2.4); confer with M. Eveland re Verus PIQ review (.1); email D. Wright and R. Mauceri re same (.1); emails with S. Wilkins re hearing preparation (.2)	7.2	550.00	3,960.00
06/21/23	S. R. Wilkins	Emails (multiple) with A. Smith re deposition transcripts (.2); prepare hearing binder	3.7	350.00	1,295.00
06/21/23	D. Wright	(3.3); email A. Smith (multiple) re same (.2) Confer with R. Mauceri re motion to dismiss (.2); review rider re Debtors' laches	2.5	1,250.00	3,125.00

Document Page 48 of 136

Robinson+Cole

Page: 23
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u> argument (.8); review caselaw from same (.7); review rider on summary judgment argument (.8)	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/22/23	M. C. Barber	Review FCR's objection to Committee's motion to dismiss (.8); compile pleadings and supporting materials re FCR's and Debtors' objections to the Maune motion to dismiss (.2); review same (2.0); draft memorandum re same (1.5)	4.5	450.00	2,025.00
06/22/23	A. A. DePeau	Continue drafting and revising objection to motion to withdraw derivative standing (5.2); research caselaw re same (1.6); confer with A. Smith re same (.5)	7.3	710.00	5,183.00
06/22/23	M. R. Enright	Review and propose revisions and comments to specific argument for reply re motion to dismiss (3.2); confer with R. Mauceri and A. Smith re same (.2)	3.4	1,250.00	4,250.00
06/22/23	K. M. Fix	Emails with A. Smith re support materials for motion to dismiss	0.2	875.00	175.00
06/22/23	J. F. Fountain	Confer with A. Smith re case analysis materials re motion to dismiss (.6); analyze re same (.5)	1.1	270.00	297.00
06/22/23	R. J. Mauceri	Review, revise, and comment re draft reply brief (1.1); email A. Smith re same (.1); emails to M. Enright, A. Smith, D. Wright re further arguments for inclusion in brief (.2); confer with A. Smith and M. Enright re specific argument re same (.2)	1.6	1,075.00	1,720.00
06/22/23	A. H. Smith	Revise (multiple) argument insert for reply in support of motion to dismiss (3.0); confer with A. DePeau re response to motion to withdraw derivative standing (.5); email K. Fix re updates to case analysis materials (.4); confer with J. Fountain re hearing preparation materials re reply re motion to dismiss (.6); email S. Wilkins re same (.1); analyze support materials (1.9); confer with R. Mauceri and M. Enright re specific argument for reply on motion to dismiss (.2)	6.7	550.00	3,685.00
06/22/23	S. R. Wilkins	Update index re hearing materials (1.2); emails (multiple) to A. Smith re same (.5)	1.7	350.00	595.00
06/22/23	D. Wright	Review proposed revisions to insert to reply in support of motion to dismiss (.6); review proof of claim meet and confer correspondence from Debtors to multiple Plaintiff firms (.5)	1.1	1,250.00	1,375.00
06/23/23	A. A. DePeau	Edit and revise objection to motion to withdraw derivative standing (6.6); research caselaw re same (.5); review hearing transcripts re derivative standing (.9); review	8.4	710.00	5,964.00

Document

Page 49 of 136

Robinson+Cole

Page: 24
Date: October 5, 2023
Invoice #: 50430814

Date	Timekeeper	Description	<u>Hours</u>	<u>Rate</u>	Amount
<u>Date</u>	<u>тіпіекеереі</u>	and incorporate edits to objection made by M. Enright (.3); confer with D. Wright re same (.1)	<u>110015</u>	<u>ivate</u>	Amount
06/23/23	M. R. Enright	Confer with R. Messina re his estimation-related research (.2); analyze caselaw re same (2.2); follow up with R. Messina re same (.2); review filings re motions to dismiss in tracked case (1.5); review and provide comments to objection to motion to withdraw standing (.8)	4.9	1,250.00	6,125.00
06/23/23	K. M. Fix	Email A. Smith re document database credentials (.1); email J. Rickards Koski re same (.1)	0.2	875.00	175.00
06/23/23	R. M. Messina	Confer with M. Enright re estimation-related research topic	0.2	550.00	110.00
06/23/23	A. H. Smith	Prepare written materials for upcoming contested motion argument	1.9	550.00	1,045.00
06/23/23	D. Wright	Review draft objection to motion to withdraw standing (.6); confer with A. DePeau re same (.1)	0.7	1,250.00	875.00
06/24/23	T. J. Donlon	Review email from M. Enright and respond (.2); review reply (.1); review emails from R. Mauceri and A. Smith (.2); review draft reply sections (.9); review D. Wright email (.1); review emails from M. Enright (.2); and reply (.1); confer with M. Enright re reply brief issues (.6); review M. Enright email with comments on reply (.3)	2.7	740.00	1,998.00
06/24/23	M. R. Enright	Confer with T. Donlon re reply brief issues (.6); draft further revisions re same (.5); email to R. Mauceri, D. Wright, A. Smith and T. Donlon re same (.1); review markup from A. Smith (.2); review and comment on draft petition for rehearing (1.2)	2.6	1,250.00	3,250.00
06/24/23	A. H. Smith	Revise reply in support of motion to dismiss (.4); email D. Wright, M. Enright, R. Mauceri, and T. Donlon re same (.1)	0.5	550.00	275.00
06/25/23	T. J. Donlon	Review email from M. Enright with further comments on reply (.3); email R. Mauceri and A. Smith with suggested revision re same (.4); review A. Smith reply (.1)	0.8	740.00	592.00
06/25/23	R. J. Mauceri	Review and comment on revised brief (.7); email A. Smith re same (.1); confer (multiple) with A. Smith re same (.4); emails with T. Donlon, M. Enright, A. Smith, D. Wright re draft (.3)	1.5	1,075.00	1,612.50
06/25/23	A. H. Smith	Revise reply in support of motion to dismiss (2.4); email D. Wright, M. Enright, R. Mauceri, and T. Donlon re same (.1); confer (multiple) with R. Mauceri re same (.4)	2.9	550.00	1,595.00

Document Page 50 of 136

Robinson+Cole

Page: 25
Date: October 5, 2023
Invoice #: 50430814

Date	Timekeeper	Description	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/26/23	M. C. Barber	Review remaining pleadings and supporting materials re FCR's and Debtors' objections to the Maune motion to dismiss (.2); draft update to memorandum re same (.3)	0.5	450.00	225.00
06/26/23	J. L. Clasen	Confer with D. Wright, R. Mauceri, M. Enright, J. Cordani, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy	0.4	1,310.00	524.00
06/26/23	J. L. Cordani	Research and analyze new Fourth Circuit authority for reply in support of motion to dismiss (1.0); analyze Debtors' and FCR's oppositions to motion to dismiss (.7); confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4)	2.1	640.00	1,344.00
06/26/23	A. A. DePeau	Confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. Phillips, A. Smith, and S. Wilkins re case strategy	0.4	710.00	284.00
06/26/23	T. J. Donlon	Review draft reply brief re subject matter jurisdiction (1.3); review email from M. Enright re same and respond (.3); review briefs in opposition (.6); review Debtors' motion to withdraw standing (.4); email to R. Mauceri re same (.1); review A. Smith email re changes to draft reply (.4); respond with comments (.3)	3.4	740.00	2,516.00
06/26/23	M. R. Enright	Review further revised draft of portions of reply re motion to dismiss and comment re same (1.2); confer with D. Wright, R. Mauceri, J. Clasen, J. Cordani, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4)	1.6	1,250.00	2,000.00
06/26/23	R. J. Mauceri	Emails with M. Enright, T. Donlon, A. Smith re reply brief (.5); confer with D. Wright, J. Cordani, J. Clasen, M. Enright, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4)	0.9	1,075.00	967.50
06/26/23	A. R. Phillips	Confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4); review summary of case materials re motion to dismiss (.5); review and comment on draft reply in support of motion to dismiss (1.2)	2.1	840.00	1,764.00
06/26/23	A. H. Smith	Revise reply in support of motion to dismiss (1.8); correspondence with R. Mauceri re same (.2); confer with D. Wright re same	2.7	550.00	1,485.00

Document Page 51 of 136

Robinson+Cole

Page: 26
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	Description (4) Wright B. Maussii, I.	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
		(.1); confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Phillips, and S. Wilkins re case strategy (.4); follow-up emails with S. Wilkins re same (.2)			
06/26/23	S. R. Wilkins	Update deposition chart (.2); confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. Phillips, A. DePeau, and A. Smith re case strategy (.4); multiple follow-up emails with A. Smith re same (.3); draft notes re same (.3); email A. Phillips re deposition transcript (.1); emails with D. Wright and A. Smith re hearing information (.1)	1.4	350.00	490.00
06/26/23	D. Wright	Confer with R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. Phillips, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4); confer with A. Smith re motion to dismiss (.1); review insert re reply to motion to dismiss (.9)	1.4	1,250.00	1,750.00
06/27/23	M. C. Barber	Compile additional supporting materials re FCR and Debtors' objections to Committee's motion to dismiss case binder (.4); review same (1.8); draft memorandum re same (1.0); confer with S. Wilkins re same (.3)	3.5	450.00	1,575.00
06/27/23	J. L. Cordani	Legal analysis and research for reply in support of motion to dismiss (2.0); review and revise reply re same (1.5)	3.5	640.00	2,240.00
06/27/23	T. J. Donlon	Review email from N. Ramsey (.1); review draft objection to motion to withdraw standing (.6); review D. Wright comment (.1); email to N. Ramsey and D. Wright re draft objection (.3); review M. Enright comments (.2); email with M. Enright and D. Wright re same (.2); review J. Cordani comments on draft (.6); research on relevance of decision in tracked case (.3); response to Cordani comments (.5); review R. Mauceri insert to reply (.2); email comment on same (.2); review D. Wright	3.4	740.00	2,516.00
06/27/23	M. R. Enright	comment (.1) Review and comment on revised draft objection to motion to withdraw standing (.5); email with T. Donlon and D. Wright re same (.2); review further comments from J. Cordani re reply re motion to dismiss (.2); monitor hearing on motion to dismiss in tracked case (6.2)	7.1	1,250.00	8,875.00

Document Page 52 of 136

Robinson+Cole

Page: 27
Date: October 5, 2023
Invoice #: 50430814

Data	Timelesener	Description	Harma	Data	A
<u>Date</u> 06/27/23	<u>Timekeeper</u> J. T. Hardisty	<u>Description</u> Assist case team with review of hearing transcripts	Hours 0.3	<u>Rate</u> 280.00	<u>Amount</u> 84.00
06/27/23	A. R. Phillips	Confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Smith, and S. Wilkins re case strategy (.4)	0.4	840.00	336.00
06/27/23	A. H. Smith	Revise argument insert for reply in support of motion to dismiss (.6); correspondence with R. Mauceri and T. Donlon re same (.3)	0.9	550.00	495.00
06/27/23	S. R. Wilkins	Confer with M. Barber re hearing materials (.3); review same (.2); email A. Smith and M. Barber re same (.1)	0.6	350.00	210.00
06/28/23	M. C. Barber	Review additional supporting materials re FCR and Debtors' objections to Committee motion to dismiss case binder (1.6); draft memorandum re same (.7)	2.3	450.00	1,035.00
06/28/23	J. L. Cordani	Review and analyze draft reply in support of motion to dismiss	0.6	640.00	384.00
06/28/23	A. A. DePeau	Revise and edit objection to motion to withdraw derivative standing (2.3); confer with D. Wright, M. Enright, and T. Donlon re same (.2)	2.5	710.00	1,775.00
06/28/23	T. J. Donlon	Review additional sources for reply brief (.9); review A. DePeau revisions to objection to motion to withdraw standing (.4); confer with D. Wright, M. Enright, and A. DePeau re same (.2); review D. Wright email re same (.1); review M. Enright email with further comments (.2); email A. DePeau re same (.1); review reply (.1)	2.0	740.00	1,480.00
06/28/23	M. R. Enright	Monitor hearing on motion to dismiss in tracked case (6.8); review and comment on draft revisions to objection to motion to withdraw standing (.2); confer with D. Wright, A. DePeau, and T. Donlon re same (.2); review and comment on revised draft of petition for rehearing of Fourth Circuit ruling (.7)	7.9	1,250.00	9,875.00
06/28/23	R. J. Mauceri	Confer with D. Wright re reply brief (1.0); emails with A. Smith, D. Wright re potential addition to same (.3); emails with A. Smith re same (.2)	1.5	1,075.00	1,612.50
06/28/23	A. H. Smith	Draft hearing materials (1.2); prepare additional hearing materials (3.4); confer with S. Wilkins re same (.3); emails with R. Mauceri and D. Wright re potential addition to reply brief (.3); emails with R. Mauceri re same (.2)	5.4	550.00	2,970.00

Document Page 53 of 136

Robinson+Cole

Page: 28
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	Description	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
06/28/23	S. R. Wilkins	Confer with A. Smith re hearing preparation (.3); assemble materials re same (.3); email A. Smith re same (.1)	0.7	350.00	245.00
06/28/23	D. Wright	Review and comment on draft objection to motion to withdrawal standing (1.1); confer with A. DePeau, M. Enright, and T. Donlon re same (.2); review research re motion to dismiss briefing (.7); confer with R. Mauceri re motion to dismiss briefing (1.0); revise draft reply in support of motion to dismiss (1.1)	4.1	1,250.00	5,125.00
06/29/23	M. C. Barber	Compile additional supporting materials re FCR and Debtor responses to Committee motion to dismiss (.5); review additional supporting materials re same (.5)	1.0	450.00	450.00
06/29/23	A. A. DePeau	Edit objection to motion to withdraw derivative standing (.5); confer with D. Wright re same (.1); confer with C. Calvar re same (.1); review and provide edits to letter re privilege log deficiencies (1.0)	1.7	710.00	1,207.00
06/29/23	M. R. Enright	Monitor hearing on motion to dismiss in tracked case	6.9	1,250.00	8,625.00
06/29/23	K. M. Fix	Confer with A. Smith re motion to dismiss materials (.2); emails with A. Smith re same (.2); review updates to select summaries for same (.3)	0.7	875.00	612.50
06/29/23	J. F. Fountain	Continue to research and summarize motion to dismiss support materials	7.2	270.00	1,944.00
06/29/23	J. T. Hardisty	Assist case team with document review	0.2	280.00	56.00
06/29/23	R. J. Mauceri	Confer with D. Wright (multiple) re reply brief	0.7	1,075.00	752.50
06/29/23	N. D. Ramsey	Review compilation of materials for motion to dismiss hearing	1.4	1,650.00	2,310.00
06/29/23	A. H. Smith	Prepare hearing materials (3.2); confer with K. Fix re same (.2); email S. Wilkins re same (.1); confer with D. Wright, LAS re PIQ data processing (.7); email correspondence with same re same (.5); email C. Maisano re Verus PIQ access (.1)	4.8	550.00	2,640.00
06/29/23	S. R. Wilkins	Prepare hearing materials (.5); emails with A. Smith re same (.2)	0.7	350.00	245.00
06/29/23	D. Wright	Review edits to Committee's objection to motion to withdraw standing (.6); confer with A. DePeau re same (.1); confer with R. Mauceri (multiple) re reply brief (.7); confer with A. Smith, LAS re PIQ data processing (.7); follow-up emails re same (.2)	2.3	1,250.00	2,875.00
06/30/23	M. C. Barber	Review previously compiled additional supporting materials re FCR and Debtors' objections to Committee's motion to dismiss	2.5	450.00	1,125.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 54 of 136

Robinson+Cole

Page: 29
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
		case binder (1.7); draft first of several memoranda re same (.8)			
06/30/23	J. J. DeForrest	Assist legal team with review and production of case data (1.3); confer with A. Smith re same (.3)	1.6	280.00	448.00
06/30/23	A. A. DePeau	Review and revise letter to Debtors re privilege log deficiencies	0.4	710.00	284.00
06/30/23	M. R. Enright	Monitor hearing on motion to dismiss in tracked case	4.8	1,250.00	6,000.00
06/30/23	J. F. Fountain	Continue preparing summaries re reply to Debtors' objection to the Committee's motion to dismiss	4.8	270.00	1,296.00
06/30/23	N. D. Ramsey	Review draft reply to Debtors' response to motion to dismiss	1.1	1,650.00	1,815.00
06/30/23	A. H. Smith	Prepare hearing material analyses for motion to dismiss hearing (4.8); review PIQ submissions and database (1.5); confer with J. DeForrest re same (.3)	6.6	550.00	3,630.00
06/30/23	S. R. Wilkins	Coordinate printing and delivery of materials for July 17 hearing	0.2	350.00	70.00
06/30/23	D. Wright	Review and revise draft reply to Debtors' response to motion to dismiss	2.3	1,250.00	2,875.00
			581.6		\$468,368.00
			581.6	 -	\$468,368.00
PROFESSIO	ONAL RETENTION	I & FEE ISSUES-OCAC015	581.6		\$468,368.00
PROFESSIO 06/02/23	ONAL RETENTION L. Shaw	Email D. Wright re LAS fee applications (.1); review and forward same to S. Wilkins for	581.6	500.00	\$468,368.00 150.00
		Email D. Wright re LAS fee applications (.1); review and forward same to S. Wilkins for distribution and filing (.2) Multiple communications with L. Shaw re LAS interim fee applications (.3); update LAS interim fee applications and prepare for		500.00 350.00	
06/02/23	L. Shaw	Email D. Wright re LAS fee applications (.1); review and forward same to S. Wilkins for distribution and filing (.2) Multiple communications with L. Shaw re LAS interim fee applications (.3); update	0.3		150.00
06/02/23 06/02/23 06/13/23	L. Shaw S. R. Wilkins R. J. Mauceri	Email D. Wright re LAS fee applications (.1); review and forward same to S. Wilkins for distribution and filing (.2) Multiple communications with L. Shaw re LAS interim fee applications (.3); update LAS interim fee applications and prepare for filing (.6); email HSSM re same (.1) Review revisions re Verus retention Emails with LAS re April and May invoices (.1); review February invoice (.1); revise analysis re same (.6); update draft interim application (.5) Email D. Wright re LAS fee applications (.1);	0.3 1.0 0.1	350.00 1,075.00	150.00 350.00 107.50
06/02/23 06/02/23 06/13/23 06/15/23	L. Shaw S. R. Wilkins R. J. Mauceri L. Shaw	Email D. Wright re LAS fee applications (.1); review and forward same to S. Wilkins for distribution and filing (.2) Multiple communications with L. Shaw re LAS interim fee applications (.3); update LAS interim fee applications and prepare for filing (.6); email HSSM re same (.1) Review revisions re Verus retention Emails with LAS re April and May invoices (.1); review February invoice (.1); revise analysis re same (.6); update draft interim application (.5)	0.3 1.0 0.1 1.3	350.00 1,075.00 500.00	150.00 350.00 107.50 650.00

Document Page 55 of 136



Page: 30
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u> 06/27/23	Timekeeper S. R. Wilkins	<u>Description</u> Assemble documents re professional fee applications (.4); email D. Wright re same (.2); email E. Gillen re same (.1)	Hours 0.7	<u>Rate</u> 350.00	<u>Amount</u> 245.00
			4.2	-	\$1,827.50
FEE APPLI	CATION PREPARA	TION-OCAC016			
06/01/23	A. L. Ciabattoni	Continue to review and revise March fee statement	2.4	300.00	720.00
06/01/23	A. L. Ciabattoni	Additional revisions to February fee statement	1.1	300.00	330.00
06/01/23	S. R. Wilkins	Email D. Wright (multiple) re interim fee applications	0.2	350.00	70.00
06/01/23	D. Wright	Review and revise February 2023 fee statement	1.9	1,250.00	2,375.00
06/02/23	S. R. Wilkins	Update RC interim fee application and prepare for filing (.3); email HSSM re same (.1)	0.4	350.00	140.00
06/02/23	D. Wright	Review and revise RC eighth interim fee application	0.9	1,250.00	1,125.00
06/03/23	S. R. Wilkins	Research re interim fee application reconciliations (.6); email A. Smith re same (.1)	0.7	350.00	245.00
06/21/23	S. R. Wilkins	Review fee application order (.2); email D. Wright re approval of same (.1); email HSSM re same (.1)	0.4	350.00	140.00
			8.0	-	\$5,145.00
NONWORKING TRAVEL-OCAC017					
06/05/23	K. M. Fix	Travel PHL to CLT for hearing	4.8	437.50	2,100.00
06/05/23	D. Wright	Travel to CLT for hearing	4.3	625.00	2,687.50
06/06/23 06/06/23	K. M. Fix D. Wright	Travel from CLT to PHL after hearing Travel from CLT after hearing	4.3 4.6	437.50 625.00	1,881.25 2,875.00
			18.0	-	\$9,543.75

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 56 of 136

Robinson+Cole

Page: 31
Date: October 5, 2023
Invoice #: 50430814

<u>Date</u>	Timekeeper	<u>Description</u>	<u>Hours</u>	Rate	<u>Amount</u>
COMMUNIC	CATIONS TO CLAIN	ANTS/COUNSEL-OCAC018			
06/09/23	N. D. Ramsey	Confer with Committee representatives re Aearo (3M) dismissal decision	0.3	1,650.00	495.00
			0.3	-	\$495.00
				-	
			658.9		\$522,137.75

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 57 of 136

Robinson+Cole

Page: 32
Date: October 5, 2023
Invoice #: 50430814

Summary of Disbursements	
Description	<u>Amount</u>
Outside Printing	807.00
Telephone/Conference Services	59.95
Out-of-Town Mileage	33.67
Meals	380.54
Deposition Transcripts	46.20
Trial Transcripts	561.60
Travel: Air/Rail	2,365.61
Travel: Non-Mileage	39.35
Local Travel: Non-Mileage	223.35
Travel: Hotel/Lodging	1,037.25
Online Research: Westlaw	208.45
Relativity External User License Fee	3,971.26
	фо 724 22
	\$9,734.23

Disbursement Details

<u>Date</u> Outside Prir	<u>Description</u> nting	<u>Amount</u>
06/30/23	Outside Printing – PARCELS INC; INVOICE#: 1026622; DATE: 6/9/2023 - Printing services	807.00
Telephone/0	Conference Services	\$807.00
06/21/23	Telephone/Conference Services – KATHERINE M. FIX INVOICE#: 5940116906211511 DATE: 6/14/2023 Expense Reimbursement Client: Aldrich Hearing; Internet; 06/06/23; AA Wifi expense incurred during roundtrip travels for hearing; Provider: American Airlines	59.95
Out of Town		\$59.95
Out-of-Towr	i Mileage	
06/30/23	Out-of-Town Mileage – DAVIS LEE WRIGHT INVOICE#: 6012190906301833 DATE: 6/29/2023 Expense Reimbursement CLIENT; Mileage; 06/06/23; Attend Aldrich June 6, 2023 Hearing; From/To: Roundtrip Residence/PHL Airport; Miles: 51.40	33.67
Meals		\$33.67
06/21/23	Meals – KATHERINE M. FIX INVOICE#: 5940116906211511 DATE: 6/14/2023 Expense Reimbursement Client: Aldrich Hearing; Dinner; 06/05/23; Guests: Katherine Fix, Davis Lee Wright; External Guests: James P. Wehner - Caplin Drysdale	370.90

Document Page 58 of 136

Robinson+Cole

 Page:
 33

 Date:
 October 5, 2023

 Invoice #:
 50430814

06/21/23 Meals – KATHERINE M. FIX INVOICE#: 5940116906211511 DATE: 6/14/2023

9.64

Expense Reimbursement Client: Aldrich Hearing; Breakfast; 06/06/23; Breakfast

expense incurred after hearing; Guests: Katherine Fix

\$380.54

Deposition Transcripts

06/20/23 Deposition Transcripts – JANICE RUSSELL; INVOICE#: 231144; DATE:

46.20

6/19/2023 - Copy of transcript of hearing held on 06/15/23

\$46.20

Trial Transcripts

06/14/23 Trial Transcripts – J&J COURT TRANSCRIBERS, INC; INVOICE#: 202301234;

91.20

470.40

DATE: 6/8/2023 - Federal Court daily on 06/06/23

06/14/23 Trial Transcripts – JANICE RUSSELL; INVOICE#: 231094; DATE: 6/12/2023 -

Copy of transcript of Hearing held on 06/06/23

\$561.60

Travel: Air/Rail

06/21/23 Travel: Air/Rail – KATHERINE M. FIX INVOICE#: 5940116906211511 DATE:

1,031.31

1,334.30

6/14/2023 Expense Reimbursement Client: Aldrich Hearing; Airfare; 06/05/23; From/To: PHL to CLT; Start Date: 06/05/2023; End Date: 06/06/2023

06/30/23 Travel: Air/Rail – DAVIS LEE WRIGHT INVOICE#: 6012190906301833 DATE:

6/29/2023 Expense Reimbursement CLIENT; Airfare; 06/01/23; Attend Aldrich

June 6, 2023 Hearing; From/To: Roundtrip PHL/CLT; Start Date: 06/05/2023;

End Date: 06/06/2023

\$2,365.61

Travel: Non-Mileage

06/21/23 Travel: Non-Mileage - KATHERINE M. FIX INVOICE#: 5940116906211511

DATE: 6/14/2023 Expense Reimbursement Client: Aldrich Hearing; Taxi/Car

Service; 06/05/23; From/To: CLT airport to hotel

\$39.35

39.35

Local Travel: Non-Mileage

06/21/23 Local Travel: Non-Mileage – KATHERINE M. FIX INVOICE#:

147.35

5940116906211511 DATE: 6/14/2023 Expense Reimbursement Client: Aldrich Hearing; Local Taxi/Car Service; 06/06/23; From/To: PHL to residence

Local Travel: Non-Mileage – DAVIS LEE WRIGHT INVOICE#:

76.00

6012190906301833 DATE: 6/29/2023 Expense Reimbursement CLIENT; Local

Parking; 06/06/23; Attend Aldrich June 6, 2023 Hearing

\$223.35

06/30/23

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 59 of 136

Robinson+Cole

Page: 34
Date: October 5, 2023
Invoice #: 50430814

Travel: Hotel/Lodging

06/21/23 Travel: Hotel/Lodging – KATHERINE M. FIX INVOICE#: 5940116906211511 507.10

DATE: 6/14/2023 Expense Reimbursement Client: Aldrich Hearing; Lodging;

06/05/23; Start Date: 06/05/2023; End Date: 06/06/2023

06/30/23 Travel: Hotel/Lodging – DAVIS LEE WRIGHT INVOICE#: 6012190906301833 530.15

DATE: 6/29/2023 Expense Reimbursement CLIENT; Lodging; 06/06/23; Attend Aldrich June 6, 2023 Hearing; Start Date: 06/05/2023; End Date: 06/06/2023

\$1,037.25

Online Research: Westlaw 208.45

Relativity External User License Fee 3,971.26

\$9,734.23

Summary for Invoice # 50430814

Aldrich Bankruptcy

Fees for Legal Services \$ 522,137.75

Disbursements 9,734.23

Total Current Billing For this Matter \$ 531,871.98

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 60 of 136

SCHEDULE A-2

OFFICIAL COMMITTEE OF ASBESTOS CLAIMANTS ATTN: ALLAN TANANBAUM, ESQ. ALDRICH PUMP LLC AND MURRAY BOILER LLC 800-E BEATY STREET DAVIDSON, NC 28036 November 2, 2023 Invoice 50433850

File # 39062.0001 Aldrich Bankruptcy

Invoice Summary and Remittance Advice

Invoice attached and payable upon receipt

Please return this page or include invoice number with your remittance to:

Mailing Instructions
ROBINSON & COLE LLP
280 Trumbull Street
Hartford, CT 06103-3597

TEL # (860) 275-8200 FAX # (860) 275-8299 FEDERAL ID # 06-0512640

Wire Transfer Instructions

Bank of America 185 Asylum Street Hartford, CT 06103

SWIFT Code – BOFAUS3N ABA Wire Routing # - 026009593 ACH/EFT Routing # - 011900571 Checking Account # - 000000154546

SUMMARY FOR INVOICE 50433850

Fees for Legal Services \$602,607.50

Disbursements 22,294.51

Total Current Billing For this Matter \$ 624,902.01

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 62 of 136

Robinson+Cole

Page: 2
Date: November 2, 2023
Invoice #: 50433850

For Services through July 31, 2023

File # 39062.0001 Aldrich Bankruptcy

Summary of Services Task Code	s by Task Code Description		Hours	Amount
OCAC001	CASE ADMIN & BUSNSS OPER-OFFCL CMTEE	ASBESTOS	41.6	49,765.00
OCAC006	CRDTRS CLAIMS ADMINISTRATION		7.6	2,660.00
OCAC007	COURT HEARINGS		25.2	25,294.50
OCAC007 OCAC012	LITIGATION & ADVERSARY PROCEEDINGS		577.2	473,168.00
OCAC012 OCAC015	PROFESSIONAL RETENTION & FEE ISSUES		19.5	9,750.00
OCAC015 OCAC016	FEE APPLICATION PREPARATION		1.3	·
OCACO16 OCACO17	NONWORKING TRAVEL			1,535.00
			66.9	33,505.00
OCAC018	COMMUNICATIONS TO CLAIMANTS/COUNSEL		4.2	6,930.00
			743.5	¢600 607 50
Summary of Services	s by Professional		743.5	\$602,607.50
		Houre	Poto	Amount
Name M. C. Barbar	<u>Title</u>	Hours 24.0	<u>Rate</u>	Amount
M. C. Barber	Associate	34.0	450.00	15,300.00
P. M. Batsie	Paralegal	0.1	280.00	28.00
J. L. Clasen	Partner	0.7	1310.00	917.00
J. L. Cordani	Partner	1.0	640.00	640.00
J. J. DeForrest	Paralegal	0.8	280.00	224.00
A. A. DePeau	Partner	3.0	710.00	2,130.00
T. J. Donlon	Counsel	9.0	370.00	3,330.00
T. J. Donlon	Counsel	51.6	740.00	38,184.00
K. S. Dute	Associate	19.6	550.00	10,780.00
M. R. Enright	Partner	8.7	625.00	5,437.50
M. R. Enright	Partner	26.3	1250.00	32,875.00
K. M. Fix	Counsel	8.7	875.00	7,612.50
E. M. Forte	Partner	35.9	1250.00	44,875.00
J. F. Fountain	Associate	30.9	270.00	8,343.00
S. E. Goldman	Partner	4.0	650.00	2,600.00
S. E. Goldman	Partner	11.6	1300.00	15,080.00
J. T. Hardisty	Paralegal	0.3	280.00	84.00
L. A. Krepto	Counsel	0.5	950.00	475.00
R. J. Mauceri	Partner	11.0	537.50	5,912.50
R. J. Mauceri	Partner	57.5	1075.00	61,812.50
A. J. Merkey	Paralegal	0.5	425.00	212.50
A. R. Phillips	Partner	1.0	840.00	840.00
N. D. Ramsey	Partner	12.4	825.00	10,230.00
N. D. Ramsey	Partner	79.5	1650.00	131,175.00
L. Shaw	Paralegal	21.8	500.00	10,900.00
A. H. Smith	Associate	21.8	275.00	5,995.00
A. H. Smith	Associate	126.3	550.00	69,465.00
S. R. Wilkins	Paralegal	99.0	350.00	34,650.00
D. Wright	Partner	66.0	1250.00	82,500.00
Totals		743.5		\$602,607.50
าบเลเจ		143.3		φυυΖ,υυ1.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 63 of 136

Robinson+Cole

Page: Date:

Invoice #:

November 2, 2023

50433850

Summary of Services by Task Code and Professional

CASE ADMIN & BUSNSS OPER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC001

<u>Name</u>	<u>Title</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
M. R. Enright	Partner	6.4	1250.00	8,000.00
L. A. Krepto	Counsel	0.2	950.00	190.00
R. J. Mauceri	Partner	1.2	1075.00	1,290.00
N. D. Ramsey	Partner	14.9	1650.00	24,585.00
L. Shaw	Paralegal	3.1	500.00	1,550.00
A. H. Smith	Associate	6.2	550.00	3,410.00
S. R. Wilkins	Paralegal	1.4	350.00	490.00
D. Wright	Partner	8.2	1250.00	10,250.00
			_	
		41.6	· · · · · · · · · · · · · · · · · · ·	\$49,765.00
CLAIMS ADMINISTRATION-OCAC	006			
Name	Title	<u>Hours</u>	Rate	Amount
S. R. Wilkins	Paralegal	7.6	350.00	2,660.00
				ФО CCO OO
COURT HEARINGS OCACOOT		7.6		\$2,660.00
COURT HEARINGS-OCAC007				
Name	Title	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
T. J. Donlon	Counsel	6.3	740.00	4,662.00
R. J. Mauceri	Partner	6.3	1075.00	6,772.50
N. D. Ramsey	Partner	6.3	1650.00	10,395.00
A. H. Smith	Associate	6.3	550.00	3,465.00
		25.2		\$25,294.50
		20.2		Ψ=0,201.00

Document Page 64 of 136

Robinson+Cole

Page: 4
Date: November 2, 2023
Invoice #: 50433850

LITIGATION & ADVERSARY PROCEEDINGS-OCAC012

<u>Name</u>	<u>Title</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
M. C. Barber	Associate	34.0	450.00	15,300.00
P. M. Batsie	Paralegal	0.1	280.00	28.00
J. L. Clasen	Partner	0.7	1310.00	917.00
J. L. Cordani	Partner	1.0	640.00	640.00
J. J. DeForrest	Paralegal	0.8	280.00	224.00
A. A. DePeau	Partner	3.0	710.00	2,130.00
T. J. Donlon	Counsel	45.3	740.00	33,522.00
K. S. Dute	Associate	19.6	550.00	10,780.00
M. R. Enright	Partner	19.9	1250.00	24,875.00
K. M. Fix	Counsel	8.7	875.00	7,612.50
E. M. Forte	Partner	35.9	1250.00	44,875.00
J. F. Fountain	Associate	30.9	270.00	8,343.00
S. E. Goldman	Partner	11.6	1300.00	15,080.00
J. T. Hardisty	Paralegal	0.3	280.00	84.00
L. A. Krepto	Counsel	0.3	950.00	285.00
R. J. Mauceri	Partner	50.0	1075.00	53,750.00
A. J. Merkey	Paralegal	0.5	425.00	212.50
A. R. Phillips	Partner	1.0	840.00	840.00
N. D. Ramsey	Partner	54.1	1650.00	89,265.00
A. H. Smith	Associate	113.2	550.00	62,260.00
S. R. Wilkins	Paralegal	89.7	350.00	31,395.00
D. Wright	Partner	56.6	1250.00	70,750.00
3				,
		577.2		\$473,168.00
PROFESSIONAL RETENTION & FEE I	SSUES-OCAC015			· -,
Name	Title	Hours	Rate	Amount
L. Shaw	Paralegal	18.7	500.00	9,350.00
A. H. Smith	Associate	0.6	550.00	330.00
S. R. Wilkins	Paralegal	0.2	350.00	70.00
	3.4.2			
		19.5		\$9,750.00
FEE APPLICATION PREPARATION-O	CAC016			, , , , , , , , , , , , , , , , , , ,
Name	Title	<u>Hours</u>	Rate	<u>Amount</u>
S. R. Wilkins	Paralegal	0.1	350.00	35.00
D. Wright	Partner	1.2	1250.00	1,500.00
-				•
		1.3		\$1,535.00

Document Page 65 of 136

Robinson+Cole

Page: 5
Date: November 2, 2023
Invoice #: 50433850

NONWORKING TRAVEL-OCAC017

Name		Title	Hours	Rate	<u>Amount</u>
T. J. Donlon		Counsel	9.0	370.00	3,330.00
M. R. Enrigh		Partner	8.7	625.00	5,437.50
S. E. Goldm		Partner	4.0	650.00	2,600.00
R. J. Mauce		Partner	11.0	537.50	5,912.50
N. D. Ramse		Partner	12.4	825.00	10,230.00
A. H. Smith	<i>-</i> y	Associate	21.8	275.00	5,995.00
A. Ti. Ollilli		Associate	21.0	273.00	3,333.00
			66.9		\$33,505.00
COMMUNIC	CATIONS TO CLAI	MANTS/COUNSEL-OCAC018	00.0		ψου,σου.σο
Nama		Title	Houre	Doto	Amount
Name		<u>Title</u>	<u>Hours</u>	Rate	Amount
N. D. Ramse	Э	Partner	4.2	1650.00	6,930.00
			4.2		\$6,930.00
			743.5		\$602,607.50
Dete	T'	D		Data	A 1
<u>Date</u>	<u>Timekeeper</u>	Description	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
CASE ADM	IN & BUSNSS OPE	ER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC	001		
07/03/23	R. J. Mauceri	Confer with D. Wright re case status	0.6	1,075.00	645.00
07/03/23	D. Wright	Confer with R. Mauceri re case status	0.6	1,250.00	750.00
07/09/23	N. D. Ramsey	Confer with K. Maclay re motion to dismiss	0.3	1,650.00	495.00
01700720	Til Bi riamooy	and hearing issues	0.0	1,000.00	100.00
07/09/23	S. R. Wilkins	Update case files	0.4	350.00	140.00
07/09/23	D. Wright	Confer (partial) with K. Maclay and T.	0.1	1,250.00	125.00
01700720	D. Wilgin	Phillips re case status	0.1	1,200.00	120.00
07/11/23	N. D. Ramsey	Confer with counsel team re case strategy	0.3	1,650.00	495.00
07/11/23	D. Wright	Confer with counsel team re case strategy	0.3	1,250.00	375.00
07/12/23	S. R. Wilkins	Update calendars	0.2	350.00	70.00
07/13/23	S. R. Wilkins	Update calendars	0.1	350.00	35.00
07/17/23	L. Shaw	Review docket re critical dates	0.1	500.00	50.00
07/20/23	M. R. Enright	Confer with N. Ramsey re mediation	0.6	1,250.00	750.00
0.720720	9	session (.4); review mediation letter re same	0.0	.,_00.00	. 00.00
		(.2)			
07/20/23	N. D. Ramsey	Communications with Committee members	3.3	1,650.00	5,445.00
	,	re mediation (.2); communications with		,	-,
		experts re mediation (.2); prepare for			
		mediation (2.5); confer with M. Enright re			
		mediation session (.4)			
07/21/23	N. D. Ramsey	Telephone call with K. Maclay re mediation,	1.1	1,650.00	1,815.00
, _ ., _ 0	2	case status, strategy	•••	.,000.00	.,5.0.00
07/21/23	S. R. Wilkins	Email vendor re hearing materials	0.1	350.00	35.00
07/22/23	N. D. Ramsey	Review background materials in preparation	2.4	1,650.00	3,960.00
J. //_	21	for mediation	<u> </u>	.,000.00	3,300.00
		ioi modiation			

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 66 of 136

Robinson+Cole	age oo oi 130	Page:	6
KODIII2011±COIE		Date: Invoice #:	November 2, 2023 50433850

07/24/23	R. J. Mauceri	Confer with D. Wright re case status, workstreams	0.6	1,075.00	645.00
07/24/23	N. D. Ramsey	Prepare for mediation, including review mediation communication and related matters (1.5); teleconference with K. Maclay re mediation (.2)	1.7	1,650.00	2,805.00
07/24/23	L. Shaw	Update pleading index re hearing transcript of July 19, 2023, assemble pleadings for index, link same	0.5	500.00	250.00
07/24/23	S. R. Wilkins	Update case files	0.6	350.00	210.00
07/24/23	D. Wright	Confer with R. Mauceri re case status, workstreams (.6); review certain materials re Trane financials (.8)	1.4	1,250.00	1,750.00
07/25/23	M. R. Enright	Attend mediation	5.8	1,250.00	7,250.00
07/25/23	N. D. Ramsey	Participate in mediation session	5.8	1,650.00	9,570.00
07/25/23	L. Shaw	Review docket and update pleading index, link same (.6); email from S. Wilkins re hearing transcript of July 24, 2023, update index (.3); review same (.3)	1.2	500.00	600.00
07/25/23	A. H. Smith	Prepare for mediation (.4); attend mediation (5.8)	6.2	550.00	3,410.00
07/25/23	D. Wright	Participate in mediation session (via Zoom)	5.8	1,250.00	7,250.00
07/26/23	L. A. Krepto	Emails with N. Ramsey re case status	0.2	950.00	190.00
07/26/23	L. Shaw	Review docket and update pleading index, link same	0.4	500.00	200.00
07/27/23	L. Shaw	Review docket re critical dates (.1); assemble and update index, link same (.4)	0.5	500.00	250.00
07/31/23	L. Shaw	Review docket, assemble and update pleading index, link same	0.4	500.00	200.00
			41.6		\$49,765.00
CLAIMS AD	MINISTRATION-C	DCAC006			
07/15/23	S. R. Wilkins	Review POC communications to certain law firms (.4); email N. Ramsey re same (.1); update tracking chart re same (1.3); email A. Smith re same (.1)	1.9	350.00	665.00
07/25/23	S. R. Wilkins	Email E. Gillen re POC emails to claimant firms	0.1	350.00	35.00
07/27/23	S. R. Wilkins	Update POC correspondence chart (1.0); emails with E. Gillen re same (.2); email A. Smith re same (.1)	1.3	350.00	455.00
07/28/23	S. R. Wilkins	Update POC correspondence chart (1.4); review files re same (.3); email A. Smith re same (.1)	1.8	350.00	630.00
07/30/23	S. R. Wilkins	Update POC correspondence chart (2.4); email A. Smith re same (.1)	2.5	350.00	875.00
			7.6		\$2,660.00

Document Page 67 of 136

Robinson+Cole

Page: 7
Date: November 2, 2023
Invoice #: 50433850

COURT HEARINGS-OCAC007

07/14/23 07/14/23 07/14/23	T. J. Donlon R. J. Mauceri N. D. Ramsey	Attend hearing on motion to dismiss Attend hearing on motion to dismiss Attend and argument at hearing on motion to dismiss	6.3 6.3 6.3	740.00 1,075.00 1,650.00	4,662.00 6,772.50 10,395.00
07/14/23	A. H. Smith	Attend hearing on motion to dismiss	6.3	550.00	3,465.00
		-	25.2		\$25,294.50
LITIGATIO	N & ADVERSARY F	PROCEEDINGS-OCAC012			
07/01/23	M. C. Barber	Draft mterials for upcoming hearing on motion to dismiss (2.2); update same (.3)	2.5	450.00	1,125.00
07/01/23	A. H. Smith	Email M. Barber and J. Fountain re hearing material preparation (.5); email K. Fix re same (.1); draft hearing materials (1.9)	2.5	550.00	1,375.00
07/02/23	M. C. Barber	Draft hearing materials for upcoming hearing on motion to dismiss	3.2	450.00	1,440.00
07/02/23	S. R. Wilkins	Update hearing materials re motion to dismiss (2.9); email A. Smith (multiple) re same (.3)	3.2	350.00	1,120.00
07/02/23 07/03/23	D. Wright M. C. Barber	Revise reply in support of motion to dismiss Compile supporting materials for hearing on motion to dismiss (.5); review same (1.2); draft hearing materials for upcoming hearing (2.9); confer with S. Wilkins re same (.5)	2.7 5.1	1,250.00 450.00	3,375.00 2,295.00
07/03/23	J. J. DeForrest	Assist legal team with review and production of case data	0.3	280.00	84.00
07/03/23	T. J. Donlon	Review D. Wright email re deposition (.2); review A. DePeau comment (.1); response to D. Wright (.1); review D. Wright response (.1); review D. Wright email re reply brief (.2); review R. Mauceri response (.1); reply to R. Mauceri (.1); review emails from A. Smith and R. Mauceri (.2)	1.1	740.00	814.00
07/03/23	K. M. Fix	Confer with A. Smith re motion to dismiss hearing (.5); email from A. Smith re same (.2)	0.7	875.00	612.50
07/03/23	J. F. Fountain	Research re draft reply to Debtors' objection to the Committee 's motion to dismiss (2.1); review Debtors' objection (1.0) and, FCR's (.7) objection to dismiss; research cited case law (2.1)	5.9	270.00	1,593.00
07/03/23	S. E. Goldman	Confer with D. Wright re upcoming Tananbaum deposition	0.2	1,300.00	260.00

Document Page 68 of 136

Robinson+Cole

Page: 8
Date: November 2, 2023
Invoice #: 50433850

07/03/23	R. J. Mauceri	Emails with A. Smith re slides for hearing (.3); emails with D. Wright and A. Smith re reply brief (.2); emails with T. Donlon re same (.2); confer with D. Wright re reply in support of motion to dismiss (.6); confer with A. Smith re hearing slides preparation (.2)	1.5	1,075.00	1,612.50
07/03/23	N. D. Ramsey	Review email correspondence re deposition of A. Tananbaum (.2); email correspondence with A. Smith, S. Wilkins re hearing preparation (.2)	0.4	1,650.00	660.00
07/03/23	A. H. Smith	Revise hearing materials index (.3); email S. Wilkins re same (.3); confer with S. Wilkins re hearing materials (.2); prepare hearing material analyses for motion to dismiss hearing (8.5); multiple emails to M. Barber and J. Fountain re same (.4); confer with K. Fix re same (.5); confer with R. Mauceri re hearing slides preparation (.2)	10.4	550.00	5,720.00
07/03/23	S. R. Wilkins	Review emails re MTD hearing preparation (.2); update hearing materials re same (2.6); multiple communications with A. Smith re same (.6); coordinate assembly and printing of same (1.2); confer with A. Smith re same (.2); email N. Ramsey re same (.1); confer with M. Barber re FCR/Debtors' objection to Maune motion to dismiss (.5)	5.4	350.00	1,890.00
07/03/23	D. Wright	Confer with R. Mauceri re reply in support of motion to dismiss (.6); communicate with B. Erens re extension of reply in support of motion to dismiss (.2); review additional revisions to reply in support of motion to dismiss (1.1); confer with S. Goldman re upcoming Tananbaum deposition (.2); confer with T. Phillips re reply in support of motion to dismiss (.1)	2.2	1,250.00	2,750.00
07/04/23	M. C. Barber	Prepare hearing materials for upcoming hearing (2.3); draft memorandum incorporating same (.8)	3.1	450.00	1,395.00
07/04/23	S. E. Goldman	Confer with D. Wright re logistics for	0.8	1,300.00	1,040.00
07/04/23	R. J. Mauceri	Tananbaum deposition Confer with D. Wright re reply brief, slides,	0.6	1,075.00	645.00
07/04/23	D. Wright	hearing Confer with R. Mauceri re revisions to reply in support of motion to dismiss (.6); confer S. Goldman (.8) and C. Hardman (.2) re logistics for Tananbaum deposition	1.6	1,250.00	2,000.00
07/05/23	M. C. Barber	Prepare hearing materials for motion to dismiss hearing (3.5); draft memoranda in support of certain hearing materials (4.9); confer with E. Forte re same (.5)	8.9	450.00	4,005.00

Document Page 69 of 136

Robinson+Cole

Page: 9
Date: November 2, 2023
Invoice #: 50433850

07/05/23	J. J. DeForrest	Assist legal team with review and production of case data	0.5	280.00	140.00
07/05/23	A. A. DePeau	Review draft reply brief in support of motion to dismiss (.7); review and revise draft letter re privilege log deficiencies (.8)	1.5	710.00	1,065.00
07/05/23	T. J. Donlon	Review email from A. Smith re Caplin's comments (.1); review combined draft (1.1); review Debtor's objection to compare (.6); review D. Wright email re draft reply (.1); review M. Enright, A. DePeau, A. Smith and R. Mauceri responses (.3); reply to D. Wright (.1)	2.3	740.00	1,702.00
07/05/23	M. R. Enright	Initial review and comments on consolidated version of reply re motion to dismiss (.7); emails with A. Smith, T. Donlon, R. Mauceri, A. DePeau and D. Wright re same (.4)	1.1	1,250.00	1,375.00
07/05/23	E. M. Forte	Confer with M. Barber re hearing materials	0.5	1,250.00	625.00
07/05/23	J. F. Fountain	Prepare litigation-related memoranda for hearing on motion to dismiss	6.9	270.00	1,863.00
07/05/23	R. J. Mauceri	Review proposed revisions to reply brief and further attention to same (1.5); multiple emails with A. Smith re brief (.3); email D. Wright, A Smith re same (.2); emails with D. Wright, M. Enright, A. DePeau, A. Smith re revised draft (.4); confer with D. Wright (2x) re reply to support of motion to dismiss (.9); confer with N. Ramsey re same (.3); review brief as circulated (.4); emails with A. Smith re additional changes (.3); review Caplin updates to draft (.3); emails with D. Wright, A. Smith re same (.4); emails with A. Smith re slides (.2)	5.2	1,075.00	5,590.00
07/05/23	N. D. Ramsey	Review edits to reply brief (.3); confer with R. Mauceri re same (.3)	0.6	1,650.00	990.00
07/05/23	A. H. Smith	Draft slides for hearing presentation (6.8); email R. Mauceri re same (.2); email (multiple) S. Wilkins re hearing materials (.5); revise reply in support of motion to dismiss (2.5); correspondence (multiple) with D. Wright and R. Mauceri re same (.2)	10.2	550.00	5,610.00
07/05/23	S. R. Wilkins	Prepare hearing materials (5.7); multiple communications with A. Smith re same (.5)	6.2	350.00	2,170.00

Document Page 70 of 136

Robinson+Cole

Page: 10
Date: November 2, 2023
Invoice #: 50433850

07/05/23	D. Wright	Confer with R. Mauceri (2x) re reply in support of motion to dismiss (.9); confer with T. Phillips and S. Concannon re revisions to same (.2); confer with K. Maclay re specific argument in reply (.2); review and edit rider to reply in support of motion to dismiss (.9); revise reply (2.2); draft email to K. Maclay and T. Phillips re same (.1); draft email to committee forwarding same (.1); review issue re produced PIQ/POC responses (.2); review Claimants' cross-notice of deposition for A. Tananbaum (.2)	5.0	1,250.00	6,250.00
07/06/23	M. C. Barber	Assist with preparation of supporting memoranda for MTD hearing materials	4.3	450.00	1,935.00
07/06/23	T. J. Donlon	Research 2005 House report (.5); email to N. Ramsey and D. Wright re quotes from report (.3); email to D. Wright re Aldrich argument (.1); review response and reply (.2); review M. Enright and D. Wright email comments on report (.3); review R. Mauceri comment (.1)	1.5	740.00	1,110.00
07/06/23	K. S. Dute	Confer (multiple) with A. Smith re hearing preparing for upcoming contested motion (.5); confer with S. Wilkins re same (.1); draft re same (9.6)	10.2	550.00	5,610.00
07/06/23	M. R. Enright	Emails with D. Wright and Committee member representatives re draft of reply re motion to dismiss (.2); review legislative history issue for reply (.4); emails with T. Donlon, D. Wright and R. Mauceri re same (.2); review draft comments from Committee member representative (.2)	1.0	1,250.00	1,250.00
07/06/23	K. M. Fix	Confer with A. Smith re motion to dismiss hearing preparation (.5); review certain supporting materials re same (1.4); emails with S. Wilkins and A. Smith re same (.3)	2.2	875.00	1,925.00
07/06/23	J. F. Fountain	Review cases cited in Debtor's motion to dismiss objection (3.9); draft memoranda summarizing cases for hearing materials (4.7)	8.6	270.00	2,322.00
07/06/23	S. E. Goldman	Review Tananbaum declaration in preparation for attending Tananbaum deposition (.6); attend Tananbaum deposition (5.4)	6.0	1,300.00	7,800.00

Document Page 71 of 136

Robinson+Cole

Page: 11
Date: November 2, 2023
Invoice #: 50433850

07/06/23	R. J. Mauceri	Review draft slides (.5); confer with A. Smith re same (.6); emails with D. Wright, A. Smith, R. Cox, G. Thompson re citational questions (.2); review Committee suggestions to draft (.3); emails D. Wright, A. Smith, S. Concannon, T. Phillips, T. Donlon, N. Ramsey re same (.4); review materials in tracked bankruptcy case and analyze same for upcoming hearing (.7); confer with D. Wright re reply in support of motion to dismiss (.7)	3.4	1,075.00	3,655.00
07/06/23	N. D. Ramsey	Review and revise Committee reply to motion to dismiss (1.8); email correspondence with D. Wright, R. Mauceri and A. Smith re same (.4)	2.2	1,650.00	3,630.00
07/06/23	A. H. Smith	Prepare and update hearing materials (6.4); confer (multiple) with K. Dute re same (.5); email M. Barber and J. Fountain re same (.4); revise same (2.7); confer with S. Wilkins re same (.5); edit hearing materials (1.1); confer with R. Mauceri re same (.6); email TrialGraphix re same (.2)	12.4	550.00	6,820.00
07/06/23	S. R. Wilkins	Prepare hearing materials (12.6); confer with A. Smith re same (.5); confer with K. Dute re same (.1); coordinate printing and delivery re same (.7)	13.9	350.00	4,865.00
07/06/23	D. Wright	Confer with T. Phillips re reply in support of motion to dismiss (1.); confer with R. Mauceri re reply in support of motion to dismiss (.7); review proposed revisions to reply (1.8); draft email to R. Cox and G. Thompson re edits to reply (.1); review and address comments received from a Committee member to reply in support of rehearing (.9); review articles re tracked bankruptcy case and analyze same with respect to reply in support of motion to dismiss (.8)	4.4	1,250.00	5,500.00
07/07/23	M. C. Barber	Prepare memoranda re case law cited in motion to dimiss briefing for MTD hearing	2.6	450.00	1,170.00
07/07/23	T. J. Donlon	Review D. Wright email re Committee comments on reply (.1); review comments (.3); review D. Wright email to Caplin (.1); review A. Smith email re draft (.1); review R. Mauceri comments (.2); review A. Smith reply (.1); email to N. Ramsey and D. Wright re oral argument and related issues (.5); review D. Wright email with additional Committee comments (.3); and respond (.2); review N. Ramsey email re oral argument and reply (.3); review emails from	6.6	740.00	4,884.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Page 72 of 136 Document

Robinson+Cole Page: 12 Date: November 2, 2023 Invoice #: 50433850

		D. Wright re argument and respond (.3); review D. Wright reply (.1); review materials for oral argument (1.3); review email from A. Smith (.1); review changes to draft reply (.5); review email from D. Wright (.1); review A. Smith reply (.1); email to D. Wright and R. Mauceri with comments on changes to draft (.4); review R. Mauceri responses (.2) and reply (.1); review A. Smith further email (.1); review A. Smith response (.2); review S. Smith email with changes to draft (.3); review N. Ramsey comments (.3); review A. Smith review (.2)			
07/07/23 07/07/23	K. S. Dute M. R. Enright	Draft case summaries for MTD hearing Review email from Committee member representative re Tananbaum deposition (.2); review further revisions to draft reply re motion to dismiss (.3); emails with T. Donlon, A. Smith and R. Mauceri re same (.4)	4.1 0.9	550.00 1,250.00	2,255.00 1,125.00
07/07/23	K. M. Fix	Emails with T. Donlon, D. Wright, and N. Ramsey re preparation for motion to dismiss hearing (.3); emails with S. Wilkins re support materials for hearing (.4)	0.7	875.00	612.50
07/07/23	E. M. Forte	Research specific litigation-related issue in main bankruptcy case (2.9); review specific examples of researched conduct (.6); draft litigation-related pleadings re same (1.1)	4.6	1,250.00	5,750.00
07/07/23	J. F. Fountain	Prepare memoranda re certain cases cited in MTD briefing for upcoming MTD hearing	4.3	270.00	1,161.00
07/07/23	S. E. Goldman	Prepare summary of Tananbaum deposition	0.8	1,300.00	1,040.00
07/07/23	R. J. Mauceri	Review Committee comment to brief and emails with D. Wright, T. Donlon re same (.2); emails with N. Ramsey, T. Donlon re allocation of arguments (.2); emails with S. Concannon, A. Smith, D. Wright re Caplin revisions to draft (.4); confer with S. Concannon, A. Smith re same (.4); revise brief to incorporate decision (.3); email D. Wright re same (.1); emails with A. Smith, D. Wright re revisions to brief (.2); emails with T. Donlon, D. Wright, A. Smith, N. Ramsey, M. Enright re further changes to brief (.5); confer with A. Smith re same (.1); emails with D. Wright, T. Phillips, S. Concannon, T. Donlon, N. Ramsey, C. Guerrero, K. Maclay, M. Enright re further changes to brief (.6); confer (multiple) with A. Smith re same (.9); emails with S. Wilkins re materials for hearing (.2); emails with A. Smith, D. Wright, G. Thompson, R. Cox (.5)	4.6	1,075.00	4,945.00

Document Page 73 of 136

Robinson+Cole

Page: 13
Date: November 2, 2023
Invoice #: 50433850

07/07/23	N. D. Ramsey	Review and revise reply in support of motion to dismiss and multiple related communications among Committee, counsel team re same (1.7); review case law re various issues raised by Debtors (1.5); telephone call with K. Maclay re preparation for and argument at motion to dismiss hearing (1.4)	4.6	1,650.00	7,590.00
07/07/23	A. H. Smith	Prepare and update hearing materials (5.1); confer (2x) with S. Wilkins re same (.4); revise slides (.3); revise (multiple) reply brief (4.6); confer with R. Mauceri re same (.1); confer with R. Mauceri and S. Concannon re same (.4); confer with S. Concannon re same (.2); confer (multiple) with R. Mauceri re same (.9); email correspondence with D. Wright and R. Mauceri re filing same (.3); email correspondence with R. Cox re same (.1)	12.4	550.00	6,820.00
07/07/23	S. R. Wilkins	Prepare hearing materials (4.0); confer with A. Smith (2x) re same (.4); coordinate printing re same (.7); proof reply re motion to dismiss (multiple) (4.9); email A. Smith re same (.1); email R. Mauceri (multiple) re hearing materials (.2)	10.3	350.00	3,605.00
07/08/23	M. C. Barber	Continue drafting hearing materials requested for motion to dismiss hearing	3.7	450.00	1,665.00
07/08/23	K. S. Dute	Draft additional materials in preparation for upcoming hearing on motion to dismiss	3.8	550.00	2,090.00
07/08/23	M. R. Enright	Review email from E. Pratt re document production and follow up emails with N. Ramsey and D. Wright re same (.1); review article re tracked bankruptcy case (.3); emails with N. Ramsey and R. Mauceri re same (.2)	0.6	1,250.00	750.00
07/08/23	K. M. Fix	Emails from N. Ramsey re article for review (.2); emails from A. Smith re additional materials for hearing support (.2)	0.4	875.00	350.00
07/08/23	J. F. Fountain	Prepare additional materials for upcoming hearing	5.2	270.00	1,404.00
07/08/23	R. J. Mauceri	Review slides in advance of call with A. Smith (1.0); confer with A. Smith re same (.6); emails with N. Ramsey, A. Smith re deposition, article (.2); review same (.5)	2.3	1,075.00	2,472.50
07/08/23 07/08/23	N. D. Ramsey A. H. Smith	Prepare for hearing on motion to dismiss Revise hearing slides (.5); confer with R. Mauceri re same (.6); email TrialGraphix re same (.1); prepare hearing materials (1.4); email M. Barber re same (.1)	5.5 2.7	1,650.00 550.00	9,075.00 1,485.00

Document Page 74 of 136

Robinson+Cole

Page: 14
Date: November 2, 2023
Invoice #: 50433850

07/09/23	M. R. Enright	Emails with N. Ramsey re motion to strike re Tananbaum declaration (.1); review draft of same from T. Phillips (.3)	0.4	1,250.00	500.00
07/09/23	R. J. Mauceri	Review portions of Tananbaum deposition (.3); multiple emails N. Ramsey re same (.1); review materials for hearing (.2); review draft procedural motion (.3)	0.9	1,075.00	967.50
07/09/23	N. D. Ramsey	Prepare for hearing on motion to dismiss (6.3); email correspondence with Committee representatives, counsel team re Tananbaum strategy (.3)	6.6	1,650.00	10,890.00
07/09/23	A. H. Smith	Finalize hearing preparation materials (.9); email N. Ramsey, D. Wright, and R. Mauceri re same (.1); email S. Wilkins re same (.1)	1.1	550.00	605.00
07/09/23	S. R. Wilkins	Prepare hearing materials (3.4); email A. Smith re same (.1); email R. Mauceri re same (.1); email N. Ramsey re same (.1)	3.7	350.00	1,295.00
07/09/23	D. Wright	Revise hearing preparation materials (1.9); review case summaries for hearing preparation from section of reply in support of motion to dismiss (1.2); review Tananbaum deposition transcript (1.8); review proposed motion in limine re Tanabaum testimony (1.3); teleconference (partial) with K. Maclay and T. Phillips re potential motion in limine (.1)	6.3	1,250.00	7,875.00
07/10/23	M. C. Barber	Confer with E. Forte re main case-related litigation issue	0.6	450.00	270.00
07/10/23	J. L. Clasen	Confer with N. Ramsey, D. Wright, R. Mauceri, M. Enright, J. Cordani, A. DePeau, A. Phillips, A. Smith and S. Wilkins re case status	0.5	1,310.00	655.00
07/10/23	J. L. Cordani	Confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, M. Enright, A. DePeau, A. Phillips, A. Smith and S. Wilkins re case status	0.5	640.00	320.00
07/10/23	A. A. DePeau	Confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. Phillips, A. Smith and S. Wilkins re case status (.5); review motion in limine re A. Tananbaum (.9)	1.4	710.00	994.00
07/10/23	T. J. Donlon	Review A. Smith email re Aldrich argument (.1); review N. Ramsey response (.1); review draft slides for argument (.9); email re same to N. Ramsey and R. Mauceri (.3); review R. Mauceri response (.3); review briefs and materials re argument (1.9); review N. Ramsey email comment (.1); revise hearing materials (2.6)	6.3	740.00	4,662.00
07/10/23	K. S. Dute	Research re hearing preparation	1.5	550.00	825.00

Page:

Date:

15

November 2, 2023

Robinson+Cole

Document Page 75 of 136

NODI	1130111	COIC	Invoice #:	IN	50433850
07/10/23	M. R. Enright	Review hearing materials (.3); review comments re same (.1); further review of specific document identified for review (.3); review developments in parallel case confirmation proceedings (.3); further review of motion in limine (.3); confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, J. Cordani, A. DePeau, A. Phillips, A. Smith and S. Wilkins re case status (.5)	1.8	1,250.00	2,250.00
07/10/23	K. M. Fix	Review certain memoranda drafted as hearing materials for motion to dismiss hearing (1.2); review draft motion in limine re Tananbaum (.8); review portion of Tananbaum deposition (.7)	2.7	875.00	2,362.50
07/10/23	E. M. Forte	Research re specific main case litigation issue (4.8); confer with M. Barber re main case-related litigation issue (.6)	5.4	1,250.00	6,750.00
07/10/23	S. E. Goldman	Email correspondence N. Ramsey and C. Thompson re use of Tananbaum deposition	0.2	1,300.00	260.00
07/10/23	J. T. Hardisty	Assist case team with review of hearing transcripts	0.3	280.00	84.00
07/10/23	L. A. Krepto	Draft communication to A. Smith re mass tort bankruptcies (.1); review motion to dismiss litigation (.2)	0.3	950.00	285.00
07/10/23	R. J. Mauceri	Confer with N. Ramsey, D. Wright, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Phillips, A. Smith and S. Wilkins re case status (.5); confer with N. Ramsey, D. Wright, A. Smith, K. Maclay, J. Liesemer, T. Phillips, and Maune attorneys re hearing approach (.4); emails with T. Donlon re slides (.2); emails with L. Krepto, A. Smith re article (.1); emails with A. Smith, S. Wilkins, N. Ramsey re transcript review, language (.7); review and revise slides (1.2); confer (multiple) with A. Smith re same (1.9); further attention to same (1.8); confer with D. Wright (3x) re MTD hearing preparation (.9)	7.7	1,075.00	8,277.50
07/10/23	A. R. Phillips	Confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Smith and S. Wilkins re case status	0.5	840.00	420.00
07/10/23	N. D. Ramsey	Confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Phillips, A. Smith and S. Wilkins re case status (.5); confer with D. Wright (2x) re MTD hearing preparation (1.2); confer with D. Wright, A. Smith, R. Mauceri, K. Maclay, J. Liesemer, T. Phillips, and Maune attorneys re hearing approach (.4); telephone calls (3x) with K. Maclay re hearing preparation (1.0); telephone calls	9.4	1,650.00	15,510.00

Document Page 76 of 136

	•	_	
KO	binso	n	
	WII 13 U		

Page: 16
Date: November 2, 2023
Invoice #: 50433850

		with R. Mauceri re same (2x) (.3);			
07/10/23	A. H. Smith	participate in telephone call with K. Maclay, J. Stefan, C. Thompson and J. Ruckdeschel re same (.4); prepare for hearing on motion to dismiss (5.4); teleconfernce with K. Maclay and B. Erens re deposition and hearing issues (.2) Review discovery production (3.5); confer with N. Ramsey, D. Wright, K. Maclay, J. Liesemer, T. Phillips, and Maune attorneys re hearing approach (.4); confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Phillips and S. Wilkins re case status (.5); revise hearing presentation materials (6.6); confer (multiple) with R. Mauceri re same	12.9	550.00	7,095.00
07/10/23	S. R. Wilkins	(1.9) Review PIQ responses from Donlin Recano (.4); email A. Smith re same (.1); confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Phillips, and A. Smith re case strategy (.5); draft notes re same (.3); email A. Smith re same (.1); prepare for hearing (7.3); email R. Mauceri (2x) re same (.2); email A.	9.3	350.00	3,255.00
07/10/23	D. Wright	Smith (multiple) re same (.4) Confer with N. Ramsey, R. Mauceri, J. Clasen, M. Enright, J. Cordani, A. DePeau, A. Phillips, A. Smith and S. Wilkins re case status (.5); confer with R. Mauceri (3x) re MTD hearing preparation (.9); confer with N. Ramsey (2x) re same (1.2); confer with N. Ramsey, A. Smith, R. Mauceri, K. Maclay, J. Liesemer, T. Phillips, and Maune attorneys re hearing approach (.4); review proposed deposition designations for hearing (.3); prepare hearing materials (2.7); review draft of proposed motion in limine (.9); review specific case opinion for	7.3	1,250.00	9,125.00
07/11/23	T. J. Donlon	inclusion in hearing materials (.4) Work on draft presentation materials (1.1); review A. Smith email (.1); review A. Smith revised materials (.9); draft comments on revised materials (2.1); email re hearing materials (.8); comment on additional revisions to hearing materials (1.1); review M. Enright comments and related email	6.8	740.00	5,032.00
07/11/23	K. M. Fix	discussions (.7) Confer with D. Wright re hearing preparation (.6); review certain supporting materials re same (.4); email from S. Wilkins re same (.1)	1.1	875.00	962.50

Document Page 77 of 136

Robinson+Cole

Page: 17
Date: November 2, 2023
Invoice #: 50433850

07/11/23	E. M. Forte	Review deposition testimony from Debtors' witnesses re potential main case litigation issue (2.9); research additional information re same (3.4); review declaration of A. Tananbaum (.9)	7.2	1,250.00	9,000.00
07/11/23	S. E. Goldman	Email correspondence with N. Ramsey and T. Phillips re use of Tananbaum deposition	0.2	1,300.00	260.00
07/11/23	R. J. Mauceri	Confer (multiple) with A. Smith re slides (.9); confer with D. Wright re same (.3); confer with N. Ramsey re same (.2); emails with N. Ramsey, A. Smith, S. Wilkins re hearing language, citations (.4); review case law re language for slides (.5); email A. Smith re citations for slides (.3); rework slides to address T. Donlon comments (2.4); emails A. Smith, M. Enright, T. Donlon re comments to slides (.5); further attention to same (1.6); review and revise draft overview (.4)	7.5	1,075.00	8,062.50
07/11/23	N. D. Ramsey	Prepare for hearing on motion to dismiss (4.0); telephone call with R. Mauceri re same (.2); confer with D. Wright (x2) re hearing preparation (.7); confer with T. Phillips re motion in limine and Tanabaum testimony (.1)	5.0	1,650.00	8,250.00
07/11/23	A. H. Smith	Edit slides (2.4); confer (multiple) with R. Mauceri re same (.9); correspondence with R. Mauceri and T. Donlon re same (.3); draft hearing materials for N. Ramsey (2.2); supplemental research re same (.9)	6.7	550.00	3,685.00
07/11/23	S. R. Wilkins	Email N. Ramsey re hearing preparation (.1); coordinate printing of hearing materials (.4); prepare hearing materials (6.6); circulate same (.1)	7.2	350.00	2,520.00
07/11/23	D. Wright	Confer with N. Ramsey (2x) re hearing preparation (.7); confer with R. Mauceri re hearing preparation (.3); confer with K. Fix re same (.6); review additional comments provided to hearing materials (.4); assist with additional hearing preparation (2.4); review draft hearing slide presentation (1.9)	6.3	1,250.00	7,875.00
07/12/23	T. J. Donlon	Review email from R. Mauceri re PowerPoint (.2); review N. Ramsey comments (.1); review revised PowerPoint (.9); prepare/comments re same to N. Ramsey (1.2); review emails from A. Smith and N. Ramsey (.2); and respond (.1); review A. Smith and reply (.1); review R. Mauceri email re hearing (.1); work on PowerPoint (1.3)	4.2	740.00	3,108.00

Document Page 78 of 136

Robinson+Cole

Page: 18
Date: November 2, 2023
Invoice #: 50433850

07/12/23	M. R. Enright	Further review and comments on slide deck for motion to dismiss hearing (1.0); review specifically identified presentation in preparation for motion to dismiss hearing (1.1); confer with D. Wright re analysis of certain argument-related issues (.2); emails with R. Messina re same (.2); review cases re same (.8)	3.3	1,250.00	4,125.00
07/12/23	S. E. Goldman	Review transcript of Tananbaum deposition and proposed designations thereof (2.3); email correspondence to T. Phillips, C. Thompson and J. Ruckdeschel re deposition designations (.3)	2.6	1,300.00	3,380.00
07/12/23	R. J. Mauceri	Emails with A. Smith, S. Wilkins, N. Ramsey re arguments, citations for slides (.3); emails with M. Enright, T. Donlon, N. Ramsey re further updates to slides (.6); emails [multiple] with A. Smith re revisions to slides, timing (.6); telephone conferences with N. Ramsey re materials for hearing (.6); confer with A. Smith re same (.2); review revised materials (.3); emails with A. Smith re same (.4)	3.0	1,075.00	3,225.00
07/12/23	N. D. Ramsey	Prepare for hearing on motion to dismiss (4.8); telephone call with K. Maclay re same (.7); telephone calls with R. Mauceri re hearing materials (.6)	6.1	1,650.00	10,065.00
07/12/23	A. H. Smith	Revise hearing slides (1.1); confer with R. Mauceri re same (.2); draft hearing script (3.6); confer with S. Wilkins re hearing (.3)	5.2	550.00	2,860.00
07/12/23	S. R. Wilkins	Prepare for hearing (6.9); confer with A. Smith re same (.3); email A. Smith (multiple) re same (.3)	7.5	350.00	2,625.00
07/12/23	D. Wright	Confer with N. Ramsey (2x) re hearing preparation (.4); confer with M. Enright (.4); confer with R. Mauceri re same (.3); confer with M. Enright re analysis of collateral estoppel issues (.2); revise hearing presentation (1.8); develop requested hearing materials (2.8); review comments received to same (.9); revise same per comments received (1.5); review proposed combined Tananbaum deposition designations (.4)	8.7	1,250.00	10,875.00

Document Page 79 of 136

Robinson+Cole

Page: 19
Date: November 2, 2023
Invoice #: 50433850

07/13/23	T. J. Donlon	Review email from Expert #41 (.1); review multiple emails from RC counsel re hearing materials (.8); review case law, revise presentation and prepare for hearing, including with N. Ramsey, R. Maueri and A. Smith (6.6); prepare for hearing with full counsel team (K. Maclay, T. Phillips, J. Liesmer, J. Weiner, S. Concannon, R.Cox, N. Ramsey, R. Mauceri and A. Smith) (.5); confer with N. Ramsey re relationship of motions (.4); work on oral argument (2.0); prepare for hearing with full counsel team (.5); confer with N. Ramsey re relationship of motions (.4); work on hearing preparation and oral argument (1.9)	13.2	740.00	9,768.00
07/13/23	M. R. Enright	Review new decision on substantive consolidation (.2); further review of slide deck for argument on motion to dismiss and comment re same (1.0); review M. Evert's email re sampling proposal and background (.2); confer with N. Ramsey re same (.1); follow up emails re same (.2); review parallel case filings re standing argument (.3)	2.0	1,250.00	2,500.00
07/13/23	K. M. Fix	Email from N. Ramsey re PIQ processing and analyzation	0.2	875.00	175.00
07/13/23	R. J. Mauceri	Prepare for hearing, including correspondence with D. Wright re admission of exhibits (.2); review case law, revise presentation and prepare for hearing, including with T. Donlon, N. Ramsey and A. Smith (6.6); prepare for hearing with full counsel team (K. Maclay, T. Phillips, J. Liesmer, J. Weiner, S. Concannon, R. Cox, T. Donlon, N. Ramsey and A. Smith) (.5)	7.3	1,075.00	7,847.50
07/13/23	N. D. Ramsey	Prepare for hearing on motion to dismiss while in transit (1.0); review case law, revise presentation and prepare for hearing, including with T. Donlon, R. Mauceri and A. Smith (6.6); prepare for hearing with full counsel team (K. Maclay, T. Phillips, J. Liesmer, J. Weiner, S. Concannon, R. Cox, T. Donlon, R. Mauceri and A. Smith) (.5); telephone call with T. Phillips (.1) and email correspondence (.1) re evidentiary matters; confer with M. Enright re sampling proposal and background (.1)	8.4	1,650.00	13,860.00

Document Page 80 of 136

Robinson+Cole

Page: 20
Date: November 2, 2023
Invoice #: 50433850

07/13/23	A. H. Smith	Prepare and revise final hearing materials and script, including RC team (N. Ramsey, T. Donlon, R. Mauceri) confers re same (12.6); confer with N. Miller (Caplin) re same (.4); confer with Caplin team re same (.5); confer with LAS and Verus teams re PIQ review next steps (.5)	14.0	550.00	7,700.00
07/13/23	S. R. Wilkins	Prepare for hearing (17.3) coordinate delivery of hearing materials (.5); email A. Smith (multiple) re same (.3); email N. Ramsey re same (.1)	18.2	350.00	6,370.00
07/13/23	D. Wright	Review correspondence between Debtor and N. Ramsey re claimant sample	0.4	1,250.00	500.00
07/14/23	T. J. Donlon	Prepare for hearing with N. Ramsey, R. Mauceri and A. Smith (1.0); prepare for hearing re motion to dismiss with Committee counsel team (K. Maclay, T. Phillips, J. Liesmer, J. Weiner, S. Concannon, R. Cox R. Mauceri and A. Smith (.7); confer with with R. Mauceri, A. Smith after hearing (.3)	2.0	740.00	1,480.00
07/14/23	M. R. Enright	Emails with Committee member representatives post-hearing (.2)	0.2	1,250.00	250.00
07/14/23	R. J. Mauceri	Prepare for hearing with N. Ramsey, T. Donlon and A. Smith (1.0); prepare for hearing re motion to dismiss with Committee counsel team (K. Maclay, T. Phillips, J. Liesmer, J. Weiner, S. Concannon, R. Cox, T. Donlon, N. Ramsey and A. Smith (.7); confer with T. Donlon, A. Smith after hearing (.3); review M. Shepard hearing summary and related correspondence (.5); review hearing coverage (.2)	2.7	1,075.00	2,902.50
07/14/23	N. D. Ramsey	Prepare for hearing with T. Donlon, R. Mauceri and A. Smith (1.0); prepare for hearing with motion to dismiss Committee counsel team (K. Maclay, T. Phillips, J. Liesmer, J. Weiner, S. Concannon, R. Cox, T. Donlon, R. Mauceri and A. Smith (.7); teleconference with K. Maclay re case status (.2)	1.9	1,650.00	3,135.00
07/14/23	A. H. Smith	Prepare for hearing with N. Ramsey, R. Mauceri and T. Donlon (1.0); prepare for hearing re motion to dismiss with Committee counsel team (K. Maclay, T. Phillips, J. Liesmer, J. Weiner, S. Concannon, R. Cox, T. Donlon, R. Mauceri and N. Ramsey (.7); confer with R. Mauceri, T. Donlon after hearing (.3)	2.0	550.00	1,100.00

Document Page 81 of 136

Robinson+Cole

Page: 21
Date: November 2, 2023
Invoice #: 50433850

07/14/23	S. R. Wilkins	Prepare hearing materials (2.1); coordinate delivery re same (.4); multiple communications with A. Smith re same (.4); update hearing chart (.3); review hearing presentations (.3); email L. Krepto re same (.1); emails (multiple) with K. Dute re same (.2)	3.8	350.00	1,330.00
07/16/23	A. H. Smith	Email N. Ramsey re hearing audio recording review	0.1	550.00	55.00
07/17/23	M. R. Enright	Email N. Ramsey re inquiry from LAS	0.1	1,250.00	125.00
07/17/23	E. M. Forte	Research specific question re estimation proceeding (3.9); outline memorandum addressing research topic (.5)	4.4	1,250.00	5,500.00
07/17/23	A. H. Smith	Review and analyze hearing recording re counter party statements (2.8); email N. Ramsey re same (.1)	2.9	550.00	1,595.00
07/18/23	A. A. DePeau	Confer with co-counsel re strategy	0.1	710.00	71.00
07/18/23	E. M. Forte	Draft memorandum re specific question re estimation proceeding	4.0	1,250.00	5,000.00
07/18/23	S. E. Goldman	Confer with co-counsel re strategy	0.1	1,300.00	130.00
07/18/23	D. Wright	Review Tananbaum counter-designations from Debtor (.4); review Debtors' objection to motion in limine re Tananbaum testimony (1.1)	1.5	1,250.00	1,875.00
07/19/23	M. R. Enright	Review memorandum re specific estimation-related litigation issue (.3); confer with E. Forte re same (.3); email with R. Messina re same (.1); emails with A. Sackett, N. Ramsey and J. Wehner re discussion re estimation issues	0.9	1,250.00	1,125.00
07/19/23	K. M. Fix	Confer with R. Mauceri re motion to dismiss hearing and historical materials	0.5	875.00	437.50
07/19/23	E. M. Forte	Confer with M. Enright re memorandum re specific estimation-related litigation issue (.3); continue research re original main case litigation topic (5.1); emails with R. Messina re same (.3)	5.7	1,250.00	7,125.00
07/19/23	R. J. Mauceri	Confer with K. Fix re motion to dismiss hearing and historical materials	0.5	1,075.00	537.50
07/19/23	A. H. Smith	Review estimation discovery production	2.0	550.00	1,100.00
07/19/23	D. Wright	Review draft consent order re testimony and exhibits from motion to dismiss hearing	0.2	1,250.00	250.00
07/20/23	M. R. Enright	Review briefing in tracked bankruptcy case for impact on present case (1.2); review Debtors' response to motion in limine (.2)	1.4	1,250.00	1,750.00
07/20/23	A. J. Merkey	Review email from A. Smith re estimation update, research same, emails with A. Smith, A. Sackett and P. Ebener, and update summary for same	0.5	425.00	212.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Document Page 82 of 136

Robinson+Cole	Page:	22
RODINSON COIC	Date: Invoice #:	November 2, 2023 50433850

07/20/23	A. H. Smith	Confer with LAS re PIQ analysis and next steps (1.0); review Debtors' estimation discovery production (6.4)	7.4	550.00	4,070.00
07/20/23	D. Wright	Review objection to motion to withdraw derivative standing (1.3); review Debtor's revisions to stipulation resolving motion in limine (.2)	1.5	1,250.00	1,875.00
07/21/23	M. R. Enright	Review key filings for mediation session preparation (2.2); review new dismissal decision (.2); review sampling proposal in preparation for call with LAS re same (.2); confer with N. Ramsey, D. Wright, R. Mauceri, A. Smith, J. Wehner, J. Koski, K. Zendeh, A. Sackett, D. Rourke, and M. Totten re Debtors' estimation sample proposal (.6); review final version of objection to motion to withdraw standing (.2)	3.4	1,250.00	4,250.00
07/21/23	S. E. Goldman	Review Debtor's proposed revisions to draft stipulation (.1); email T. Phillips and others re revisions to draft stipulation (.1)	0.2	1,300.00	260.00
07/21/23	R. J. Mauceri	Confer with N. Ramsey, D. Wright, M. Enright, A. Smith, J. Wehner, J. Koski, K. Zendeh, A. Sackett, D. Rourke, and M. Totten re Debtors' estimation sample proposal	0.6	1,075.00	645.00
07/21/23	N. D. Ramsey	Prepare for (.3) and confer with (.6) D. Wright, M. Enright, R. Mauceri, A. Smith, J. Wehner, J. Koski, K. Zendeh, A. Sackett, D. Rourke, and M. Totten re Debtors' estimation sample proposal; confer with D. Wright re outstanding discovery issues (.5)	1.4	1,650.00	2,310.00
07/21/23	A. H. Smith	Review Debtors' estimation discovery production (3.1); confer with N. Ramsey, D. Wright, M. Enright, R. Mauceri, J. Wehner, J. Koski, K. Zendeh, A. Sackett, D. Rourke, and M. Totten re estimation sample (.6)	3.7	550.00	2,035.00
07/21/23	D. Wright	Confer with N. Ramsey, M. Enright, R. Mauceri, A. Smith, J. Wehner, J. Koski, K. Zendeh, A. Sackett, D. Rourke, and M. Totten re Debtors' estimation sample proposal (.6); confer with N. Ramsey re outstanding discovery issues (.5); review counsel team revised edits to consent order on motion in limine (.2); review final draft of objection to motion to withdraw derivative standing (1.0)	2.3	1,250.00	2,875.00
07/22/23	T. J. Donlon	Review co-defendant's motion to dismiss and for sanctions (.4); email to J. Cook re same (.1); email to co-defendant's counsel (.1)	0.6	740.00	444.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 83 of 136

Robinson+Cole

Page: 23
Date: November 2, 2023
Invoice #: 50433850

07/24/23	P. M. Batsie	Assist case team with review and production of client files	0.1	280.00	28.00
07/24/23	M. R. Enright	Review materials from FTI for upcoming mediation (.5); review financial information from Non-Debtor Subsidiaries (.2); review mediation orders re details (.2)	0.9	1,250.00	1,125.00
07/24/23	A. H. Smith	Review Debtors' estimation discovery production	2.6	550.00	1,430.00
07/24/23	S. R. Wilkins	Email RC litigation team re July 14 hearing transcript	0.1	350.00	35.00
07/24/23	D. Wright	Review hearing transcript from July 14, 2023 hearing	3.6	1,250.00	4,500.00
07/26/23	A. H. Smith	Email T. Donlon re court comments during July 14 hearing	0.2	550.00	110.00
07/26/23	D. Wright	Review multiple correspondence from Debtors to multiple various plaintiffs' law firms re PIQ responses	1.3	1,250.00	1,625.00
07/27/23	T. J. Donlon	Email R. Mauceri re hearing and status (.1); review response and reply (.1)	0.2	740.00	148.00
07/27/23	M. R. Enright	Emails with N. Ramsey, J. Guy and M. Evert re meet and confer on sampling	0.2	1,250.00	250.00
07/27/23	A. H. Smith	Confer with LAS re PIQ next steps	0.3	550.00	165.00
07/28/23	J. L. Clasen	Review results of Court ruling on motion to dismiss and related emails	0.2	1,310.00	262.00
07/28/23	T. J. Donlon	Review email from A. Smith re mediation (.2) and respond (.2); review reply (.1)	0.5	740.00	370.00
07/28/23	M. R. Enright	Review and provide comments on revised draft of collateral estoppel memorandum (.5); emails with R. Messina and E. Forte re same (.3)	0.8	1,250.00	1,000.00
07/28/23	E. M. Forte	Review and revise memorandum on estimation-related litigation issue	4.1	1,250.00	5,125.00
07/28/23	R. J. Mauceri	Review A. Smith mediation summary	0.2	1,075.00	215.00
07/28/23	A. H. Smith	Email T. Donlon re mediation analysis	0.5	550.00	275.00
07/28/23	S. R. Wilkins	Coordinate download of production (.6); email A. Smith (multiple) re same (.1); update production chart (.2)	0.9	350.00	315.00
07/31/23	J. L. Cordani	Confer with D. Wright, N. Ramsey, R. Mauceri, M. Enright, S. Goldman, A. Phillips, A. Smith, and S. Wilkins re case strategy	0.5	640.00	320.00
07/31/23	M. R. Enright	Confer with D. Wright, N. Ramsey, R. Mauceri, S. Goldman, J. Cordani, A. Phillips, A. Smith, and S. Wilkins re case strategy (.5); draft and circulate summary of prior discussion among LAS and Committee counsel team re sampling (.4)	0.9	1,250.00	1,125.00
07/31/23	K. M. Fix	Emails with R. Mauceri re historical case estimation	0.2	875.00	175.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Document Page 84 of 136

Robinson+Cole

Page: 24
Date: November 2, 2023
Invoice #: 50433850

07/31/23	S. E. Goldman	Confer with D. Wright, N. Ramsey, R. Mauceri, M. Enright, J. Cordani, A. Phillips,	0.5	1,300.00	650.00
07/31/23	R. J. Mauceri	A. Smith, and S. Wilkins re case strategy Confer with D. Wright, N. Ramsey, M. Enright, S. Goldman, J. Cordani, A. Phillips, A. Smith, and S. Wilkins re case strategy (.5); emails M. Enright, N. Ramsey, A. Smith, D Wright re estimation protocol (.3); email A. Smith re memorandum (.1); email K. Fix re case materials (.1); confer with N. Ramsey re workstreams (.6); confer with D. Wright re same (.4)	2.0	1,075.00	2,150.00
07/31/23	A. R. Phillips	Confer with D. Wright, N. Ramsey, R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. Smith, and S. Wilkins re case strategy	0.5	840.00	420.00
07/31/23	N. D. Ramsey	Confer with D. Wright, N. Ramsey, R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. Phillips, A. Smith, and S. Wilkins re estimation discovery, strategy (.5); prepare for meet and confer with Debtors re estimation CMO with M. Enright and A. Smith (.3); confer with R. Mauceri re discovery review process (.6); review status update re discovery referee (.2); telephone call with D. Wright re same (.4)	2.0	1,650.00	3,300.00
07/31/23	A. H. Smith	Prepare for estimation team strategy call (.5); confer with D. Wright, N. Ramsey, R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. Phillips, A. Smith, and S. Wilkins re case strategy (.5)	1.0	550.00	550.00
07/31/23	D. Wright	Confer with N. Ramsey, R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. Phillips, A. Smith, and S. Wilkins re case strategy (.5); confer with R. Mauceri re workstreams (.4); confer with N. Ramsey re discovery referee status update (.4)	1.3	1,250.00	1,625.00
		-	577.2		\$473,168.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 85 of 136

Robinson+Cole

Page: 25
Date: November 2, 2023
Invoice #: 50433850

PROFESSIONAL RETENTION & FEE ISSUES-OCAC015

07/10/23	L. Shaw	Review email from A. Sacket of LAS re April and May invoices, review same (.3); email with A. Merkey re same (.1); review and	1.0	500.00	500.00
07/11/23	L. Shaw	proof April and May invoices (.6) Review and proof May fee invoice of LAS (.6); update proof of math re same (.5); begin draft summary re February through May invoices (.7)	1.8	500.00	900.00
07/12/23	L. Shaw	Numerous emails with A. Sackett re April/May invoices and payments received (.2); review and proof LAS April and May invoices (.6); update proof of fee chart (.9); draft summary chart re February, March, April and May invoices (1.9): draft proof of math re April and May invoices (1.4); draft fifth interim fee application (1.7); assemble monthly invoices (.3)	7.0	500.00	3,500.00
07/13/23	L. Shaw	Revise February chart re corrected invoice (.8); update and finalize monthly summary charts (1.8); edit summary pages (.9)	3.5	500.00	1,750.00
07/17/23	L. Shaw	Revise fifth interim fee application of LAS re February credit (.8); revise proof of math (.9); additional edits to interim fee application re footnotes re credit (.7)	2.4	500.00	1,200.00
07/24/23	L. Shaw	Review and respond to email from A. Smith re invoicing questions (.2); finalize interim application for LAS and forward same to A. Smith (.5)	0.7	500.00	350.00
07/24/23	A. H. Smith	Email L. Shaw and S. Wilkins re fee and invoicing procedures	0.2	550.00	110.00
07/24/23	S. R. Wilkins	Emails (multiple) with A. Smith and L. Shaw re fee application protocols	0.2	350.00	70.00
07/25/23	L. Shaw	Final review of LAS fee statements to interim fee application (.3); revise and update footnotes re overpayment to LAS (.4); review proof of math (.5); finalize fourth interim application (.7)	1.9	500.00	950.00
07/26/23	L. Shaw	Review eighth interim fee application of Gilbert LLP	0.2	500.00	100.00
07/26/23	A. H. Smith	Email L. Shaw and S. Wilkins re Verus invoicing procedures (.1); email M. Eveland (Verus) re same (.3)	0.4	550.00	220.00
07/31/23	L. Shaw	Review eighth interim fee application of Caplin Drysdale, update index	0.2	500.00	100.00
		-	19.5		\$9,750.00

Document Page 86 of 136

Robi	inson+(Cole	Page: Date: Invoice #:	Nov	26 ember 2, 2023 50433850
FEE APPL	ICATION PREPARA	ATION-OCAC016			
07/03/23 07/28/23	D. Wright S. R. Wilkins	Revise March fee statement Email D. Wright re fee application	1.2 0.1	1,250.00 350.00	1,500.00 35.00
			1.3		\$1,535.00
NONWORK	KING TRAVEL-OCA	AC017			
07/06/23	S. E. Goldman	Travel within New York to attend deposition	0.8	650.00	520.00
07/06/23	S. E. Goldman	Return travel to Hartford after deposition	3.2	650.00	2,080.00
07/13/23	T. J. Donlon	Travel to Charlotte for hearing	3.5	370.00	1,295.00
07/13/23	R. J. Mauceri	Travel from Philadelphia to Charlotte for hearing on motion to dismiss	4.0	537.50	2,150.00
07/13/23	N. D. Ramsey	Travel from Philadelphia to Charlotte for hearing on motion to dismiss	2.3	825.00	1,897.50
07/13/23	A. H. Smith	Travel from Hartford to Charlotte for hearing on motion to dismiss	5.1	275.00	1,402.50
07/14/23	R. J. Mauceri	Return travel from Charlotte to Philadelphia (with weather delays)	7.0	537.50	3,762.50
07/14/23	N. D. Ramsey	Return travel from Charlotte to Philadelphia (partial, delayed)	4.8	825.00	3,960.00
07/14/23	A. H. Smith	Return travel from CLT (including significant travel delays)	7.6	275.00	2,090.00
07/15/23	T. J. Donlon	Travel back to Stamford	5.5	370.00	2,035.00
07/24/23	M. R. Enright	Travel to DC to attend mediation	4.2	625.00	2,625.00
07/24/23	N. D. Ramsey	Travel from Wilmington to DC to attend mediation	2.8	825.00	2,310.00
07/24/23	A. H. Smith	Travel to Washington, D.C. to attend mediation	4.2	275.00	1,155.00
07/25/23	M. R. Enright	Return trip from DC mediation	4.5	625.00	2,812.50
07/25/23	N. D. Ramsey	Return travel from DC mediation	2.5	825.00	2,062.50
07/26/23	A. H. Smith	Return travel from DC mediation	4.9	275.00	1,347.50
			66.9	 -	\$33,505.00
COMMUNI	CATIONS TO CLAI	MANTS/COUNSEL-OCAC018			
07/24/23	N. D. Ramsey	Meeting with B. Cooney, M. Shepard, K. Maclay, and T. Phillips to prepare for mediation	3.7	1,650.00	6,105.00
07/25/23	N. D. Ramsey	Confer with clients, counsel team following mediation	0.5	1,650.00	825.00
			4.2		\$6,930.00

Boston | Hartford | New York | Washington, DC | Providence | Miami | Stamford | Wilmington | Philadelphia | Los Angeles | Albany | rc.com

743.5

\$602,607.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 87 of 136

Robinson+Cole

Page: 27
Date: November 2, 2023
Invoice #: 50433850

	Summary of Disbursements Description Outside Printing Out-of-Town Mileage Meals Trial Transcripts Experts Federal Express Delivery Charge Travel: Air/Rail Travel: Non-Mileage Travel: Hotel/Lodging Online Research: Westlaw Print Black & White Scan Black & White Relativity External User License Fee	Amount 6,586.02 86.69 929.48 514.50 975.00 54.23 4,701.72 897.10 3,178.04 234.06 126.10 1.10 4,010.47
Dioburoomo	ent Dotaile	\$22,294.51
Disburseme	ent Details	
<u>Date</u> Outside Prir	<u>Description</u> nting	<u>Amount</u>
07/20/23	Outside Printing – PARCELS INC; INVOICE#: 1030988; DATE: 7/11/2023 -	1,635.80
07/25/23	Printing services on 07/07/23 Outside Printing – NOVA OFFICE STRATEGIES INC; INVOICE#: 4161638;	4,247.67
07/31/23	DATE: 7/17/2023 - Printing services Outside Printing – PARCELS INC; INVOICE#: 1033813; DATE: 7/25/2023 - Printing services on 07/09/23	702.55
	Fillithing Services on 07/09/23	\$6,586.02
Out-of-Tow	n Mileage	
07/19/23	Out-of-Town Mileage – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Mileage; 07/13/23; Attend hearing in Charlotte, NC; From/To: Southwick MA to Bradley; Miles: 14.00	9.17
07/19/23	Out-of-Town Mileage – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Mileage; 07/15/23; Attend hearing in Charlotte, NC; From/To: Bradley to Southwick; Miles: 14.00	9.17
07/31/23	Out-of-Town Mileage – THOMAS J DONLON INVOICE#: 6052484008011721 DATE: 7/19/2023 Expense Reimbursement Charlotte NC Hearing; Mileage; 07/13/23; Travel to White Plains Airport on 7/13 and 7/15 for Hearing, From:: Stamford, CT, USA To:: White Plains Airport (HPN), Miles: 38.35	25.12
07/31/23	Out-of-Town Mileage – MICHAEL R ENRIGHT INVOICE#: 6067876708031329 DATE: 7/26/2023 Expense Reimbursement Client; Mileage; 07/25/23; Mediation in DC re Aldrich; From/To: Portland, CT to BDL; Miles: 66.00	43.23
		\$86.69

Document Page 88 of 136

Robinson+Cole

Page: 28
Date: November 2, 2023
Invoice #: 50433850

Meals		
07/19/23	Meals – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Lunch; 07/13/23; Attend hearing in Charlotte, NC; Guests: Annecca Smith, Natalie Ramsey, Rachel Mauceri, Thomas Donlon	84.88
07/19/23	Meals – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Breakfast; 07/14/23; Attend hearing in Charlotte, NC; Guests: Annecca Smith	11.04
07/19/23	Meals – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Dinner; 07/14/23; Attend hearing in Charlotte, NC; Guests: Annecca Smith, Rachel Mauceri	89.64
07/27/23	Meals – RACHEL MAUCERI INVOICE#: 6062593607271833 DATE: 7/25/2023 Expense Reimbursement CLIENT; Breakfast; 07/14/23; Meal - Aldrich trip; Guests: Rachel Mauceri, Thomas Donlon, Annecca Smith, Natalie Ramsey	34.36
07/27/23	Meals – RACHEL MAUCERI INVOICE#: 6062593607271833 DATE: 7/25/2023 Expense Reimbursement CLIENT; Dinner; 07/14/23; Meal - Aldrich trip; Guests: Rachel Mauceri, Natalie Ramsey, Annecca Smith, Thomas Donlon; External Guests: James (Jim) Wehner - Caplin & Drysdale, Kevin Maclay - Caplin & Drysdale, Todd Phillips - Caplin & Drysdale, Serafina Concannon - Caplin & Drysdale, Jeffrey (Jeff) Liesemer - Caplin & Drysdale, Nathaniel (Nate) Miller - Caplin & Drysdale	490.82
07/31/23	Meals – THOMAS J DONLON INVOICE#: 6052484008011721 DATE: 7/19/2023 Expense Reimbursement Charlotte NC Hearing; Dinner; 07/14/23; Attend Hearing in Charlotte; Guests: Thomas Donlon	38.04
07/31/23	Meals – ANNECCA R. SMITH INVOICE#: 6080438508011721 DATE: 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Dinner; 07/24/23; Attend mediation in Washington DC; Guests: Annecca Smith	94.90
07/31/23	Meals – ANNECCA R. SMITH INVOICE#: 6080438508011721 DATE: 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Dinner; 07/25/23; Attend mediation in Washington DC; Guests: Annecca Smith	57.58
07/31/23	Meals – MICHAEL R ENRIGHT INVOICE#: 6067876708031329 DATE: 7/26/2023 Expense Reimbursement Client; Dinner; 07/24/23; Mediation in DC re Aldrich; Guests: Michael Enright	28.22
Trial Transo	cripts	\$929.48
07/26/23	Trial Transcripts – JANICE RUSSELL; INVOICE#: 231263; DATE: 7/24/2023 - Copy of transcript of hearing held on 07/14/23	514.50 \$514.50
Experts		40 1 1100
07/25/23	Experts – TRIALGRAPHIX INC; INVOICE#: TG26656; DATE: 7/19/2023 - Graphic Consulting services	975.00
		\$975.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Document Page 89 of 136

Federal Express Delivery Charge - Tracking #: 780942605289 Shipment Date:

20230710 Ship to: Katherine Fix, Robinson & Cole LLP, 227 W TRADE ST,

Robinson+Cole

Page: 29
Date: November 2, 2023
Invoice #: 50433850

54.23

Federal Express Delivery Charge

07/10/23

	CHARLOTTE, NC 28202	
Travel: Air/	Rail	\$54.23
07/19/23	Travel: Air/Rail – NATALIE D. RAMSEY INVOICE#: 6049211707191307 DATE: 7/18/2023 Expense Reimbursement CLIENT; Airfare; 07/11/23; Attend July 14, 2023 Aldrich Hearing; From/To: PHL/CLT; Start Date: 07/13/2023; End Date: 07/13/2023	932.90
07/19/23	Travel: Air/Rail – NATALIE D. RAMSEY INVOICE#: 6049211707191307 DATE: 7/18/2023 Expense Reimbursement CLIENT; Airfare; 07/07/23; Attend July 14, 2023 Aldrich Hearing; From/To: CLT/BOS; Start Date: 07/14/2023; End Date: 07/14/2023	516.40
07/19/23	Travel: Air/Rail – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Airfare; 07/10/23; Attend hearing in Charlotte, NC; From/To: Bradley Airport/Charlotte NC/Bradley	714.30

	Airport; Start Date: 07/13/2023; End Date: 07/14/2023	
07/27/23	Travel: Air/Rail – RACHEL MAUCERI INVOICE#: 6062593607271833 DATE:	690.30
	7/25/2023 Expense Reimbursement CLIENT; Airfare; 07/06/23; Round trip flight	
	to BUI /CLT Aldrich trin: From/To: BUI /CLT: Start Data: 07/12/2022: End Data:	

to PHL/CLT - Aldrich trip; From/To: PHL/CLT; Start Date: 07/13/2023; End Date: 07/14/2023

Travel: Air/Rail – NATALIE D. RAMSEY INVOICE#: 6070489407312007 DATE:

07/31/23 Travel: Air/Rail – NATALIE D. RAMSEY INVOICE#: 6070489407312007 DATE: 181.00 7/27/2023 Expense Reimbursement CLIENT; Train; 07/19/23; Aldrich Meeting in Washington, DC; From/To: Wilmington, DE to Washington, DC; Start Date: 07/24/2023: End Date: 07/24/2023

07/31/23 Travel: Air/Rail – NATALIE D. RAMSEY INVOICE#: 6070489407312007 DATE: 101.00 7/27/2023 Expense Reimbursement CLIENT; Train; 07/19/23; Aldrich Meeting in Washington, DC; From/To: Washington, DC to Wilmington, DE; Start Date: 07/25/2023; End Date: 07/25/2023

07/31/23 Travel: Air/Rail – THOMAS J DONLON INVOICE#: 6052484008011721 DATE: 7/19/2023 Expense Reimbursement Charlotte NC Hearing; Airfare; 07/13/23; Travel to Charlotte for hearing; From/To: White Plains Airport to Charlotte; Start

Travel to Charlotte for hearing; From/To: White Plains Airport to Charlotte; Start Date: 07/13/2023; End Date: 07/14/2023

Travel: Air/Rail – ANNECCA R. SMITH INVOICE#: 6080438508011721 DATE:

07/24/2023; End Date: 07/30/2023

07/31/23 Travel: Air/Rail – ANNECCA R. SMITH INVOICE#: 6080438508011721 DATE: 320.22 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Airfare; 07/20/23; Attend mediation in Washington DC; From/To: Hartford/DC/Hartford; Start Date:

07/31/23 Travel: Air/Rail – MICHAEL R ENRIGHT INVOICE#: 6067876708031329 DATE: 7/26/2023 Expense Reimbursement Client; Airfare; 07/20/23; Mediation in DC re Aldrich; From/To: Hartford to DC; Start Date: 07/24/2023; End Date: 07/25/2023

\$4,701.72

657.79

587.81

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 90 of 136

Robinson+Cole

Page: 30
Date: November 2, 2023
Invoice #: 50433850

Travel: Non-Mileage

riavei. Non	· Will Cage	
07/19/23	Travel: Non-Mileage – NATALIE D. RAMSEY INVOICE#: 6049211707191307 DATE: 7/18/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 07/14/23; Attend July 14, 2023 Aldrich Hearing; From/To: Hotel/Airport	73.52
07/19/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 07/14/23; Attend hearing in Charlotte, NC (Cab shared with R. Mauceri and T. Donlon); From/To: Hotel to airport	34.75
07/19/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 07/14/23; Attend hearing in Charlotte, NC; From/To: Airport to hotel	91.60
07/19/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 6046231207191307 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 07/15/23; Attend hearing in Charlotte, NC; From/To: Hotel to airport	86.88
07/27/23	Travel: Non-Mileage – RACHEL MAUCERI INVOICE#: 6062593607271833 DATE: 7/25/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 07/13/23; UBER Charlotte Airport to Hotel - Aldrich trip; From/To: Charlotte Airport to Hotel	24.94
07/27/23	Travel: Non-Mileage – RACHEL MAUCERI INVOICE#: 6062593607271833 DATE: 7/25/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 07/13/23; UBER - Aldrich trip; From/To: Home/Airport	54.43
07/27/23	Travel: Non-Mileage – RACHEL MAUCERI INVOICE#: 6062593607271833 DATE: 7/25/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 07/15/23; TAXI - Aldrich trip; From/To: PHL Airport/Home	169.55
07/31/23	Travel: Non-Mileage – NATALIE D. RAMSEY INVOICE#: 6070489407312007 DATE: 7/27/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 07/24/23; Aldrich Meeting in Washington, DC; From/To: 1400 M Street NW to 3050 K Street NW, Washington, DC	30.88
07/31/23	Travel: Non-Mileage – NATALIE D. RAMSEY INVOICE#: 6070489407312007 DATE: 7/27/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 07/25/23; Aldrich Meeting in Washington, DC; From/To: 1400 M Street NW to 50 MA Avenue NE (Train Station)	43.27
07/31/23	Travel: Non-Mileage – THOMAS J DONLON INVOICE#: 6052484008011721 DATE: 7/19/2023 Expense Reimbursement Charlotte NC Hearing; Taxi/Car Service; 07/13/23; Attend Hearing in Charlotte; From/To: Taxi from airport to hotel	37.80
07/31/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 6080438508011721 DATE: 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 07/24/23; Attend mediation in Washington DC; From/To: Southwick to Bradley	63.00
07/31/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 6080438508011721 DATE: 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 07/24/23; Attend mediation in Washington DC; From/To: Airport to hotel	24.88

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Document

Page 91 of 136

	Document Page 91 of 136	0.4
Rob	Page: Date: Invoice	31 November 2, 2023 #: 50433850
07/31/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 608043850801172 DATE: 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 07/26/23; Attend mediation in Washington DC; From/To: Hotel to E airport (see AM portion of attached receipt)	
07/31/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 608043850801172 DATE: 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 07/30/23; Attend mediation in Washington DC; From/To: Bradley to Southwick, MA	
07/31/23	Travel: Non-Mileage – MICHAEL R ENRIGHT INVOICE#: 60678767080313 DATE: 7/26/2023 Expense Reimbursement Client; Taxi/Car Service; 07/24 Mediation in DC re Aldrich; From/To: DCA to Westin hotel	
07/31/23	Travel: Non-Mileage – MICHAEL R ENRIGHT INVOICE#: 60678767080313 DATE: 7/26/2023 Expense Reimbursement Client; Taxi/Car Service; 07/25 Mediation in DC re Aldrich; From/To: Uber from Westin to DCA	
07/31/23	Travel: Non-Mileage – MICHAEL R ENRIGHT INVOICE#: 60678767080313 DATE: 7/26/2023 Expense Reimbursement Client; Parking; 07/25/23; Med in DC re Aldrich	
Travel: Hot	el/Lodging	\$897.10
07/19/23	Travel: Hotel/Lodging – NATALIE D. RAMSEY INVOICE#: 6049211707191 DATE: 7/18/2023 Expense Reimbursement CLIENT; Lodging; 07/14/23; Al July 14, 2023 Aldrich Hearing; Start Date: 07/12/2023; End Date: 07/14/202	ttend
07/19/23	Travel: Hotel/Lodging – ANNECCA R. SMITH INVOICE#: 60462312071913 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Lodging; 07/13/23; Attend hearing in Charlotte, NC; Start Date: 07/13/2023; End Date: 07/14/2023	304.26
07/19/23	Travel: Hotel/Lodging – ANNECCA R. SMITH INVOICE#: 60462312071913 DATE: 7/17/2023 Expense Reimbursement CLIENT 39062.0001; Lodging; 07/14/23; Attend hearing in Charlotte, NC; Start Date: 07/14/2023; End Date 07/15/2023	
07/27/23	Travel: Hotel/Lodging – RACHEL MAUCERI INVOICE#: 606259360727183 DATE: 7/25/2023 Expense Reimbursement CLIENT; Lodging; 07/14/23; G Bohemian Hotel - Aldrich trip; Start Date: 07/13/2023; End Date: 07/14/2023	rand
07/31/23	Travel: Hotel/Lodging – NATALIE D. RAMSEY INVOICE#: 6070489407312 DATE: 7/27/2023 Expense Reimbursement CLIENT; Lodging; 07/24/23; Al Meeting in Washington, DC; Start Date: 07/24/2023; End Date: 07/25/2023	drich
07/31/23	Travel: Hotel/Lodging – THOMAS J DONLON INVOICE#: 60524840080117 DATE: 7/19/2023 Expense Reimbursement Charlotte NC Hearing; Lodging 07/14/23; 1 night hotel stay for Charlotte Hearing; Start Date: 07/13/2023; EDate: 07/14/2023	721 351.96 J;
07/31/23	Travel: Hotel/Lodging – ANNECCA R. SMITH INVOICE#: 60804385080117 DATE: 8/1/2023 Expense Reimbursement CLIENT 39062.0001; Lodging;	721 530.44

Boston | Hartford | New York | Washington, DC | Providence | Miami | Stamford | Wilmington | Philadelphia | Los Angeles | Albany | rc.com

07/26/23; Attend mediation in Washington DC; Start Date: 07/24/2023; End

Date: 07/26/2023

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 92 of 136

Robinson+Cole

Page: 32
Date: November 2, 2023
Invoice #: 50433850

07/31/23 Travel: Hotel/Lodging – MICHAEL R ENRIGHT INVOICE#: 6067876708031329

DATE: 7/26/2023 Expense Reimbursement Client; Lodging; 07/24/23; Mediation

in DC re Aldrich; Start Date: 07/24/2023; End Date: 07/25/2023

\$3,178.04

245.81

Online Research: Westlaw 234.06

Print Black & White (2,522 pages @ 0.05 / page) 126.10

Scan Black & White (22 pages @ 0.05 / page) 1.10

Relativity External User License Fee 4,010.47

\$22,294.51

Summary for Invoice # 50433850

Aldrich Bankruptcy

Fees for Legal Services \$602,607.50

Disbursements 22,294.51

Total Current Billing For this Matter \$ 624,902.01

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 93 of 136

SCHEDULE A-3

OFFICIAL COMMITTEE OF ASBESTOS CLAIMANTS ATTN: ALLAN TANANBAUM, ESQ. ALDRICH PUMP LLC AND MURRAY BOILER LLC 800-E BEATY STREET DAVIDSON, NC 28036 January 5, 2024 Invoice 50437737

File # 39062.0001 Aldrich Bankruptcy

Invoice Summary and Remittance Advice

Invoice attached and payable upon receipt

Please return this page or include invoice number with your remittance to:

Mailing Instructions
ROBINSON & COLE LLP
280 Trumbull Street
Hartford, CT 06103-3597

TEL # (860) 275-8200 FAX # (860) 275-8299 FEDERAL ID # 06-0512640

Wire Transfer Instructions

Bank of America 185 Asylum Street Hartford, CT 06103

SWIFT Code – BOFAUS3N ABA Wire Routing # - 026009593 ACH/EFT Routing # - 011900571 Checking Account # - 000000154546

SUMMARY FOR INVOICE 50437737

Fees for Legal Services \$ 290,154.50

Disbursements 9,145.98

Total Current Billing For this Matter \$ 299,300.48

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 95 of 136

Robinson+Cole

Page:

January 5, 2024 50437737

Date: Invoice #:

For Services through August 31, 2023

File # 39062.0001 Aldrich Bankruptcy

Summary of Service	s by Task Code		
Task Code	Description	<u>Hours</u>	<u>Amount</u>
OCAC001	CASE ADMIN & BUSNSS OPER-OFFCL CMTEE ASBESTOS	49.5	50,747.50
	CRDTRS		
OCAC006	CLAIMS ADMINISTRATION	12.4	5,117.50
OCAC007	COURT HEARINGS	4.4	4,820.00
OCAC012	LITIGATION & ADVERSARY PROCEEDINGS	209.3	196,280.00
OCAC015	PROFESSIONAL RETENTION & FEE ISSUES	11.7	5,960.00
OCAC016	FEE APPLICATION PREPARATION	31.4	14,520.00
OCAC017	NONWORKING TRAVEL	31.3	12,709.50
		350.0	\$290,154.50

Summary of Services by Professiona	al			
Name	Title	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
M. C. Barber	Associate	13.9	450.00	6,255.00
J. L. Cordani	Partner	0.5	640.00	320.00
J. J. DeForrest	Paralegal	2.0	280.00	560.00
A. A. DePeau	Partner	11.9	355.00	4,224.50
A. A. DePeau	Partner	4.3	710.00	3,053.00
T. J. Donlon	Counsel	1.1	740.00	814.00
M. R. Enright	Partner	22.6	1250.00	28,250.00
K. M. Fix	Partner	3.2	875.00	2,800.00
E. M. Forte	Partner	32.3	1250.00	40,375.00
S. E. Goldman	Partner	0.8	1300.00	1,040.00
J. T. Hardisty	Paralegal	0.6	280.00	168.00
R. J. Mauceri	Partner	14.9	1075.00	16,017.50
A. J. Merkey	Paralegal	0.5	425.00	212.50
R. M. Messina	Associate	0.6	550.00	330.00
N. D. Ramsey	Partner	29.0	1650.00	47,850.00
L. Shaw	Paralegal	17.4	500.00	8,700.00
A. H. Smith	Associate	10.4	275.00	2,860.00
A. H. Smith	Associate	75.4	550.00	41,470.00
S. R. Wilkins	Paralegal	50.3	350.00	17,605.00
D. Wright	Partner	9.0	625.00	5,625.00
D. Wright	Partner	49.3	1250.00	61,625.00
Totals		350.0	-	\$290,154.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Robinson+Cole

Document Page 96 of 136

Page: 3
Date: January 5, 2024
Invoice #: 50437737

Summary of Services by Task Code and Professional

CASE ADMIN & BUSNSS OPER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC001

Name M. R. Enright K. M. Fix S. E. Goldman R. J. Mauceri N. D. Ramsey L. Shaw A. H. Smith S. R. Wilkins D. Wright	Title Partner Partner Partner Partner Partner Partner Partner Paralegal Associate Paralegal Partner	Hours 4.7 1.0 0.3 3.5 13.4 7.9 3.8 7.7 7.2	Rate 1250.00 875.00 1300.00 1075.00 1650.00 500.00 550.00 350.00	Amount 5,875.00 875.00 390.00 3,762.50 22,110.00 3,950.00 2,090.00 2,695.00 9,000.00
		49.5		\$50,747.50
CLAIMS ADMINISTRATION-OCAC006				
Name R. J. Mauceri N. D. Ramsey A. H. Smith S. R. Wilkins	<u>Title</u> Partner Partner Associate Paralegal	Hours 0.3 0.4 0.2 11.5	Rate 1075.00 1650.00 550.00 350.00	Amount 322.50 660.00 110.00 4,025.00
		12.4		\$5,117.50
COURT HEARINGS-OCAC007		12.7		ψ5,117.50
Name A. A. DePeau N. D. Ramsey A. H. Smith D. Wright	Title Partner Partner Associate Partner	Hours 1.0 1.4 1.0 1.0	Rate 710.00 1650.00 550.00 1250.00	Amount 710.00 2,310.00 550.00 1,250.00
		4.4		\$4,820.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main

Document Page 97 of 136

Robinson+Cole

Page: 4
Date: January 5, 2024
Invoice #: 50437737

LITIGATION & ADVERSARY PROCEEDINGS-OCAC012

<u>Name</u>	<u>Title</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
M. C. Barber	Associate	13.9	450.00	6,255.00
J. L. Cordani	Partner	0.5	640.00	320.00
J. J. DeForrest	Paralegal	2.0	280.00	560.00
A. A. DePeau	Partner	3.3	710.00	2,343.00
T. J. Donlon	Counsel	1.1	740.00	814.00
M. R. Enright	Partner	17.9	1250.00	22,375.00
K. M. Fix	Partner	2.2	875.00	1,925.00
E. M. Forte	Partner	32.3	1250.00	40,375.00
S. E. Goldman	Partner	0.5	1300.00	650.00
J. T. Hardisty	Paralegal	0.6	280.00	168.00
R. J. Mauceri	Partner	11.1	1075.00	11,932.50
A. J. Merkey	Paralegal	0.5	425.00	212.50
R. M. Messina	Associate	0.6	550.00	330.00
N. D. Ramsey	Partner	13.8	1650.00	22,770.00
A. H. Smith	Associate	68.1	550.00	37,455.00
S. R. Wilkins	Paralegal	3.7	350.00	1,295.00
D. Wright	Partner	37.2	1250.00	46,500.00
PROFESSIONAL RETENTION & FEE	ISSUES OCACO15	209.3		\$196,280.00
PROFESSIONAL RETENTION & FEE	1930E3-0CAC013			
Name	<u>Title</u>	Hours	<u>Rate</u>	<u>Amount</u>
L. Shaw	Paralegal	9.5	500.00	4,750.00
A. H. Smith	Associate	2.2	550.00	1,210.00
A. H. Offilia	Associate	۷.۷	330.00	1,210.00
	.	11.7	 -	\$5,960.00
FEE APPLICATION PREPARATION-C	CAC016			
Name	Tialo	مستمالا	Doto	A
Name A. H. Smith	<u>Title</u>	Hours 0.4	Rate	Amount
	Associate	0.1	550.00	55.00
S. R. Wilkins	Paralegal	27.4	350.00	9,590.00
D. Wright	Partner	3.9	1250.00	4,875.00
	•	31.4	•••	\$14,520.00
NONWORKING TRAVEL-OCAC017				, , , , , , , , ,
			Б.	
Name	<u>Title</u>	<u>Hours</u>	Rate	Amount
A. A. DePeau	Partner	11.9	355.00	4,224.50
A. H. Smith	Associate	10.4	275.00	2,860.00
D. Wright	Partner	9.0	625.00	5,625.00
		31.3		\$12,709.50
		31.3		ψ12,103.30
		350.0		\$290,154.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 98 of 136

Robinson+Cole

Page: 5
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	Timekeeper	Description	Hours	<u>Rate</u>	Amount
	<u> </u>				<u> </u>
CASE ADM	IN & BUSNSS OPE	ER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC	001		
08/01/23	N. D. Ramsey	Confer with counsel team re status, strategy, work streams (.2); call with D. Wright re same (.7)	0.9	1,650.00	1,485.00
08/01/23	D. Wright	Confer with counsel team re case strategy (.2); call with N. Ramsey re same (.7)	0.9	1,250.00	1,125.00
08/02/23	S. R. Wilkins	Emails with A. Smith re protective orders	0.1	350.00	35.00
08/03/23	L. Shaw	Review docket re updated pleadings, update index re same	1.0	500.00	500.00
08/03/23	S. R. Wilkins	Update calendars (.2); emails with A. Smith re protective orders (.1); update case files re same (.2)	0.5	350.00	175.00
08/03/23	D. Wright	Review case calendar prior to circulation to Committee member representatives	0.2	1,250.00	250.00
08/04/23	N. D. Ramsey	Confer with K. Maclay re status, strategy	1.1	1,650.00	1,815.00
08/04/23	L. Shaw	Review docket re critical dates, update and assemble documents for pleading index	0.5	500.00	250.00
08/07/23	L. Shaw	Review docket, assemble pleadings and update index re same	0.6	500.00	300.00
08/07/23	S. R. Wilkins	Update calendars (.1); update case files (.2)	0.3	350.00	105.00
08/08/23	L. Shaw	Review docket, assemble pleadings and update files	0.8	500.00	400.00
08/09/23	L. Shaw	Review docket, assemble and update pleading index	0.4	500.00	200.00
08/09/23	S. R. Wilkins	Review documents re August 9 hearing and file same (.2); email E. Forte re same (.1); update case files (.3)	0.6	350.00	210.00
08/14/23	N. D. Ramsey	Review mediation communication from Mediators and analyzing same (.2); telephone call with K. Maclay re same (.3); email communication to co-chairs re same (.1); telephone call with D. Wright re same (1.1)	1.7	1,650.00	2,805.00
08/14/23	L. Shaw	Review docket re pleadings filed, assemble same and update files	0.6	500.00	300.00
08/14/23	D. Wright	Telephone call with N. Ramsey mediation communications (1.1); review potential mediation paths document from Mediators (.2)	1.3	1,250.00	1,625.00
08/15/23	R. J. Mauceri	Confer with D. Wright re case status	0.2	1,075.00	215.00
08/15/23	N. D. Ramsey	Participate in counsel team strategy call (.1); confer with D. Wright re case status (.1)	0.2	1,650.00	330.00
08/15/23	L. Shaw	Review docket re pleadings file, assemble same and update index and files	0.5	500.00	250.00
08/15/23	A. H. Smith	Email S. Leineek (Verus) and S. Wilkins re case protective order	0.1	550.00	55.00
08/15/23	S. R. Wilkins	Update case files	0.2	350.00	70.00
08/15/23	D. Wright	Confer with R. Mauceri re case status (.2);	0.3	1,250.00	375.00

Boston | Hartford | New York | Washington, DC | Providence | Miami | Stamford | Wilmington | Philadelphia | Los Angeles | Albany | rc.com

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 99 of 136

Robinson+Cole

Page: 6
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u> confer with N. Ramsey re case status (.1)	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/17/23	L. Shaw	Review docket, assemble pleadings and update index re same	0.4	500.00	200.00
08/21/23	N. D. Ramsey	Multiple telephone calls with K. Maclay re mediation	0.7	1,650.00	1,155.00
08/21/23	S. R. Wilkins	Update calendars re amended estimation CMO (.3); email A. Smith re same (.1); update case files (.3)	0.7	350.00	245.00
08/22/23	M. R. Enright	Review communication and analyze proposed mediation path from Mediators (.3); emails with Committee member representatives re same (.3)	0.6	1,250.00	750.00
08/22/23	S. E. Goldman	Confer with C. Hardman, C. Calvar, D. Meier, N. Ramsey, D. Wright, T. Phillips, J. Wehner, and G. Thompson re case status, strategy	0.2	1,300.00	260.00
08/22/23	N. D. Ramsey	Confer with C. Hardman, C. Calvar, D. Meier, S. Goldman, D. Wright, T. Phillips, J. Wehner, and G. Thompson re case status, strategy (.2); telephone calls with K. Maclay re mediation (.3); multiple communications among Committee representatives re mediation strategy (.7); telephone call with Committee representative re same (.7)	1.9	1,650.00	3,135.00
08/22/23	D. Wright	Confer with C. Hardman, C. Calvar, D. Meier, S. Goldman, N. Ramsey, T. Phillips, J. Wehner, and G. Thompson re case status, strategy	0.2	1,250.00	250.00
08/23/23	L. Shaw	Review docket re pleadings filed, update index and assemble same for files	0.3	500.00	150.00
08/23/23	A. H. Smith	Email N. Ramsey and D. Wright re mediation	0.1	550.00	55.00
08/25/23	K. M. Fix	Confer with A. Smith re case management (.8); confer with D. Wright re same (.2)	1.0	875.00	875.00
08/25/23	A. H. Smith	Confer with K. Fix re case management (.8); confer with S. Wilkins re case calendar management (.5); email support staff re updating same (.3)	1.6	550.00	880.00
08/25/23	S. R. Wilkins	Confer with A. Smith re case calendar management	0.5	350.00	175.00
08/25/23 08/28/23	D. Wright M. R. Enright	Confer with K. Fix re case status Review Mediators' communications re path forward in preparation for call with Committee (.2); review list of items for counter from Committee member representative (.1)	0.2 0.3	1,250.00 1,250.00	250.00 375.00
08/28/23 08/28/23	M. R. Enright R. J. Mauceri	Attend Committee meeting Attend Committee meeting (1.3); review notes re same (.2); confer with D. Wright re same (.2)	1.3 1.7	1,250.00 1,075.00	1,625.00 1,827.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 100 of 136

Robinson+Cole

Page: 7
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u> 08/28/23	<u>Timekeeper</u> N. D. Ramsey	Description Prepare for (.4); participate in pre- Committee meeting with Committee Chairs and counsel (.5); confer with D. Wright to prepare for Committee call (.7) and attend (1.3) Committee meeting; follow up	Hours 3.5	<u>Rate</u> 1,650.00	<u>Amount</u> 5,775.00
08/28/23	L. Shaw	conference with K. Maclay (.6) Review docket re critical dates and pleadings, assemble same and update index	0.3	500.00	150.00
08/28/23 08/28/23	A. H. Smith S. R. Wilkins	Attend Committee meeting Attend Committee meeting (1.3); proof notes from Committee call (.3); circulate same (.1)	1.3 1.7	550.00 350.00	715.00 595.00
08/28/23	D. Wright	Attend Committee meeting (1.3); confer with R. Mauceri re same (.2); confer with N. Ramsey to prepare for Committee call (.7)	2.2	1,250.00	2,750.00
08/29/23	M. R. Enright	Review certain tracked bankruptcy case filings (.7); review mediation counterproposal outline from Committee member representative (.2); emails from Committee member representatives re same (.2)	1.1	1,250.00	1,375.00
08/29/23	R. J. Mauceri	Review Committee member representative's emails re mediation	0.4	1,075.00	430.00
08/29/23	N. D. Ramsey	Review communications among Committee members, counsel re mediation	0.7	1,650.00	1,155.00
08/29/23	L. Shaw	Review docket re orders granted, withdrawal notice and withdrawal of claims (.1); review same (.7); assemble same (.9), and update index (.8)	2.5	500.00	1,250.00
08/30/23	M. R. Enright	Emails with Committee member representatives and A. Smith re mediation issues	0.4	1,250.00	500.00
08/30/23	N. D. Ramsey	Prepare for August 31 mediation session, including reviewing expert materials	0.8	1,650.00	1,320.00
08/30/23	S. R. Wilkins	Email A. Smith re mediation meeting (.1);	0.5	350.00	175.00
08/31/23	M. R. Enright	update case files re same (.4) Confer with Mediator, counsel team, and Committee member representatives re mediation	1.0	1,250.00	1,250.00
08/31/23 08/31/23	S. E. Goldman R. J. Mauceri	Confer with N. Ramsey re mediation Confer with Mediator, counsel team, and Committee member representatives re mediation (1.0); confer with D. Wright re	0.1 1.2	1,300.00 1,075.00	130.00 1,290.00
08/31/23	N. D. Ramsey	case status (.2) Confer with Mediator, counsel team and Committee member representatives re mediation (1.0); calls with K. Maclay re same (.4); confer with S. Goldman re same (.1); confer with D. Wright re same (.4)	1.9	1,650.00	3,135.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 101 of 136

Robinson+Cole

Page: 8
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u> 08/31/23	Timekeeper A. H. Smith	Description Confer with Mediator, counsel team, and Committee member representatives re mediation (partial) (.5); email (multiple) S. Wilkins re case management and scheduling matters (.2)	Hours 0.7	<u>Rate</u> 550.00	<u>Amount</u> 385.00
08/31/23	S. R. Wilkins	Confer with Mediator, counsel team, and Committee member representatives re mediation (1.0); follow-up emails re same (.3); draft notes re same (.8); email A. Smith re same (.1); update case files (.4)	2.6	350.00	910.00
08/31/23	D. Wright	Confer with Mediator, counsel team and Committee member representatives re mediation (1.0); confer with R. Mauceri re case status (.2); confer with N. Ramsey re mediation (.4); review emails from committee member representatives re mediation path (.3)	1.9	1,250.00	2,375.00
			49.5		\$50,747.50
CLAIMS AD	MINISTRATION-O	CAC006			
08/05/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC (1.2); email A. Smith re same (.1)	1.3	350.00	455.00
08/07/23	S. R. Wilkins	Email A. Smith (multiple) re proof of claims correspondence	0.3	350.00	105.00
08/08/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC (1.5); email A. Smith re same (.1)	1.6	350.00	560.00
08/09/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC (1.8); email A. Smith and M. Barber re same (.1)	1.9	350.00	665.00
08/10/23	S. R. Wilkins	Review proof of claim correspondence from Debtor to Claimant firms (.4); email A. Smith re same (.1)	0.5	350.00	175.00
08/11/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC (.3); email A. Smith re same (.1)	0.4	350.00	140.00
08/14/23	S. R. Wilkins	Review Debtors' correspondence re proofs	0.3	350.00	105.00
08/15/23	S. R. Wilkins	of claim (.2); email A. Smith re same (.1) Review and summarize Debtors' letters to Claimant firms re PIQ and POC (.6); email A. Smith re same (.1)	0.7	350.00	245.00
08/17/23	S. R. Wilkins	Emails (multiple) with E. Gillen re Debtors correspondence re POCs (.2); review and summarize same (.6); email A. Smith re same (.1)	0.9	350.00	315.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 102 of 136

Robinson+Cole

Page: 9
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u> 08/23/23	<u>Timekeeper</u> S. R. Wilkins	Description Review and summarize Debtors' letters to Claimant firms re PIQ and POC (.3); email	Hours 0.5	<u>Rate</u> 350.00	<u>Amount</u> 175.00
08/25/23	N. D. Ramsey	A. Smith (multiple) re same (.2) Review POC communications between Debtors, Claimants	0.4	1,650.00	660.00
08/25/23	S. R. Wilkins	Emails to A. Smith re Debtors' letters to Claimant firms re POCs	0.2	350.00	70.00
08/25/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC (.6); email A. Smith (multiple) re same (.3)	0.9	350.00	315.00
08/28/23	R. J. Mauceri	Review correspondence from Claimant firms (.2); email A. Smith re same (.1)	0.3	1,075.00	322.50
08/28/23	A. H. Smith	Email R. Mauceri re updated PIQ correspondence from Debtors to claimants	0.2	550.00	110.00
08/28/23	S. R. Wilkins	Email A. Smith (multiple) re Debtors' letters to Claimant firms re PIQ and POC	0.2	350.00	70.00
08/29/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC (.7); email A. Smith (multiple) re same (.3)	1.0	350.00	350.00
08/30/23	S. R. Wilkins	Email A. Smith re POC correspondence from Debtor	0.1	350.00	35.00
08/31/23	S. R. Wilkins	Review and summarize POC correspondence from Debtors to Claimant firms (.5); email A. Smith (multiple) re same	0.7	350.00	245.00
		(.2)			
		(.2)	12.4		\$5.117.50
		(.2)	12.4		\$5,117.50
COURT HE	ARINGS-OCAC007	-	12.4		\$5,117.50
08/09/23	A. A. DePeau	Attend hearing	1.0	710.00	710.00
08/09/23 08/09/23	A. A. DePeau N. D. Ramsey	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically)		1,650.00	
08/09/23 08/09/23 08/09/23	A. A. DePeau N. D. Ramsey A. H. Smith	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically) Attend hearing	1.0 1.4 1.0	1,650.00 550.00	710.00 2,310.00 550.00
08/09/23 08/09/23	A. A. DePeau N. D. Ramsey	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically) Attend hearing Attend hearing	1.0 1.4	1,650.00	710.00 2,310.00 550.00 1,250.00
08/09/23 08/09/23 08/09/23	A. A. DePeau N. D. Ramsey A. H. Smith	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically) Attend hearing Attend hearing	1.0 1.4 1.0 1.0	1,650.00 550.00	710.00 2,310.00 550.00
08/09/23 08/09/23 08/09/23 08/09/23	A. A. DePeau N. D. Ramsey A. H. Smith D. Wright	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically) Attend hearing Attend hearing	1.0 1.4 1.0 1.0	1,650.00 550.00	710.00 2,310.00 550.00 1,250.00
08/09/23 08/09/23 08/09/23 08/09/23	A. A. DePeau N. D. Ramsey A. H. Smith D. Wright	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically) Attend hearing Attend hearing	1.0 1.4 1.0 1.0	1,650.00 550.00	710.00 2,310.00 550.00 1,250.00
08/09/23 08/09/23 08/09/23 08/09/23	A. A. DePeau N. D. Ramsey A. H. Smith D. Wright	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically) Attend hearing Attend hearing PROCEEDINGS-OCAC012 Research appellate procedures Confer with D. Wright re comparison assignment re adversary proceeding	1.0 1.4 1.0 1.0	1,650.00 550.00 1,250.00 	710.00 2,310.00 550.00 1,250.00 \$4,820.00
08/09/23 08/09/23 08/09/23 08/09/23 LITIGATION 08/01/23	A. A. DePeau N. D. Ramsey A. H. Smith D. Wright N & ADVERSARY F M. C. Barber	Attend hearing Prepare for (.4) and participate in (1.0) omnibus hearing (telephonically) Attend hearing Attend hearing PROCEEDINGS-OCAC012 Research appellate procedures Confer with D. Wright re comparison	1.0 1.4 1.0 1.0 4.4	1,650.00 550.00 1,250.00 	710.00 2,310.00 550.00 1,250.00 \$4,820.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 103 of 136

Robinson+Cole

Page: 10
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	Timekeeper	Description	<u>Hours</u>	<u>Rate</u>	Amount
08/01/23	A. H. Smith	Review existing Debtor document	5.0	550.00	2,750.00
		productions (1.9); draft memorandum re			
		same (3.1)			
08/01/23	D. Wright	Review draft proposed substantive	2.6	1,250.00	3,250.00
		consolidation RFPs (1.3) and			
		Interrogatories (.9); confer with K. Fix re			
		comparison assignment re adversary proceeding discovery (.4)			
08/02/23	M. C. Barber	Review relevant pleadings in parallel case	1.8	450.00	810.00
00/02/23	W. C. Darber	re potential litigation motion	1.0	430.00	010.00
08/02/23	M. R. Enright	Review revised memorandum re specific	1.7	1,250.00	2,125.00
00/02/20	·····g···	estimation-related litigation issue and	•••	1,200.00	2,120.00
		further edit same (1.2); review new decision			
		re scope of bankruptcy court's power (.5)			
08/02/23	E. M. Forte	Additional research and revising of specific	4.1	1,250.00	5,125.00
		estimation-related litigation issue			
		memorandum			
08/02/23	J. T. Hardisty	Assist case team with document review and	0.3	280.00	84.00
		production of client files			
08/02/23	A. H. Smith	Email (multiple) Inseyet re Debtors'	0.5	550.00	275.00
		estimation productions (.3); email S. Wilkins			
08/02/23	D. Wright	re same (.2) Review certain documents previously	2.9	1,250.00	3,625.00
00/02/23	D. Wright	produced by Debtors re estimation (1.2);	2.9	1,230.00	3,025.00
		review Debtors estimation related discovery			
		responses and compare to discovery			
		received (1.7)			
08/03/23	M. C. Barber	Research re potential litigation motion (1.8);	4.9	450.00	2,205.00
		draft same (3.1)			
08/03/23	J. J. DeForrest	Assist legal team with review and	1.1	280.00	308.00
		production of case data			
08/03/23	M. R. Enright	Confer with E. Forte re analysis of specific	4.1	1,250.00	5,125.00
		estimation-related litigation issues and			
		content for memorandum re same (.6);			
		review additional case law from E. Forte (.6); email to E. Forte re same (.1); review			
		prior communications re meet and confer			
		discussions re sampling and discovery in			
		preparation for further meet and confer re			
		same (.8); confer with N. Ramsey, D.			
		Wright, A. Smith, J. Wehner (partial), and J.			
		Koski re estimation sampling protocol (.9);			
		review proposed draft revisions to sampling			
		protocol (.2); follow up email to N. Ramsey,			
		D. Wright, J. Wehner and A. Smith re same			
		(.2); attend meet and confer with N.			
		Ramsey, D. Wright, R. Mauceri, A. Smith,			
		R. Cox, J. Wehner, J. Koski, B. Erens, M. Hirst, M. Evert, J. Guy, and D. Felder re			
		estimation sampling (.4); emails with N.			
		Jamilation camping (17), ornano mariti			

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 104 of 136

Robinson+Cole

Page: 11
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/03/23	E. M. Forte	Ramsey, J. Wehner and A. Smith re draft proposal with revisions (.3) Confer with M. Enright re analysis of specific estimation-related litigation issues	3.1	1,250.00	3,875.00
08/03/23	R. J. Mauceri	and content for memorandum re same (.6); additional research re same (2.5) Attend meet and confer with N. Ramsey, D. Wright, M. Enright, A. Smith, R. Cox, J. Wehner, J. Koski, B. Erens, M. Hirst, M. Evert, J. Guy, and D. Felder re estimation	1.3	1,075.00	1,397.50
08/03/23	N. D. Ramsey	sampling (.4); confer with D. Wright re sample and discovery issues (.2); emails N. Ramsey, M. Enright, D. Wright, A. Smith, J. Wehner, J. Koski re same (.7) Confer with D. Wright, M. Enright, A. Smith, J. Wehner (partial), and J. Koski re estimation sampling protocol (.9); attend meet and confer with D. Wright, M. Enright, R. Mauceri, A. Smith, R. Cox, J. Wehner, J. Koski, B. Erens, M. Hirst, M. Evert, J. Guy,	4.2	1,650.00	6,930.00
		and D. Felder re estimation sampling (.4); emails with M. Enright, J. Wehner and A. Smith re draft proposal with revisions (.3); draft proposed revisions and communication to Debtors (.9); analysis of specific estimation-related litigation issue (1.7)			
08/03/23	A. H. Smith	Review and update claim analysis tracking (1.5); email D. Wright re same (.1); email S. Leineek re Verus PIQ review next steps (.1); confer with J. DeForrest re Debtor estimation production to date (.2); confer with N. Ramsey, D. Wright, M. Enright, J. Wehner (partial), and J. Koski re estimation sampling protocol (.9); attend meet and confer with N. Ramsey, D. Wright, M. Enright, R. Mauceri, R. Cox, J. Wehner, J. Koski, B. Erens, M. Hirst, M. Evert, J. Guy, and D. Felder re estimation CMO and sampling (.4)	3.3	550.00	1,815.00
08/03/23	S. R. Wilkins	Coordinate document production upload to Relativity (.4); review same (.4); research re same (.5); email N. Ramsey and L. Krepto (2x) re same (.2)	1.5	350.00	525.00
08/03/23	D. Wright	Confer with N. Ramsey, M. Enright, A. Smith, J. Wehner (partial), and J. Koski re estimation sampling protocol (.9); attend meet and confer with N. Ramsey, M. Enright, R. Mauceri, A. Smith, R. Cox, J. Wehner, J. Koski, B. Erens, M. Hirst, M.	3.7	1,250.00	4,625.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 105 of 136

Robinson+Cole

Page: 12
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	<u>Timekeeper</u>	Description Evert, J. Guy, and D. Felder re estimation sampling (.4); confer with R. Mauceri re sample and discovery issues (.2); review proposed sample agreement and comment on same (.3); review comparison of claims withdrawals and analyze for estimation proceeding (.9); emails among counsel team re proposed estimation sample agreement (.3); review final designations and counter-designations for Tananbaum deposition (.7)	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/04/23	M. C. Barber	Emails with A. Smith re potential litigation pleading (.3); review supporting materials for same (5.7)	6.0	450.00	2,700.00
08/04/23	M. R. Enright	Follow up emails with E. Forte and R. Messina re additional cases for consideration in estimation-related litigation issue memorandum and related issues (.6); review publicly available information re same (1.1)	1.7	1,250.00	2,125.00
08/04/23	E. M. Forte	Continue analysis of case law for consideration in estimation-related litigation issue memorandum	4.1	1,250.00	5,125.00
08/04/23	A. H. Smith	Review and revise (1.1) and respond (.2) to correspondence from M. Barber re litigation pleading	1.3	550.00	715.00
08/04/23	D. Wright	Review and analyze Debtors' reply in support of motion to withdraw derivative standing	0.9	1,250.00	1,125.00
08/07/23	A. A. DePeau	Review reply brief to motion to withdraw derivative standing (.9); confer with A. Smith re same (.2); review motion to withdraw derivative standing briefing in advance of hearing (.7)	1.8	710.00	1,278.00
08/07/23	M. R. Enright	Review reply of Debtors re withdrawal motion (.3); review and comment on proposed revisions to sampling protocol (1.1); confer with N. Ramsey (.4), N. Ramsey, J. Wehner and K. Zendeh (.3) re same; email from K. Zendeh re same (.1)	2.2	1,250.00	2,750.00
08/07/23	K. M. Fix	Email from A. Smith re Debtors reply in support of withdrawing derivative standing (.2); review portion of reply (.4); confer with A. Smith re PIQ and POC review and data processing (.4)	1.0	875.00	875.00
08/07/23	E. M. Forte	Research specific question re estimation proceeding (2.1); revise memorandum addressing research topic (1.9)	4.0	1,250.00	5,000.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 106 of 136

Robinson+Cole

Page: 13
Date: January 5, 2024
Invoice #: 50437737

Б.,	-	5		Б. (
<u>Date</u> 08/07/23	<u>Timekeeper</u> R. J. Mauceri	<u>Description</u> Emails with N. Ramsey, M. Enright, D. Wright, A. Smith, J. Koski, J. Wehner, K. Zendeh re sampling	Hours 1.2	<u>Rate</u> 1,075.00	<u>Amount</u> 1,290.00
08/07/23	N. D. Ramsey	Review and revise proposed revisions to sampling protocol (1.6); confer with M. Enright (.4), M. Enright, J. Wehner and K. Zendeh (.3) re same; telephone call to M. Evert (.1); review communication from expert re same (.3)	2.7	1,650.00	4,455.00
08/07/23	A. H. Smith	Analyze filings re Debtors' motion to withdraw derivative standing (.5); confer with A. DePeau re same (.2); draft memorandum re same (.7); confer with M. Eveland, J. Gassman, S. Leineek, P. Ebener, and M. Totten re PIQ review (.7); confer with K. Fix re PIQ and POC review and data processing (.4); email T. Donlon re matters for August 9 hearing (.1); review recent Debtor correspondence re claimant PIQs and POCs (.3); email S. Wilkins re same (.1); email C. Maisano re same (.1)	3.1	550.00	1,705.00
08/07/23	S. R. Wilkins	Prepare materials for hearing on August 9 (.5); circulate same (.1)	0.6	350.00	210.00
08/07/23	D. Wright	Revise Aldrich estimation sample document (.6); review report on certain claimants from LAS (.8); multiple emails with J. Wehner, K. Zendeh, R. Mauceri, M. Enright, and N. Ramsey re estimation sample proposal (.5); review hearing materials for upcoming hearing (.8)	2.7	1,250.00	3,375.00
08/08/23	A. A. DePeau	Confer with D. Neier, C. Calvar, D. Wright, and A. Smith re hearing (.8)	0.8	710.00	568.00
08/08/23 08/08/23	T. J. Donlon E. M. Forte	Email with A. Smith re hearing Review, analysis of specific topic question re estimation proceeding (2.4); revise memorandum addressing research topic (1.3); email M. Enright and R. Messina re same (.4); review agenda for upcoming hearing (.1)	0.3 4.2	740.00 1,250.00	222.00 5,250.00
08/08/23	R. J. Mauceri	Emails with N. Ramsey, K. Zendeh re language re sampling	0.2	1,075.00	215.00
08/08/23	N. D. Ramsey	Telephone calls (detailed voice mail messages) re estimation sample agreement (.1); telephone call with D. Wright re hearing preparation (.2); confer with J. Wehner re sample issue (.1)	0.4	1,650.00	660.00
08/08/23	A. H. Smith	Email S. Wilkins re PIQ- and POC-related correspondence from Debtors (.1); confer with D. Neier, C. Calvar, A. DePeau, and D. Wright re hearing (.8)	0.9	550.00	495.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 107 of 136

Robinson+Cole

Page: 14
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u> 08/08/23	<u>Timekeeper</u> D. Wright	Description Confer with N. Ramsey re hearing strategy (.2); review email from A. Merkey re estimation-related research (.2); email to team re production update (.2); review correspondence from Debtors to Plaintiffs law firms re PIQ completion (.5); prepare for hearing (.7); confer with D. Neier, C. Calvar, A. DePeau, and A. Smith re hearing (.8)	Hours 2.6	<u>Rate</u> 1,250.00	<u>Amount</u> 3,250.00
08/09/23	J. J. DeForrest	Assist legal team with review and production of case data	0.1	280.00	28.00
08/09/23	T. J. Donlon	Email with A. Smith re certification	0.3	740.00	222.00
08/09/23	M. R. Enright	Review revised specific estimation-related litigation issue memorandum (.3); confer with R. Messina and E. Forte re further revisions to same (.3); review additional precedent from R. Messina's research (.5)	1.1	1,250.00	1,375.00
08/09/23	K. M. Fix	Review and send relevant transcript to D. Wright	0.2	875.00	175.00
08/09/23	E. M. Forte	Email to M. Enright and R. Messina re specific estimation-related litigation memorandum (.3); continue to draft of specific section of same (3.3); confer with R. Messina and M. Enright re further revisions to same (.3)	3.9	1,250.00	4,875.00
08/09/23	R. J. Mauceri	Confer with D. Wright (.2), N. Ramsey (.4) re hearing, next steps	0.6	1,075.00	645.00
08/09/23	R. M. Messina	Confer with co-counsel re PIQ (.1); correspondence to A. Smith re same (.2); confer with M. Enright and E. Forte re further revisions to memorandum (.3)	0.6	550.00	330.00
08/09/23	N. D. Ramsey	Confer with R. Mauceri re hearing, next steps	0.4	1,650.00	660.00
08/09/23	A. H. Smith	Analyze PIQs (1.9); confer (multiple) with J. Koski re same (.4); email J. Koski re same (.1); email J. Gassman (Verus) re same (.1)	2.5	550.00	1,375.00
08/09/23	D. Wright	Confer with R. Mauceri re hearing, next steps (.2); prepare for hearing (.4); review additional proposed revisions to SubCon and Adversary draft proposed discovery requests (.7)	1.3	1,250.00	1,625.00
08/10/23	J. J. DeForrest	Assist legal team with review and production of case data	0.5	280.00	140.00
08/10/23	M. R. Enright	Review further draft revisions to specific estimation-related litigation issue memoranda and revise same (.5); emails with R. Messina and E. Forte re same (.2); review portions of 8/9 hearing transcript (.3)	1.0	1,250.00	1,250.00
08/10/23	N. D. Ramsey	Review and analyze memorandum re estimation-related litigation issue	0.5	1,650.00	825.00
08/10/23	A. H. Smith	Review PIQ submissions	4.5	550.00	2,475.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 108 of 136

Robinson+Cole

Page: 15
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/11/23	M. C. Barber	Confer with A. Smith re litigation motion	0.4	450.00	180.00
08/11/23	J. J. DeForrest	Assist legal team with review and production of case data	0.3	280.00	84.00
08/11/23	T. J. Donlon	Review email from A. Smith (.1); review	0.5	740.00	370.00
00/11/23	1. J. Domon	hearing transcript (.4)	0.5	740.00	370.00
08/11/23	J. T. Hardisty	Assist case team with document review of	0.3	280.00	84.00
00/11/20	o. T. Haraloty	transcripts	0.0	200.00	01.00
08/11/23	N. D. Ramsey	Review supplemental submission re	0.2	1,650.00	330.00
00,, _0	21110	Claimant's motion to dismiss	V. <u>–</u>	.,000.00	000.00
08/11/23	A. H. Smith	Revise potential litigation motion (4.4);	5.1	550.00	2,805.00
		confer with M. Barber re same (.4); email J.			•
		DeForrest (multiple) re PIQ review and			
		upload (.2); email T. Donlon re August 9			
		hearing analysis (.1)			
08/11/23	S. R. Wilkins	Email A. Smith re supplemental authorities	0.5	350.00	175.00
		(.1); update hearing chart re same (.1);			
		review transcript re August 9 hearing (.2);			
00/44/00	D Wright	circulate same (.1)	0.7	1 250 00	875.00
08/11/23	D. Wright	Review Claimant's supplement to motion to dismiss and exhibits	0.7	1,250.00	675.00
08/14/23	E. M. Forte	Final review of specific estimation-related	4.1	1,250.00	5,125.00
00/14/23	L. IVI. I OILE	litigation memorandum (.6); review	7.1	1,230.00	3,123.00
		supplement to motion to dismiss filed by			
		certain Claimant (.4); review, analysis of			
		transcript-arguments on Debtors' recent			
		motion to withdraw standing based on			
		judicial estoppel and other arguments (3.1)			
08/14/23	R. J. Mauceri	Confer with D. Wright re status,	0.4	1,075.00	430.00
		workstreams			
08/14/23	N. D. Ramsey	Review supplemental motion to dismiss	0.4	1,650.00	660.00
		submission (.2); email correspondence with			
		K. Maclay, T. Phillips, and D. Wright re			
00/4 4/00	A 11 O:4b	same (.2)	4.0	550.00	745.00
08/14/23 08/14/23	A. H. Smith	Revise potential litigation motion	1.3	550.00	715.00
06/14/23	D. Wright	Confer with R. Mauceri re status, workstreams (.4); email correspondence	1.8	1,250.00	2,250.00
		with K. Maclay, T. Phillips, and N. Ramsey			
		re supplemental motion to dismiss			
		submission (.2); review email from C. Calvar			
		to Non-Debtor Affiliates re privilege log			
		issues (.1); review open estimation			
		discovery issues and formulate review			
		strategy (1.1)			
08/15/23	A. A. DePeau	Attend call with co-counsel re strategy	0.1	710.00	71.00
08/15/23	N. D. Ramsey	Review and revise potential motion	2.0	1,650.00	3,300.00
08/15/23	A. H. Smith	Email M. Totten re PIQ data clarifications	1.6	550.00	880.00
00/45/00	D. W.C.L.	(.1); revise litigation motion (1.5)	2.4	4.050.00	105.00
08/15/23	D. Wright	Attend call with co-counsel re strategy	0.1	1,250.00	125.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 109 of 136

Robinson+Cole

Page: 16
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u> 08/16/23	Timekeeper A. H. Smith	<u>Description</u> Revise litigation motion (1.1); email D. Wright, R. Mauceri, and M. Barber re same	Hours 1.2	<u>Rate</u> 550.00	<u>Amount</u> 660.00
08/16/23	D. Wright	(.1) Review draft appellate pleading and	3.3	1,250.00	4,125.00
08/17/23	K. M. Fix	comment on same (1.4); review case law cited in draft appellate pleading (1.9) Confer with D. Wright re motion to dismiss	0.2	875.00	175.00
		and potential ruling			
08/17/23	R. J. Mauceri	Review A. Smith memorandum re productions	0.3	1,075.00	322.50
08/17/23	A. J. Merkey	Research historical filings in connection with open project from N. Ramsey, revise memorandum re same	0.3	425.00	127.50
08/17/23	N. D. Ramsey	Review memorandum re discovery productions	0.8	1,650.00	1,320.00
08/17/23	A. H. Smith	Review Debtors-produced estimation documents (1.8); update memorandum re same (.9); email N. Ramsey and D. Wright re PIQ data (.2)	2.9	550.00	1,595.00
08/17/23 08/17/23	S. R. Wilkins D. Wright	Email A. Smith re privilege log deadlines Confer with K. Fix re motion to dismiss and potential ruling (.2); review memorandum from A. Smith re productions (.2); review revisions to draft discovery requests to Debtor in sub con and adversary	0.1 1.1	350.00 1,250.00	35.00 1,375.00
08/18/23	M. R. Enright	proceedings (.7) Review memorandum summarizing Debtors' discovery productions to date	0.2	1,250.00	250.00
08/21/23	J. L. Cordani	Confer with D. Wright, R. Mauceri, M. Enright, S. Goldman, A. DePeau, A. Smith, and S. Wilkins re case strategy	0.5	640.00	320.00
08/21/23	A. A. DePeau	Confer with D. Wright, R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. Smith,	0.5	710.00	355.00
08/21/23	M. R. Enright	and S. Wilkins re case strategy Confer with D. Wright, R. Mauceri, S. Goldman, J. Cordani, A. DePeau, A. Smith, and S. Wilkins re case strategy (.5); review email from J. Wehner and forwarded meet and confer requests from Jones Day re PIQ responses (.3); review form of PIQ and order authorizing re same (.3); respond to A. Smith, D. Wright and N. Ramsey re same (.2)	1.3	1,250.00	1,625.00
08/21/23	S. E. Goldman	Confer with D. Wright, R. Mauceri, M. Enright, J. Cordani, A. DePeau, A. Smith,	0.5	1,300.00	650.00
08/21/23	R. J. Mauceri	and S. Wilkins re case strategy Confer with A. Smith re open items (.2); confer with D. Wright, M. Enright, S. Goldman, J. Cordani, A. DePeau, A. Smith, and S. Wilkins re case strategy (.5); emails	1.2	1,075.00	1,290.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 110 of 136

Robinson+Cole

Page: 17
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u> with N. Ramsey, M. Enright, D. Wright, A. Smith re PIQ issue (.5)	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/21/23	A. H. Smith	Confer with D. Wright, R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. DePeau, and S. Wilkins re case strategy (.5); confer with S. Leineek, M. Iverson, J. Gassman, M. Eveland, and P. Ebener re PIQ analysis (.5); confer with R. Mauceri re same (.2); review preliminary injunction discovery productions re use in estimation (4.8); correspondence with N. Ramsey, D. Wright, M. Enright, and R. Mauceri re Debtor communications concerning PIQs (.3); analyze same (2.1)	8.4	550.00	4,620.00
08/21/23	S. R. Wilkins	Confer with D. Wright, R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. DePeau, and A. Smith re case strategy (.5); draft memorandum re same (.4); email follow-up information to team re same (.1)	1.0	350.00	350.00
08/21/23	D. Wright	Confer with R. Mauceri, M. Enright, S. Goldman, J. Cordani, A. DePeau, A. Smith, and S. Wilkins re case strategy (.5); correspondence with N. Ramsey, A. Smith, M. Enright, and R. Mauceri re Debtor communications concerning PIQs (.3); review email from J. Wehner re Debtor Communications on completeness of PIQ answers (.2); review exemplar letters identified in connection with PIQ communications (1.2)	2.2	1,250.00	2,750.00
08/22/23	R. J. Mauceri	Confer with A. Smith re PIQ issue (.2); emails with D. Wright, A. Smith re same (.2); review chart (.1)	0.5	1,075.00	537.50
08/22/23	A. H. Smith	Further review Debtors correspondence to claimant law firms re PIQ deficiencies (.8); confer with R. Mauceri re same (.2); email R. Mauceri re same (.1)	1.1	550.00	605.00
08/22/23	D. Wright	Continue analyzing identified Debtors' letters re PIQ completeness (.8); review PIQ order and POC order (.3); outline potential response to subpoenas (.3); review briefing in tracked bankruptcy case Supreme Court petitions and analyze implications for 524(g) relief in present case (.9)	2.3	1,250.00	2,875.00
08/23/23	M. R. Enright	Review new decision in tracked bankruptcy case	0.3	1,250.00	375.00
08/23/23 08/23/23	K. M. Fix A. J. Merkey	Emails with A. Smith re interim applications Research historical filings in connection with open project from N. Ramsey, revise summary for same	0.2 0.2	875.00 425.00	175.00 85.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 111 of 136

Robinson+Cole

Page: 18
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u> 08/23/23	Timekeeper A. H. Smith	<u>Description</u> Review Debtors' PI production for relevance to estimation (4.2); draft correspondence to	Hours 5.0	<u>Rate</u> 550.00	<u>Amount</u> 2,750.00
		opposing counsel re PIQ process (.7); email R. Mauceri re same (.1)			
08/23/23	D. Wright	Review and comment on draft document review memorandum	1.2	1,250.00	1,500.00
08/24/23	A. A. DePeau	Confer with A. Smith re Debtors' PI production for relevance to estimation	0.1	710.00	71.00
08/24/23	A. H. Smith	Review Debtors' PI production for relevance to estimation (5.6); confer with A. DePeau re same (.1)	5.7	550.00	3,135.00
08/24/23	D. Wright	Review series of documents produced by Debtors in connection with estimation discovery requests	1.6	1,250.00	2,000.00
08/28/23	E. M. Forte	Review, revise specific question re	0.4	1,250.00	500.00
08/28/23	A. H. Smith	estimation proceeding memorandum Review existing productions by Debtors re	3.9	550.00	2,145.00
08/29/23	K. M. Fix	relevance to estimation Confer with D. Wright re estimation	0.2	875.00	175.00
08/29/23	R. J. Mauceri	discovery review strategy memorandum Review and revise draft correspondence to	0.9	1,075.00	967.50
		Debtors re PIQ deficiency letters (.4); email A. Smith re same (.2); further revise draft and email A. Smith re same (.3)			
08/29/23	A. H. Smith	Draft tracking document re Debtor discovery productions (1.8); review additional correspondence from Debtors to claimants re PIQ submissions (.2); revise	2.3	550.00	1,265.00
		correspondence to Debtors re same (.2); email R. Mauceri re same (.1)			
08/29/23	D. Wright	Confer with K. Fix re estimation review strategy memorandum (.2); review certain documents from prior Debtors' estimation-	2.3	1,250.00	2,875.00
08/30/23	M. R. Enright	related productions (2.1) Review new decision re assignment of assets to trust (1.0); review drafts of letter from A. Smith re PIQ letters (.3); follow up emails re same (.5); emails with M. Evert	2.8	1,250.00	3,500.00
		and N. Ramsey re sample issues (.1); confer with N. Ramsey, J. Wehner, D. Wright and R. Mauceri re follow up on same (.2); review further revised draft of letter re PIQ requirements and propose additional revisions (.4); review PIQ and orders re			
08/30/23	R. J. Mauceri	revisions (.4); review PiQ and orders re same (.3) Emails with M. Enright, D. Wright, N. Ramsey, A. Smith re PIQ deficiency letter (.4); review underlying materials and emails with D. Wright (.6) and A Smith re same (.3); telephone conferences with D. Wright,	3.0	1,075.00	3,225.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 112 of 136

Robinson+Cole

Page: 19
Date: January 5, 2024
Invoice #: 50437737

D .	-	~		Б. /	
<u>Date</u>	<u>Timekeeper</u>	Description A. Smith re same (.3); review and comment on revised draft (.5); further emails with team re same (.5); confer with N. Ramsey, J. Wehner, D. Wright and M. Enright re follow up on sample issues (.2); confer with A. Smith re same (.2)	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/30/23	N. D. Ramsey	Review and analyze estimation sample proposal, draft revisions re same (.7); review (.1) and confer with M. Enright, D. Wright, R. Mauceri, A. Smith, J. Wehner re PIQ correspondence (.2)	1.0	1,650.00	1,650.00
08/30/23	A. H. Smith	Revise (multiple) correspondence to Debtors re PIQ communications with claimants (1.3); correspondence (multiple) with N. Ramsey, D. Wright, M. Enright, and R. Mauceri re same (.7); confer with R. Mauceri re same (.2); confer with M. Enright, D. Wright, R. Mauceri, N. Ramsey, J. Wehner re PIQ correspondence (.2)	2.4	550.00	1,320.00
08/30/23	D. Wright	Confer with N. Ramsey, J. Wehner, M. Enright and R. Mauceri re follow up on sample issues (.2); emails with M. Enright, R. Mauceri, N. Ramsey, A. Smith re PIQ deficiency letter (.6); telephone conferences with R. Mauceri and A. Smith (partial) re PIQ deficiency letter (.6); review underlying materials and emails with R. Mauceri and A. Smith re same (.3); review series of proposed revisions to PIQ deficiency letter (.4); revise proposed letter to Debtors re additional certifications required by PIQ deficiency letters (.4); review and analyze email from M. Evert re sampling (.2)	2.7	1,250.00	3,375.00
08/31/23	M. R. Enright	Review prior communications re sample in preparation for meeting re protocol (.3); confer with N. Ramsey, D. Wright, R. Mauceri, A. Smith, J. Wehner, J. Koski, and K. Zendeh re sampling protocol (1.2)	1.5	1,250.00	1,875.00
08/31/23	E. M. Forte	Review monthly operating report	0.1	1,250.00	125.00
08/31/23	R. J. Mauceri	Confer with N. Ramsey, D. Wright, M. Enright, A. Smith, J. Wehner, J. Koski, and K. Zendeh re sampling protocol (1.2); emails with A. Smith re PIQ letter (.2); review same (.1)	1.5	1,075.00	1,612.50
08/31/23	N. D. Ramsey	Confer with D. Wright, M. Enright, R. Mauceri, A. Smith, J. Wehner, J. Koski, and K. Zendeh re sampling protocol	1.2	1,650.00	1,980.00
08/31/23	A. H. Smith	Confer with N. Ramsey, D. Wright, M. Enright, R. Mauceri, J. Wehner, J. Koski, and K. Zendeh re sampling protocol (1.2);	6.1	550.00	3,355.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 113 of 136

Robinson+Cole

Page: 20
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	Timekeeper	Description update and revise communications to Debtors re PIQ-related communications with Claimants (.3); email N. Ramsey, D. Wright, M. Enright, and R. Mauceri re same (.2); draft memorandum re August 28 Committee meeting (1.6); further review of prior Debtors discovery re relevance to	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/31/23	D. Wright	estimation (2.8) Confer with N. Ramsey, M. Enright, R. Mauceri, A. Smith, J. Wehner, J. Koski, and K. Zendeh re sampling protocol	1.2	1,250.00	1,500.00
			209.3	 -	\$196,280.00
PROFESSI	ONAL RETENTION	& FEE ISSUES-OCAC015			
08/03/23	L. Shaw	Update professional fee chart re Committee professionals, link same	4.2	500.00	2,100.00
08/04/23	L. Shaw	Update professional fee chart re Debtor professionals (3.3); make final edits to LAS fifth interim (.4); assemble emails, invoices and proof of math and forward to A. Smith for review (.1); emails with S. Wilkins re fee chart (.1)	3.9	500.00	1,950.00
08/07/23	A. H. Smith	Revise LAS fee application (.6); email A. Sackett re same (.1)	0.7	550.00	385.00
08/08/23	L. Shaw	Email A. Smith re LAS interim application	0.2	500.00	100.00
08/23/23	A. H. Smith	Email D. Wright and K. Fix re fee statements and interim applications	0.1	550.00	55.00
08/30/23	L. Shaw	Update professional fee chart with granted orders re Jones Day, Claro Group, FTI, BW, Gilbert, Evert Weathersby, K&L Gates, AlixPartners and Rayburn Cooper (.8); emails with A. Smith re LAS interim fee application, review revisions (.3); email to A. Sacket re payments (.1)	1.2	500.00	600.00
08/30/23	A. H. Smith	Revise LAS Fifth Interim Fee Application	1.4	550.00	770.00
			11.7		\$5,960.00
FEE APPLI	CATION PREPARA	ATION-OCAC016			
08/01/23	S. R. Wilkins	Review and revise May fee statement (2.0); review June fee statement (.2)	2.2	350.00	770.00
08/02/23	S. R. Wilkins	Review and revise May fee statement (6.5); email D. Wright re same (.1); review June fee statement (.2)	6.8	350.00	2,380.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 114 of 136

Robinson+Cole

Page: 21
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
08/02/23	D. Wright	Revise May fee statement	1.2	1,250.00	1,500.00
08/03/23	S. R. Wilkins	Review and revise April fee statement	1.3	350.00	455.00
08/04/23	S. R. Wilkins	Review revised April fee application (.4); email D. Wright re same (.1)	0.5	350.00	175.00
08/07/23	S. R. Wilkins	Email D. Wright and A. Smith re accounts receivable	0.1	350.00	35.00
08/10/23	S. R. Wilkins	Email D. Wright re April and May fee statements (.1); email HSSM re May fee statement (.1)	0.2	350.00	70.00
08/10/23	D. Wright	Review May fee statement	0.8	1,250.00	1,000.00
08/15/23	S. R. Wilkins	Review and revise June fee statement	2.6	350.00	910.00
08/17/23	S. R. Wilkins	Review and revise May fee statement	1.5	350.00	525.00
08/18/23	S. R. Wilkins	Revise April invoice (.6); revise May invoice (.4); draft fee statement memoranda for April and May invoices (.8); email same to D. Wright (.1); email invoices for Committee approval (.1)	2.0	350.00	700.00
08/18/23	D. Wright	Review April invoice (.9); review May invoice (1.0)	1.9	1,250.00	2,375.00
08/21/23	S. R. Wilkins	Revise fee statement memoranda for April and May invoices (.4); circulate same (.1); email D. Wright re same (.1)	0.6	350.00	210.00
08/23/23	S. R. Wilkins	Draft shell for ninth interim fee application (.1); gather materials re same (.1); email to A. Smith (.1)	0.3	350.00	105.00
08/27/23	S. R. Wilkins	Review and revise June fee statement	1.0	350.00	350.00
08/28/23	S. R. Wilkins	Review and revise June fee statement	0.3	350.00	105.00
08/29/23	A. H. Smith	Email S. Wilkins re preparation of ninth interim fee application	0.1	550.00	55.00
08/30/23	S. R. Wilkins	Analyze invoices for ninth interim fee application (3.0); draft same (1.2); email A. Smith re same (.1); review June fee statement (3.3)	7.6	350.00	2,660.00
08/31/23	S. R. Wilkins	Review June fee statement	0.4	350.00	140.00
			31.4		\$14,520.00
NONWORK	(ING TRAVEL-OCA	AC017			
08/08/23	A. A. DePeau	Travel from Hartford to Charlotte for hearing	5.4	355.00	1,917.00
08/08/23	A. H. Smith	Travel from Hartford to Charlotte for hearing	5.4 5.1	275.00	1,402.50
08/08/23	D. Wright	Travel from PHL to CLT for hearing	4.5	625.00	2,812.50
08/09/23	A. A. DePeau	Travel from Charlotte to Hartford after hearing	6.5	355.00	2,307.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 115 of 136

Robinson+Cole

Page: 22
Date: January 5, 2024
Invoice #: 50437737

<u>Date</u>	<u>Timekeeper</u>	Description	<u>Hours</u>	Rate	<u>Amount</u>
08/09/23	A. H. Smith	Travel from Charlotte to Hartford after hearing	5.3	275.00	1,457.50
08/09/23	D. Wright	Travel from CLT to PHL after hearing	4.5	625.00	2,812.50
			31.3	-	\$12,709.50
			350.0		\$290,154.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 116 of 136

Robinson+Cole

Page: Date: January 5, 2024 Invoice #: 50437737

Summary of Disbursements	
<u>Description</u>	<u>Amount</u>
Telephone/Conference Services	12.00
Local Mileage	15.59
Out-of-Town Mileage	52.01
Meals	646.30
Trial Transcripts	105.00
Travel: Air/Rail	2,157.19
Travel: Non-Mileage	234.07
Local Travel: Non-Mileage	130.00
Travel: Hotel/Lodging	1,249.32
Relativity External User License Fee	4,544.50
	\$9,145.98

Disbursement Details

<u>Date</u> Telephone/	<u>Description</u> Conference Services	<u>Amount</u>
r cicprioric/	Controlled Scrytocs	
08/23/23	Telephone/Conference Services – ANDREW A. DEPEAU INVOICE#: 6105123308231412 DATE: 8/14/2023 Expense Reimbursement CLIENT; Internet; 08/09/23; Attendance at Omnibus Hearing in Charlotte North Carolina.; Provider: Viasat In-Flight	12.00
		\$12.00
Local Milea	ge	
08/23/23	Local Mileage – ANDREW A. DEPEAU INVOICE#: 6105123308231412 DATE: 8/14/2023 Expense Reimbursement CLIENT; Local Mileage; 08/09/23; Attendance at Omnibus Hearing in Charlotte North Carolina.; From/To: South Windsor, CT to Windsor Locks, CT and Windsor Locks, CT to South Windsor, CT; Miles: 23.80	15.59
	01, miles. 20100	\$15.59
Out-of-Tow	n Mileage	
08/22/23	Out-of-Town Mileage – ANNECCA R. SMITH INVOICE#: 6099654308221505 DATE: 8/10/2023 Expense Reimbursement CLIENT 39062.0001; Mileage; 08/09/23; Travel to Charlotte NC for August 9, 2023 hearing; From/To: Southwick MA /Bradley; Miles: 14.00	9.17
08/22/23	Out-of-Town Mileage – ANNECCA R. SMITH INVOICE#: 6099654308221505 DATE: 8/10/2023 Expense Reimbursement CLIENT 39062.0001; Mileage; 08/08/23; Travel to Charlotte NC for August 9, 2023 hearing; From/To: Bradley Airport to Southwick MA; Miles: 14.00	9.17

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 117 of 136

Robinson+Cole

Page: 24
Date: January 5, 2024
Invoice #: 50437737

08/31/23	Out-of-Town Mileage – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Mileage; 08/09/23; Attend Aldrich August 9, 2023 Hearing; From/To: Roundtrip Residence/PHL Airport; Miles: 51.40	33.67
Meals		\$52.01
08/22/23	Meals – ANNECCA R. SMITH INVOICE#: 6099654308221505 DATE: 8/10/2023 Expense Reimbursement CLIENT 39062.0001; Breakfast; 08/09/23; Travel to Charlotte NC for August 9, 2023 hearing; Guests: Annecca Smith	12.04
08/23/23	Meals – ANDREW A. DEPEAU INVOICE#: 6105123308231412 DATE: 8/14/2023 Expense Reimbursement CLIENT; Breakfast; 08/09/23; Attendance at Omnibus Hearing in Charlotte North Carolina.; Guests: Andrew DePeau	12.09
08/31/23	Meals – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Hotel - Meals Other; 08/08/23; Attend Aldrich August 9, 2023 Hearing; Guests: Davis Lee Wright, Andrew DePeau, Annecca Smith	84.65
08/31/23	Meals – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Dinner; 08/08/23; Attend Aldrich August 9, 2023 Hearing; Guests: Davis Lee Wright, Annecca Smith, Andrew DePeau; External Guests: David Neier - Winston & Strawn LLP, Cristina Calvar - Winston & Strawn	337.43
08/31/23	Meals – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Lunch; 08/09/23; Attend Aldrich August 9, 2023 Hearing; Guests: Davis Lee Wright, Andrew DePeau; External Guests: Erin Edwards - YCST, Sean Greecher -YCST	200.09
Trial Transo	eripts	\$646.30
07/31/23	Trial Transcripts – JANICE RUSSELL; INVOICE#: 231373; DATE: 8/11/2023 - Copy of transcript of hearing held on 08/09/23	105.00
Travel: Air/F	Rail	\$105.00
08/22/23	Travel: Air/Rail – ANNECCA R. SMITH INVOICE#: 6099654308221505 DATE:	672.30

Boston | Hartford | New York | Washington, DC | Providence | Miami | Stamford | Wilmington | Philadelphia | Los Angeles | Albany | rc.com

8/10/2023 Expense Reimbursement CLIENT 39062.0001; Airfare; 07/31/23;

Travel to Charlotte NC for August 9, 2023 hearing; From/To: Bradley Airport/Charlotte NC/Bradley Airport; Start Date: 08/08/2023; End Date:

08/09/2023

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 118 of 136

Robinson+Cole

 Page:
 25

 Date:
 January 5, 2024

 Invoice #:
 50437737

08/23/23	Travel: Air/Rail – ANDREW A. DEPEAU INVOICE#: 6105123308231412 DATE: 8/14/2023 Expense Reimbursement CLIENT; Airfare; 08/08/23; Attendance at Omnibus Hearing in Charlotte North Carolina.; From/To: Bradley International	588.59
08/31/23	Airport to Charlotte, North Carolin; Start Date: 08/08/2023; End Date: 08/09/2023 Travel: Air/Rail – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Airfare; 08/07/23; Attend Aldrich August 9, 2023 Hearing; From/To: Roundtrip PHL/CLT; Start Date: 08/08/2023; End Date: 08/09/2023	896.30
		\$2,157.19
Travel: Nor	n-Mileage	
08/22/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 6099654308221505 DATE: 8/10/2023 Expense Reimbursement CLIENT 39062.0001; Parking; 08/09/23; Travel to Charlotte NC for August 9, 2023 hearing	56.00
08/22/23	Travel: Non-Mileage – ANNECCA R. SMITH INVOICE#: 6099654308221505 DATE: 8/10/2023 Expense Reimbursement CLIENT 39062.0001; Taxi/Car Service; 08/08/23; Travel to Charlotte NC for August 9, 2023 hearing; From/To: Airport to Hotel	39.35
08/23/23	Travel: Non-Mileage – ANDREW A. DEPEAU INVOICE#: 6105123308231412 DATE: 8/14/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 08/09/23; Attendance at Omnibus Hearing in Charlotte North Carolina.; From/To: Charlotte Airport to Hotel in Charlotte, North Carolina	37.80
08/31/23	Travel: Non-Mileage – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 08/08/23; Attend Aldrich August 9, 2023 Hearing; From/To: Airport/Hotel	37.80
08/31/23	Travel: Non-Mileage – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Taxi/Car Service; 08/09/23; Attend Aldrich August 9, 2023 Hearing; From/To: Hotel/Airport	63.12
	os/os/2s, / ittoria / italien / tagast o, 2s2s / isaning, / isaning in isaning	\$234.07
Local Trave	el: Non-Mileage	
08/23/23	Local Travel: Non-Mileage – ANDREW A. DEPEAU INVOICE#: 6105123308231412 DATE: 8/14/2023 Expense Reimbursement CLIENT; Local Parking; 08/09/23; Attendance at Omnibus Hearing in Charlotte North Carolina.	54.00
08/31/23	Local Travel: Non-Mileage – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Local Parking; 08/09/23; Attend Aldrich August 9, 2023 Hearing	76.00
	i aiking, ooroarza, Attenu Alunon August a, 2023 Heaning	\$130.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 119 of 136

Robinson+Cole

Page: 26
Date: January 5, 2024
Invoice #: 50437737

\$ 299,300.48

Travel:	

08/22/23	Travel: Hotel/Lodging – ANNECCA R. SMITH INVOICE#: 6099654308221505 DATE: 8/10/2023 Expense Reimbursement CLIENT 39062.0001; Lodging; 08/09/23; Travel to Charlotte NC for August 9, 2023 hearing; Start Date: 08/08/2023; End Date: 08/09/2023	371.11
08/23/23	Travel: Hotel/Lodging – ANDREW A. DEPEAU INVOICE#: 6105123308231412 DATE: 8/14/2023 Expense Reimbursement CLIENT; Lodging; 08/09/23; Attendance at Omnibus Hearing in Charlotte North Carolina.; Start Date: 08/08/2023; End Date: 08/09/2023	450.63
08/31/23	Travel: Hotel/Lodging – DAVIS LEE WRIGHT INVOICE#: 6193205909291937 DATE: 9/28/2023 Expense Reimbursement CLIENT; Lodging; 08/09/23; Attend Aldrich August 9, 2023 Hearing; Start Date: 08/08/2023; End Date: 08/09/2023	427.58
		\$1,249.32
	Relativity External User License Fee	4,544.50
		\$9,145.98
Summary Aldrich Bar	for Invoice # 50437737 akruptcy	
Fees for Le	egal Services	\$ 290,154.50
Disburseme	ents	9,145.98

Total Current Billing For this Matter

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 120 of 136

SCHEDULE A-4

OFFICIAL COMMITTEE OF ASBESTOS CLAIMANTS ATTN: ALLAN TANANBAUM, ESQ. ALDRICH PUMP LLC AND MURRAY BOILER LLC 800-E BEATY STREET DAVIDSON, NC 28036 January 8, 2024 Invoice 50440894

File # 39062.0001 Aldrich Bankruptcy

Invoice Summary and Remittance Advice

Invoice attached and payable upon receipt

Please return this page or include invoice number with your remittance to:

Mailing Instructions
ROBINSON & COLE LLP
280 Trumbull Street
Hartford, CT 06103-3597

TEL # (860) 275-8200 FAX # (860) 275-8299 FEDERAL ID # 06-0512640

Wire Transfer Instructions Bank of America

Bank of America 185 Asylum Street Hartford, CT 06103

SWIFT Code – BOFAUS3N ABA Wire Routing # - 026009593 ACH/EFT Routing # - 011900571 Checking Account # - 000000154546

SUMMARY FOR INVOICE 50440894

Fees for Legal Services \$ 122,386.50

Disbursements 4,589.56

Total Current Billing For this Matter \$ 126,976.06

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 122 of 136

Robinson+Cole

Page: 2
Date: January 8, 2024
Invoice #: 50440894

For Services through September 30, 2023

165.3

\$122,386.50

File # 39062.0001 Aldrich Bankruptcy

Summary of Services	s by Task Code			
Task Code	Description		<u>Hours</u>	<u>Amount</u>
OCAC001	CASE ADMIN & BUSNSS OPER-OFFCL CMTEE ASBEST CRDTRS	os	18.3	10,127.50
OCAC004	PLAN OF REORGANIZATION & DISCLOSURE STATEMENT		0.9	1,125.00
OCAC006	CLAIMS ADMINISTRATION		2.5	935.00
OCAC012	LITIGATION & ADVERSARY PROCEEDINGS		99.9	93,239.00
OCAC015	PROFESSIONAL RETENTION & FEE ISSUES		18.6	8,050.00
OCAC016	FEE APPLICATION PREPARATION		25.1	8,910.00
			165.3	\$122,386.50
Summary of Sorvings	a by Professional			
Summary of Services Name		lours	Rate	Amount
A. L. Ciabattoni	Paralegal	17.3	300.00	5,190.00
J. L. Clasen	Partner	0.4	1310.00	524.00
J. J. DeForrest	Paralegal	0.6	280.00	168.00
A. A. DePeau	Partner	0.4	710.00	284.00
T. J. Donlon	Counsel	0.2	740.00	148.00
M. R. Enright	Partner	16.1	1250.00	20,125.00
K. M. Fix	Partner	0.6	875.00	525.00
L. A. Krepto	Counsel	1.8	950.00	1,710.00
R. J. Mauceri	Partner	7.1	1075.00	7,632.50
A. J. Merkey	Paralegal	0.4	425.00	170.00
N. D. Ramsey	Partner	6.8	1650.00	11,220.00
L. Shaw	Paralegal	5.4	500.00	2,700.00
A. H. Smith	Associate	32.9	550.00	18,095.00
S. R. Wilkins	Paralegal	44.7	350.00	15,645.00
D. Wright	Partner	30.6	1250.00	38,250.00

Totals

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 123 of 136

Robinson+Cole

Page: Date: Invoice #:

January 8, 2024

50440894

Summary of Services by Task Code and Professional

CASE ADMIN & BUSNSS OPER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC001

Name R. J. Mauceri N. D. Ramsey L. Shaw A. H. Smith S. R. Wilkins D. Wright PLAN OF REORGANIZATION & DISCL	Title Partner Partner Paralegal Associate Paralegal Partner	Hours 0.9 0.9 1.0 2.9 11.3 1.3	Rate 1075.00 1650.00 500.00 550.00 350.00 1250.00	Amount 967.50 1,485.00 500.00 1,595.00 3,955.00 1,625.00 \$10,127.50
PLAN OF REORGANIZATION & DISCI	LOSURE STATEMENT-OCACUU4			
Name D. Wright	<u>Title</u> Partner	Hours 0.9	<u>Rate</u> 1250.00	Amount 1,125.00
		0.9		\$1,125.00
CLAIMS ADMINISTRATION-OCAC006		0.0		Ψ1,120.00
<u>Name</u>	<u>Title</u>	<u>Hours</u>	Rate	<u>Amount</u>
A. H. Smith	Associate	0.3	550.00	165.00
S. R. Wilkins	Paralegal	2.2	350.00	770.00
		2.5	-	\$035.00
LITIGATION & ADVERSARY PROCEE	DINGS-OCAC012	2.5		\$935.00
LITIGATION & ADVERSARY PROCEE	DINGS-OCAC012	2.5		\$935.00
LITIGATION & ADVERSARY PROCEE Name	DINGS-OCAC012	2.5	<u>Rate</u>	\$935.00 <u>Amount</u>
<u>Name</u> J. L. Clasen	<u>Title</u> Partner	Hours 0.4	1310.00	<u>Amount</u> 524.00
Name J. L. Clasen J. J. DeForrest	<u>Title</u> Partner Paralegal	<u>Hours</u> 0.4 0.6	1310.00 280.00	Amount 524.00 168.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau	<u>Title</u> Partner Paralegal Partner	Hours 0.4 0.6 0.4	1310.00 280.00 710.00	Amount 524.00 168.00 284.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon	Title Partner Paralegal Partner Counsel	Hours 0.4 0.6 0.4 0.2	1310.00 280.00 710.00 740.00	Amount 524.00 168.00 284.00 148.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright	Title Partner Paralegal Partner Counsel Partner	Hours 0.4 0.6 0.4 0.2 16.1	1310.00 280.00 710.00 740.00 1250.00	Amount 524.00 168.00 284.00 148.00 20,125.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix	Title Partner Paralegal Partner Counsel Partner Partner	Hours 0.4 0.6 0.4 0.2 16.1 0.6	1310.00 280.00 710.00 740.00 1250.00 875.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix L. A. Krepto	Title Partner Paralegal Partner Counsel Partner Partner Counsel	Hours 0.4 0.6 0.4 0.2 16.1 0.6 1.8	1310.00 280.00 710.00 740.00 1250.00 875.00 950.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00 1,710.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix L. A. Krepto R. J. Mauceri	Title Partner Paralegal Partner Counsel Partner Partner Counsel Partner Counsel Partner	Hours 0.4 0.6 0.4 0.2 16.1 0.6 1.8 6.2	1310.00 280.00 710.00 740.00 1250.00 875.00 950.00 1075.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00 1,710.00 6,665.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix L. A. Krepto R. J. Mauceri A. J. Merkey	Title Partner Paralegal Partner Counsel Partner Counsel Partner Counsel Partner Counsel Partner	Hours 0.4 0.6 0.4 0.2 16.1 0.6 1.8 6.2 0.4	1310.00 280.00 710.00 740.00 1250.00 875.00 950.00 1075.00 425.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00 1,710.00 6,665.00 170.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix L. A. Krepto R. J. Mauceri A. J. Merkey N. D. Ramsey	Title Partner Paralegal Partner Counsel Partner Counsel Partner Counsel Partner Partner Partner Partner Partner	Hours 0.4 0.6 0.4 0.2 16.1 0.6 1.8 6.2 0.4 5.9	1310.00 280.00 710.00 740.00 1250.00 875.00 950.00 1075.00 425.00 1650.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00 1,710.00 6,665.00 170.00 9,735.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix L. A. Krepto R. J. Mauceri A. J. Merkey	Title Partner Paralegal Partner Counsel Partner Counsel Partner Counsel Partner Partner Associate	Hours 0.4 0.6 0.4 0.2 16.1 0.6 1.8 6.2 0.4	1310.00 280.00 710.00 740.00 1250.00 875.00 950.00 1075.00 425.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00 1,710.00 6,665.00 170.00 9,735.00 14,905.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix L. A. Krepto R. J. Mauceri A. J. Merkey N. D. Ramsey A. H. Smith	Title Partner Paralegal Partner Counsel Partner Counsel Partner Counsel Partner Partner Partner Partner Partner	Hours 0.4 0.6 0.4 0.2 16.1 0.6 1.8 6.2 0.4 5.9 27.1	1310.00 280.00 710.00 740.00 1250.00 875.00 950.00 1075.00 425.00 1650.00 550.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00 1,710.00 6,665.00 170.00 9,735.00
Name J. L. Clasen J. J. DeForrest A. A. DePeau T. J. Donlon M. R. Enright K. M. Fix L. A. Krepto R. J. Mauceri A. J. Merkey N. D. Ramsey A. H. Smith S. R. Wilkins	Title Partner Paralegal Partner Counsel Partner Counsel Partner Partner Partner Associate Paralegal	Hours 0.4 0.6 0.4 0.2 16.1 0.6 1.8 6.2 0.4 5.9 27.1 13.3	1310.00 280.00 710.00 740.00 1250.00 875.00 950.00 1075.00 425.00 1650.00 550.00 350.00	Amount 524.00 168.00 284.00 148.00 20,125.00 525.00 1,710.00 6,665.00 170.00 9,735.00 14,905.00 4,655.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 124 of 136

Robinson+Cole

<u>Name</u>

Page: 4
Date: January 8, 2024
Invoice #: 50440894

Rate

Amount

<u>Hours</u>

PROFESSIONAL RETENTION & FEE ISSUES-OCAC015

<u>Title</u>

L. Shaw		Paralegal	4.4	500.00	2,200.00
A. H. Smith		Associate	1.7	550.00	935.00
S. R. Wilkins	3	Paralegal	11.9	350.00	4,165.00
D. Wright		Partner	0.6	1250.00	750.00
			40.0		Φο οσο οο
EEE ADDI I	CATION PREPARA	ATION OCACO16	18.6		\$8,050.00
FEE APPLIC	CATION PREPARA	ATION-OCACUTO			
<u>Name</u>		Title	<u>Hours</u>	Rate	Amount
A. L. Ciabatt	oni	Paralegal	17.3	300.00	5,190.00
A. H. Smith		Associate	0.9	550.00	495.00
S. R. Wilkins	3	Paralegal	6.0	350.00	2,100.00
D. Wright		Partner	0.9	1250.00	1,125.00
Ü					•
			25.1	.	\$8,910.00
			165.3	.	\$122,386.50
			. 55.5		ψ.==,σσσ.σσ
<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
CASE ADMI	N & BUSNSS OPE	ER-OFFCL CMTEE ASBESTOS CRDTRS-OCAC	001		
09/01/23	R. J. Mauceri	Confer with Mediator and counsel team (E.	0.8	1,075.00	860.00
03/01/20	rt. o. Madoch	Green, F. Kurdi, N. Ramsey, D. Wright, T.	0.0	1,070.00	000.00
		Phillips, J. Liesemer, K. Maclay, S. Wilkins)			
		re upcoming mediation logistics (.2); review			
		minutes of Committee meeting (.2); review			
		article re third-party releases (.3); email			
		team re same (.1)			
09/01/23	N. D. Ramsey	Confer with Mediator and counsel team (E.	0.2	1,650.00	330.00
	•	Green, F. Kurdi, D. Wright, R. Mauceri, T.		·	
		Phillips, J. Liesemer, K. Maclay, S. Wilkins)			
		re upcoming mediation logistics			
09/01/23	A. H. Smith	Revise minutes from August 28 Committee	1.7	550.00	935.00
		meeting (.3); email N. Ramsey, D. Wright,			
		M. Enright, and R. Mauceri re same (.1);			
		draft memorandum re August 31 mediation			
		session (1.2); email N. Ramsey, D. Wright,			
	_	M. Enright, and R. Mauceri re same (.1)			
09/01/23	S. R. Wilkins	Confer with Mediator and counsel team (E.	0.2	350.00	70.00
		Green, F. Kurdi, N. Ramsey, R. Mauceri, T.			
		Phillips, J. Liesemer, K. Maclay, S. Wilkins)			
		re upcoming mediation logistics			

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 125 of 136

Robinson+Cole

Page: 5
Date: January 8, 2024
Invoice #: 50440894

Data	Timekeener	Description	Hours	Doto	A mount
<u>Date</u> 09/01/23	<u>Timekeeper</u> D. Wright	<u>Description</u> Review memorandum re prior mediation	Hours 0.4	<u>Rate</u> 1,250.00	<u>Amount</u> 500.00
09/01/23	D. Wright	session Confer with Mediator and counsel team (E. Green, F. Kurdi, N. Ramsey, R. Mauceri, T. Phillips, J. Liesemer, K. Maclay, S. Wilkins)	0.2	1,250.00	250.00
09/05/23	N. D. Ramsey	re upcoming mediation logistics Review financial disclosures of Trane (.3); email correspondence with Committee member re same (.1); review and communications with counsel team re 2024	0.7	1,650.00	1,155.00
09/05/23	L. Shaw	hearing schedule (.3) Review docket re pleadings, assemble same for files (.3); update index re same (.2)	0.5	500.00	250.00
09/05/23	A. H. Smith	Attention to case calendar management and scheduling	0.2	550.00	110.00
09/05/23	D. Wright	Review Debtor's request re extension of removal period (.1); email and confer with T. Phillips re same (.1)	0.2	1,250.00	250.00
09/06/23	L. Shaw	Review docket and pleadings, assemble same (.2); update pleading index (.3)	0.5	500.00	250.00
09/07/23	S. R. Wilkins	Update case files	0.3	350.00	105.00
09/08/23	R. J. Mauceri	Review A. Smith email re Sept. 28 hearing	0.1	1,075.00	107.50
09/08/23	A. H. Smith	Email N. Ramsey and D. Wright re September 28 hearing calendar	0.1	550.00	55.00
09/14/23	S. R. Wilkins	Update case files (.2); update calendars (.1)	0.3	350.00	105.00
09/15/23	S. R. Wilkins	Update case files	0.5	350.00	175.00
09/18/23	S. R. Wilkins	Update case files	2.1	350.00	735.00
09/19/23	A. H. Smith	Correspondence with S. Wilkins and S. Leineek (Verus) re protective order compliance and documentation	0.2	550.00	110.00
09/19/23	S. R. Wilkins	Review emails with A. Smith re protective orders (.2); update case files re same (.2)	0.4	350.00	140.00
09/19/23	D. Wright	Confer with counsel team re case status (.1); confer with R. Mauceri re same (.1)	0.2	1,250.00	250.00
09/20/23	A. H. Smith	Confer with S. Wilkins re case management	0.7	550.00	385.00
09/20/23	S. R. Wilkins	Confer with A. Smith re case management	0.7	350.00	245.00
09/21/23	S. R. Wilkins	Update case files (3.2); email A. Smith re hearing (.1)	3.3	350.00	1,155.00
09/22/23	S. R. Wilkins	Update case files	0.3	350.00	105.00
09/22/23	D. Wright	Confer with N. Ramsey re hearing (.2); confer with T. Phillips re same (.1)	0.3	1,250.00	375.00
09/23/23	S. R. Wilkins	Update briefing matrix and calendars re same	2.9	350.00	1,015.00
09/27/23	S. R. Wilkins	Update calendars	0.2	350.00	70.00
09/28/23	S. R. Wilkins	Update case files	0.1	350.00	35.00
			18.3		\$10,127.50

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 126 of 136

Robinson+Cole

Page: 6
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u> PLAN OF R	<u>Timekeeper</u> REORGANIZATION	Description & DISCLOSURE STATEMENT-OCAC004	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
09/27/23	D. Wright	Comment on memorandum re specific plan- related issue	0.9	1,250.00	1,125.00
			0.9		\$1,125.00
CLAIMS A	OMINISTRATION-O	CAC006			
09/01/23	S. R. Wilkins	Review and summarize Debtors' letters to claimant firms re PIQ and POC (.2); email A. Smith re same (.1)	0.3	350.00	105.00
09/06/23	A. H. Smith	Review and update claim withdrawal tracking	0.3	550.00	165.00
09/06/23 09/07/23	S. R. Wilkins S. R. Wilkins	Email A. Smith re proofs of claim Review and summarize Debtors' letters to Claimant firms re PIQ and POC (.4); email A. Smith (multiple) re same (.3)	0.1 0.7	350.00 350.00	35.00 245.00
09/08/23	S. R. Wilkins	Review emails re Debtors' POC letters to Claimant firms	0.2	350.00	70.00
09/14/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC	0.5	350.00	175.00
09/19/23	S. R. Wilkins	Review and summarize Debtors' letters to Claimant firms re PIQ and POC (.3); email A. Smith re same (.1)	0.4	350.00	140.00
		-	2.5		\$935.00
LITIGATIO	N & ADVERSARY F	PROCEEDINGS-OCAC012			
09/01/23	M. R. Enright	Review revised draft of letter to Debtors re PIQ correspondence	0.1	1,250.00	125.00
09/01/23 09/05/23	A. H. Smith M. R. Enright	Review prior Debtor discovery productions Review memorandum from A. Smith re PI discovery review (.2); review data re parent performance (.5); emails with N. Ramsey and D. Wright re same (.2)	1.5 0.9	550.00 1,250.00	825.00 1,125.00
09/05/23 09/05/23	N. D. Ramsey A. H. Smith	Work on sample negotiation Draft estimation-related memorandum (4.8); email N. Ramsey, D. Wright, and M. Enright re same (.1); review and update tracking of Debtor correspondence to individual Claimants re PIQs (1.2)	0.5 6.1	1,650.00 550.00	825.00 3,355.00
09/05/23	D. Wright	Review estimation-related memorandum re production documents (.9); review specific documents produced re estimation and analyzed in memorandum (1.8)	2.7	1,250.00	3,375.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 127 of 136

Robinson+Cole

Page: 7
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u> 09/06/23	<u>Timekeeper</u> M. R. Enright	<u>Description</u> Review update from A. Smith re letter re meet and confer demands (.1); confer with N. Ramsey, D. Wright and T. Phillips re	Hours 0.3	<u>Rate</u> 1,250.00	<u>Amount</u> 375.00
09/06/23	R. J. Mauceri	2024 court hearing dates (.2) Review A. Smith email re update to PIQ letter	0.1	1,075.00	107.50
09/06/23	N. D. Ramsey	Review PIQ communications analysis (.5); telephone call with M. Evert re agreement on estimation sample (.4); follow on email communications with M. Evert re same (.4); telephone call with D. Wright re same (.1); confer with M. Enright, D. Wright and T. Phillips re 2024 court hearing dates (.2)	1.6	1,650.00	2,640.00
09/06/23	A. H. Smith	Email N. Ramsey, D. Wright, M. Enright, and R. Mauceri re update to correspondence with Debtors re Claimant PIQ submissions	0.1	550.00	55.00
09/06/23	S. R. Wilkins	Email A. Smith (multiple) re PIQ responses from Donlin Recano	0.2	350.00	70.00
09/06/23	D. Wright	Call with N. Ramsey re estimation sample (.1); confer with N. Ramsey, M. Enright and T. Phillips re 2024 court hearing dates (.2); review and comment on draft letter to M. Cody re PIQ compliance letters (.8); review exemplar letters from M. Cody re PIQ compliance (.3); review outstanding discovery issues (.5)	1.9	1,250.00	2,375.00
09/07/23	R. J. Mauceri	Review S. Wilkins email, forward correspondence re PIQs	0.1	1,075.00	107.50
09/07/23	D. Wright	Review potential third-party discovery (1.2); revise same (.7)	1.9	1,250.00	2,375.00
09/08/23	M. R. Enright	Review and offer further revisions to draft letter re PIQ submissions	0.6	1,250.00	750.00
09/08/23	R. J. Mauceri	Review D. Wright and M. Enright revisions to PIQ letter	0.3	1,075.00	322.50
09/08/23	A. H. Smith	Email (multiple) C. Maisano re technical issues with Debtors correspondence to Claimant firms re PIQs (.2); email S. Wilkins re same (.1); review email from D. Wright re concerns re Debtors correspondence re PIQs (.1)	0.4	550.00	220.00
09/08/23	D. Wright	Additional edits to proposed letter to M. Cody re PIQ compliance letters (.8); review additional examples of PIQ compliance letters (.3); review decision from tracked bankruptcy case re claim filings (.5)	1.6	1,250.00	2,000.00
09/11/23	J. L. Clasen	Confer with N. Ramsey, D. Wright, R. Mauceri, M. Enright, A. Smith, and S. Wilkins re case strategy	0.4	1,310.00	524.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 128 of 136

Robinson+Cole

Page: 8
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u> 09/11/23	<u>Timekeeper</u> J. J. DeForrest	<u>Description</u> Assist legal team with review and	Hours 0.6	<u>Rate</u> 280.00	<u>Amount</u> 168.00
09/11/23	J. J. Del ollest	production of case data	0.0	200.00	100.00
09/11/23	M. R. Enright	Confer with D. Wright, A. Smith and N. Ramsey re draft letter to Debtors' counsel re meet and confer letters (.3); review comments from J. Wehner re same (.1); confer with N. Ramsey re new decision relevant to FCR's arguments (.1); analyze decision re same (.3); emails with A. Smith, N. Ramsey and D. Wright re information for circulation to retained experts (.2); confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, A. Smith, and S. Wilkins re case strategy (.4)	1.4	1,250.00	1,750.00
09/11/23	R. J. Mauceri	Confer with N. Ramsey, D. Wright, J. Clasen, M. Enright, A. Smith, and S. Wilkins re case strategy (.4); confer with A. Smith re PIQ letter (.3); review revised letter (.2); emails with M. Enright, D. Wright, A. Smith. N. Ramsey re same (.2)	1.1	1,075.00	1,182.50
09/11/23	N. D. Ramsey	Confer with D. Wright, R. Mauceri, J. Clasen, M. Enright, A. Smith, and S. Wilkins re case strategy (.4); research re potential litigation matter (.6) and email correspondence with D. Wright, M. Enright and A. Smith re same (.2); review and revise letter to Debtors re PIQs (.3); confer with D. Wright, A. Smith and M. Enright re draft letter to Debtors' counsel re meet and confer letters (.3); confer with M. Enright re new decision relevant to FCR's arguments (.1)	1.9	1,650.00	3,135.00
09/11/23	A. H. Smith	Prepare for estimation strategy call (1.0); confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, M. Enright, and S. Wilkins re case strategy (.4); confer with Verus and LAS re PIQ analysis (.5); email C. Maisano re PIQ claimant crosswalk file (.2); email N. Ramsey and D. Wright re letter to Debtors re PIQ-related correspondence (.1); research state of law re claim status (2.2); confer with R. Mauceri re PIQ letter (.3); confer with D. Wright, N. Ramsey, and M. Enright re draft letter to Debtors' counsel re meet and confer letters	5.0	550.00	2,750.00
09/11/23	S. R. Wilkins	(.3) Coordinate download of PIQ updates from Donlin Recano (.4); review same (.2); confer with N. Ramsey, D. Wright, R. Mauceri, J. Clasen, M. Enright, and A. Smith re case	1.4	350.00	490.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 129 of 136

Robinson+Cole

Page: 9
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u>	<u>Timekeeper</u>	Description	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
09/11/23	D. Wright	strategy (.4); draft notes re same (.3); email A. Smith re same (.1) Confer with N. Ramsey, R. Mauceri, J. Clasen, M. Enright, A. Smith, and S. Wilkins re case strategy (.4); confer with M. Enright, A. Smith and N. Ramsey re draft letter to Debtors' counsel re meet and confer letters (.3); emails with A. Smith, N. Ramsey and M. Enright re information for circulation to retained experts (.2); draft email to J. Wehner re PIQ compliance letter (.1); review recent research re plan litigation-related issue (1.3)	2.3	1,250.00	2,875.00
09/12/23	M. R. Enright	Review revised letter re PIQ meet and confer letters (.1); emails with A. Smith, R. Mauceri and D. Wright re same (.1); review discovery drafts from A. Smith (1.2)	1.4	1,250.00	1,750.00
09/12/23	R. J. Mauceri	Review A. Smith email re discovery (.1); review email from J. Wehner re PIQ changes (.1); emails with D. Wright, M. Enright, N. Ramsey, A. Smith re same (.2); review revised letter and chart (.2)	0.6	1,075.00	645.00
09/12/23	A. H. Smith	Revise supplemental estimation discovery requests (1.4); email N. Ramsey, D. Wright, M. Enright, and R. Mauceri re same (.1); revise letter to Debtors re PIQ-related correspondence to incorporate further correspondence (.2); draft list of correspondence at issue (.5); send correspondence to Debtors (.2)	2.4	550.00	1,320.00
09/12/23	D. Wright	Review memorandum summarizing status of issued and pending discovery (.8); review drafts of potential additional discovery requests to various parties (.7); review drafts of potential discovery to third parties (.9); review final draft of letter to M. Cody re PIQ compliance letters, including attachment (.3)	2.7	1,250.00	3,375.00
09/13/23	N. D. Ramsey	Review drafts of discovery (1.1); communications with R. Mauceri and A. Smith re same (.1); communications with M. Enright, R. Mauceri and A. Smith re Debtor letters to counsel re PIQ (.2)	1.4	1,650.00	2,310.00
09/13/23	D. Wright	Review proposed additional estimation discovery (.4) and provide comment on same (.3)	0.7	1,250.00	875.00
09/14/23	M. R. Enright	Review and analysis of new 4th Circuit opinion (1.1); emails with N. Ramsey, T. Donlon, and D. Wright re same (.3)	1.4	1,250.00	1,750.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 130 of 136

Robinson+Cole

Page: 10
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u>	<u>Timekeeper</u>	Description	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
09/14/23	D. Wright	Review research memorandum re specific estimation-related litigation theory	1.2	1,250.00	1,500.00
09/15/23	M. R. Enright	Further analyze and draft summary of issues from new 4th Circuit opinion (.4); emails with N. Ramsey, D. Wright, and T.	1.0	1,250.00	1,250.00
09/15/23	S. R. Wilkins	Donlon re same (.6) Coordinate download and filing of privilege log production (.8); update tracking chart re same (.1)	0.9	350.00	315.00
09/15/23	D. Wright	Review shared privileged log produced by Debtors (.6); review certain documents produced by Debtors (1.7)	2.3	1,250.00	2,875.00
09/18/23	M. R. Enright	Review and circulate Senate hearing details (.1); review briefing from new 4th Circuit opinion and analyze same (.5); review analysis from T. Donlon re same (.2)	8.0	1,250.00	1,000.00
09/18/23	A. H. Smith	Email S. Wilkins re privilege log and new Debtor discovery productions (.1); confer with LAS and Verus re PIQ review updates	0.2	550.00	110.00
09/18/23	S. R. Wilkins	(.1)Review production letter and privilege log(.2); summarize same (.5); updateproduction chart (.4); email A. Smith resame (.1)	1.2	350.00	420.00
09/19/23 09/19/23	A. A. DePeau M. R. Enright	Confer with co-counsel re strategy Further review of 4th Circuit decision and	0.1 0.7	710.00 1,250.00	71.00 875.00
		jurisdictional references and commentary re same (.4); emails with T. Donlon re same (.3)			
09/19/23	R. J. Mauceri	Emails with N. Ramsey, D. Wright, A. Smith, M. Enright, L. Krepto re research for potential pleading (.4); confer with D. Wright re same (.2); confer with A. Smith and N. Ramsey re response to anticipated argument by FCR (.2)	0.8	1,075.00	860.00
09/19/23	N. D. Ramsey	Confer with A. Smith and R. Mauceri re	0.2	1,650.00	330.00
09/19/23	A. H. Smith	response to anticipated argument by FCR Confer with C. Maisano re updated PIQ crosswalk file (.1); email C. Maisano re same (.1); confer with N. Ramsey and R. Mauceri re response to anticipated argument by FCR (.2)	0.4	550.00	220.00
09/19/23	S. R. Wilkins	Summarize research re demonstrative for upcoming hearing (2.5); email D. Wright re same (.1)	2.6	350.00	910.00
09/19/23	D. Wright	Confer with R. Mauceri re research for potential pleading	0.2	1,250.00	250.00
09/20/23	A. A. DePeau	Review response to Adversary Defendants re meet and confer (.2); confer with C. Hardman re same (.1)	0.3	710.00	213.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 131 of 136

Robinson+Cole

Page: 11
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u>	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
09/20/23	T. J. Donlon	Confer with M. Enright re article related to motion to dismiss	0.2	740.00	148.00
09/20/23	M. R. Enright	Review materials forwarded by Expert #40 (1.0); review article circulated by K. Dute re motion to dismiss (.5); confer with T. Donlon re same (.2); emails with case parties re request to cancel court hearing (.1)	1.8	1,250.00	2,250.00
09/20/23	L. A. Krepto	Follow-up re research for hearing materials (.8); confer with S. Wilkins re same (.1)	0.9	950.00	855.00
09/20/23	R. J. Mauceri	Confer with D. Wright, A. Smith, and S. Wilkins re case strategy (1.0); emails with L. Krepto, S. Wilkins, A. Smith, A. Merkey re materials for potential motion/demonstrative (.2); review hearing materials (.2); review chart (.2)	1.6	1,075.00	1,720.00
09/20/23	A. H. Smith	Confer with D. Wright, R. Mauceri and S. Wilkins re case strategy (1.0); email L. Krepto re hearing demonstrative (.1); review documents re same (.7); review updated PIQ-related correspondence (.4)	2.2	550.00	1,210.00
09/20/23	S. R. Wilkins	Confer with D. Wright, R. Mauceri, and A. Smith re case strategy (1.0); research re hearing preparation (1.2); confer with L. Krepto re same (.1)	2.3	350.00	805.00
09/20/23	D. Wright	Review hearing preparation materials (.7); analyze asbestos bankruptcy related materials for estimation (.9)	1.6	1,250.00	2,000.00
09/20/23	D. Wright	Confer with R. Mauceri, A. Smith, and S. Wilkins re case strategy	1.0	1,250.00	1,250.00
09/21/23	M. R. Enright	Emails with A. Smith, D. Wright, and R. Mauceri re follow up correspondence re continued overreach by Debtors in PIQ compliance matters (.5); review draft re same (.3); review tracked bankruptcy case briefing re analysis of jurisdictional and constitutional limitations (.8)	1.6	1,250.00	2,000.00
09/21/23	R. J. Mauceri	Emails with D. Wright, A. Smith, N. Ramsey, M. Enright re follow up letter re PIQs (.2); review and comment on same (.3); further emails with D. Wright, M. Enright, A. Smith, N. Ramsey re same (.5); emails with L. Krepto, S. Wilkins, A. Smith re potential pleading (.4)	1.4	1,075.00	1,505.00
09/21/23	A. H. Smith	Review new Debtor PIQ review letters (.3); email D. Wright re same (.1); draft additional correspondence re Debtor PIQ review letters (1.3); correspondence with D. Wright, M. Enright, and R. Mauceri re same (.4); revise same (.6); review documents re demonstrative for future hearing use (.5);	3.4	550.00	1,870.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 132 of 136

Robinson+Cole

Page: 12
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u> correspondence with L. Krepto, A. Merkey,	<u>Hours</u>	Rate	<u>Amount</u>
00/04/00	0.5.14"	and S. Wilkins re same (.2)			
09/21/23	S. R. Wilkins	Research re estimation-related topic (2.1); email A. Smith re same (.1); follow-up research re same (.3)	2.5	350.00	875.00
09/21/23	D. Wright	Review draft follow-up letter re PIQ compliance letters from Debtors (.8); review exemplar letters from Debtors (.3); draft emails to Caplin re revised letter (.1); review	2.1	1,250.00	2,625.00
09/22/23	M. R. Enright	briefing of tracked bankruptcy appeal to determine impact on case status (.9) Review email from T. Donlon and attached article analyzing recent 4th Circuit decision (.3); further analysis and review of same (.8); draft summary of analysis and	3.1	1,250.00	3,875.00
		argument re same (1.6); follow up emails with T. Donlon re same (.4)			
09/22/23	R. J. Mauceri	Emails with N. Ramsey, D. Wright, A. Smith, M. Enright re PIQ letter	0.2	1,075.00	215.00
09/22/23	N. D. Ramsey	Review supplemental communication to Debtors re PIQ communication and related email communications among D. Wright, R. Mauceri and A. Smith	0.3	1,650.00	495.00
09/24/23	L. A. Krepto	Review information for deadlines (.2); email exchanges with LAS re Claimants (.2); review same (.5)	0.9	950.00	855.00
09/25/23	A. H. Smith	Revise supplemental estimation-related discovery (2.8); confer with LAS and Verus re PIQ review progress and strategy (.3); email D. Wright re correspondence with Debtors re PIQ review letters (.1); finalize	3.4	550.00	1,870.00
09/25/23	D. Wright	and serve same (.2) Review revised letter to Debtors and comment on same re PIQ compliance	0.4	1,250.00	500.00
09/26/23	M. R. Enright	Confer with A. Smith re comments to draft discovery requests	0.2	1,250.00	250.00
09/26/23	A. H. Smith	Revise expert topic disclosure draft (.9); confer with M. Enright re same (.2)	1.1	550.00	605.00
09/27/23	M. R. Enright	Review tracked bankruptcy case amici briefs re arguments concerning third party releases and injunctions	0.8	1,250.00	1,000.00
09/27/23	A. H. Smith	Revise supplemental estimation discovery	0.9	550.00	495.00
09/27/23	S. R. Wilkins	Research re estimation-related project	0.4	350.00	140.00
09/27/23	D. Wright	Review addition research materials re PIQ compliance letters	0.8	1,250.00	1,000.00
09/28/23	A. J. Merkey	Research historical filings in connection with open project from N. Ramsey, draft memorandum re same	0.4	425.00	170.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 133 of 136

Robinson+Cole

Page: 13
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u> 09/28/23	<u>Timekeeper</u> S. R. Wilkins	<u>Description</u> Coordinate download and filing of production in the adversary cases (.5);	Hours 0.6	<u>Rate</u> 350.00	<u>Amount</u> 210.00	
09/28/23	D. Wright	email E. Gillen re additional production (.1) Review documents produced re recent	1.2	1,250.00	1,500.00	
		privilege log email for estimation-related issues (.8); review & analyze privilege log (.4)				
09/29/23	K. M. Fix	Confer with D. Wright re additional research re potential appeal-related pleading	0.6	875.00	525.00	
09/29/23	S. R. Wilkins	Review emails re production (.1); research re same (.2); coordinate download and filing of Non-Debtor Affiliates' production (.4); update production chart (.4); email A. Smith re same (.1)	1.2	350.00	420.00	
09/29/23	D. Wright	Review various documents circulated by NDAs re privilege log and modifications (1.3); review draft of potential appeal-related pleading (.4); confer with K. Fix re additional research re same (.6)	2.3	1,250.00	2,875.00	
		<u></u> .	99.9		\$93,239.00	
PROFESSIONAL RETENTION & FEE ISSUES-OCAC015						
09/01/23	L. Shaw	Emails with A. Sackett re updated payment schedule (.2); revise LAS interim fee application (.3); assemble exhibits, application, and summary re same (.2); email D. Wright re same (.1)	0.8	500.00	400.00	
09/01/23	L. Shaw	Review and revise LAS interim fee application (.6); assemble document, exhibits and schedules re same (.3); email same to D. Wright for approval to file (.1)	1.0	500.00	500.00	
09/01/23 09/05/23	D. Wright L. Shaw	Revise LAS Fifth interim fee application Email from R. Kelley re LAS interim application filing, review same	0.4 0.2	1,250.00 500.00	500.00 100.00	
09/19/23	S. R. Wilkins	Update and summarize professional fee	4.0	350.00	1,400.00	
09/20/23	S. R. Wilkins	chart Review email re LAS fifth interim fee application (.2); email D. Wright and L.	0.3	350.00	105.00	
09/21/23	L. Shaw	Shaw re same (.1) Emails with S. Wilkins re LAS fifth fee application, review same (.3); assemble emails with proof of math, payment receipts	0.6	500.00	300.00	
09/21/23	S. R. Wilkins	and first round copy, review same (.3) Update professional fee chart (1.5); email L. Shaw (.2) and D. Wright (.1) re LAS fifth interim fee application	1.8	350.00	630.00	
09/21/23	D. Wright	Review issue identified by Bankruptcy	0.2	1,250.00	250.00	

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 134 of 136

Robinson+Cole

Page: 14
Date: January 8, 2024
Invoice #: 50440894

<u>Date</u>	<u>Timekeeper</u>	<u>Description</u> Administrator to LAS fee statement	<u>Hours</u>	<u>Rate</u>	<u>Amount</u>		
09/22/23	L. Shaw	Review numerous emails from D. Wright, A. Smith, and S. Wilkins re LAS fifth fee application (.2); draft notice of withdrawal re same and distribute (.5); review proof of math and all work re fifth interim (.6)	1.3	500.00	650.00		
09/22/23	A. H. Smith	Identify source of clerical errors on LAS fifth interim fee application (.3); correspondence with D. Wright, L. Shaw, and S. Wilkins re same (.2); email A. Sackett (LAS) re same (.1); review revised fifth interim fee application (.7); confer with S. Wilkins re same (.3)	1.7	550.00	935.00		
09/22/23	S. R. Wilkins	Summarize LAS revised fifth interim fee application (4.4); confer with A. Smith re same (.3); email A. Smith re same (.1)	5.1	350.00	1,785.00		
09/22/23	S. R. Wilkins	Review and revise notice of withdrawal for filing (.3); email HSSM re same (.1)	0.4	350.00	140.00		
09/27/23	S. R. Wilkins	Update professional fee chart	0.3	350.00	105.00		
09/29/23	L. Shaw	Assemble and review LAS invoices in preparation of interim fee application	0.5	500.00	250.00		
		-	18.6		\$8,050.00		
FEE APPLICATION PREPARATION-OCAC016							
09/01/23	A. H. Smith	Revise ninth interim fee application (.6); email D. Wright re same (.1)	0.7	550.00	385.00		
09/01/23	S. R. Wilkins	Review and revise June fee statement	0.6	350.00	210.00		
09/01/23	D. Wright	Revise RC Ninth interim fee application	0.9	1,250.00	1,125.00		
09/05/23	S. R. Wilkins	Review and revise June fee statement	1.3	350.00	455.00		
09/06/23	A. H. Smith	Revise ninth interim fee application (.1); email (2x) S. Wilkins re same (.1)	0.2	550.00	110.00		
09/06/23	S. R. Wilkins	Review and revise June fee statement (2.3); email HSSM re same (.1); email D. Wright re ninth interim fee application (.1); email A. Smith re same (.1); update same and prepare documents for filing (.5); email same to HSSM to file (.1); update July fee statement (.3)	3.5	350.00	1,225.00		
09/10/23	S. R. Wilkins	Review and revise July fee statement	0.2	350.00	70.00		
09/12/23	S. R. Wilkins	Email A. Ciabattoni (multiple) re June fee statement	0.2	350.00	70.00		
09/22/23	A. L. Ciabattoni	Review and revise July fee statement	3.3	300.00	990.00		
09/25/23	A. L. Ciabattoni	Review and revise July fee statement	1.7	300.00	510.00		
09/26/23	A. L. Ciabattoni	Review and revise July fee statement	4.3	300.00	1,290.00		
09/27/23	A. L. Ciabattoni	Review and revise August fee statement	4.9	300.00	1,470.00		

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 135 of 136

Robinson+Cole

Page: 15
Date: January 8, 2024
Invoice #: 50440894

\$122,386.50

165.3

<u>Date</u> 09/28/23 09/28/23	<u>Timekeeper</u> A. L. Ciabattoni S. R. Wilkins	<u>Description</u> Review and revise August fee statement Review internal emails re ninth interim fee application	Hours 3.1 0.2	Rate 300.00 350.00	<u>Amount</u> 930.00 70.00
			25.1		\$8,910.00

Case 20-30608 Doc 2095 Filed 02/05/24 Entered 02/05/24 14:43:03 Desc Main Document Page 136 of 136

Robinson+Cole

Page: Date:

16 January 8, 2024

Invoice #: 50440894

Summary of Disbursements

Description

Relativity External User License Fee

Amount 4,589.56

\$4,589.56

Disbursement Details

<u>Date</u> <u>Description</u> <u>Amount</u>

Relativity External User License Fee 4,589.56

\$4,589.56

Summary for Invoice # 50440894

Aldrich Bankruptcy

Fees for Legal Services \$ 122,386.50

Disbursements 4,589.56

Total Current Billing For this Matter \$ 126,976.06